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SEA | omp =R Rt J1Ed A
7+ 7+
A 1,232 86.7 114 15 0.5 100.0
g =Rt 571 86.5 116 16 0.4 100.0
o At 661 86.8 11.2 14 0.6 100.0
sma =St 703 87.3 11.1 1.0 0.6 100.0
nSstn 529 85.8 11.7 2.1 0.4 100.0
SEA 230 87.0 12.2 0.9 0.0 100.0
Sz x| ML 340 85.9 11.8 1.2 1.2 100.0
S 359 88.3 9.7 14 0.6 100.0
A 303 85.5 12.2 2.3 0.0 100.0
S— ¥ED Y | 1,068 100.0 0.0 0.0 0.0 100.0
7| Et 164 0.0 85.4 11.0 3.7 100.0
crest 7py | HHER 7HE 23 78.3 21.7 0.0 0.0 100.0
o= HICHE2E 7HE| 1,209 86.8 11.2 1.5 0.5 100.0
Sotel# 334 78.1 17.7 3.0 1.2 100.0
st gH HE 493 88.8 9.9 1.0 0.2 100.0
SoeE 405 91.1 79 0.7 0.2 100.0
X A EX| S AL} ULE 862 86.3 116 16 0.5 100.0
23 3% 77 Qict 370 87.6 10.8 11 0.5 100.0
Had &oj7| 3 ACH 423 87.7 10.6 07 0.9 100.0
25 88 77 gl 809 86.2 117 19 0.2 100.0
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%
o
—

CtEst 718 of &

Ct2st 7+d

HICHE St 7Hd

A

|

1.9

98.1

100.0

1.9

98.1

100.0

1.8

98.2

100.0

2.7

97.3

100.0

0.8

99.2

100.0

Hr
ol

1.7

98.3

100.0

x

24

97.6

100.0

1.4

98.6

100.0

HI | 4 | 4T

o | ofn

2.0

98.0

100.0

K

1.7

98.3

100.0

3.0

97.0

100.0

100.0

0.0

100.0

0.0

100.0

100.0

1.8

98.2

100.0

2.2

97.8

100.0

1.5

98.5

100.0

2.1

97.9

100.0

14

98.6

100.0

2.1

97.9

100.0

1.7

98.3

100.0
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= -9
sgx e S| e | 5

GE R EE AR N o e = e

A 1,232 | 66 | 205 | 400 | 232 | 9.7 [100.0 | 27.1 | 40.0 | 329

A AL 571 | 7.7 | 20.7 | 37.0 | 21.2 | 13.5 | 100.0 | 284 | 37.0 | 347

Of X} 661 | 56 | 204 | 427 | 250 | 64 |100.0 | 260 | 42.7 | 313

saa Fotu 703 | 64 | 202 | 40.1 | 248 | 85 | 1000 | 266 | 40.1 | 333
nsstn 529 | 6.8 | 210|399 (212|112 [ 1000 | 278 | 399 | 323

SEA 230 | 65 | 20.0 | 396 | 222 | 11.7 | 1000 | 26,5 | 39.6 | 33.9

x| MEAE 340 | 53 | 212|379 | 241|115 [1000 | 265 | 379 | 356
S5A 359 | 7.2 | 201 | 418 | 23.1| 7.8 [1000 | 273 | 41.8 | 309

BEA 303 | 73 | 20.8 | 406 | 23.1 | 83 [100.0 | 281 | 406 | 314

e YED I (1,068 46 | 199 | 410 | 243 | 103 | 100.0 | 244 | 41.0 | 346
7|EL 164 | 19.5 | 25.0 | 335 | 165 | 55 | 100.0 | 445 | 33.5 | 22.0

crest by | CH23 7P8 | 23 | 87 | 174 | 478 | 261 | 00 | 1000 | 26.1 | 47.8 | 26.1
o5 HICHE3t 749 1,209 | 6.5 | 206 | 399 | 232 | 9.8 | 100.0 | 27.1 | 39.9 | 33.0
Sot9l™ | 334 | 243|757 | 00 | 00 | 00 [10001000| 0.0 | 00

st 85 HE 493 | 00 | 00 |[1000| 00 | 0.0 |1000| 0.0 |100.0| 0.0
M9 | 405 | 00 | 00 | 00 | 706|294 |1000| 00 | 00 |1000

HAEK| E AL} ULE 862 | 7.1 | 204|397 [ 23.0 | 99 |1000| 275 | 39.7 | 32.8
25 3 /7| gt 370 | 54 | 208 | 408 | 238 | 92 | 1000 | 262 | 408 | 33.0
Mad mojz|q| UG 423 | 71 | 196 | 395|239 | 99 | 1000 | 267 | 395 | 338
25 38 77| gt 809 | 63 | 21.0 | 403 | 229 | 95 | 1000 273 | 403 | 324
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HH1. S4B
1. 28o| X7 - 1) StmojM Lo Wztg XfELD X5 TE = ATt
BHO| XtR - 1) S0l A
Lto| dZtg ApE1
EE R xj&ow e A s 8 we 285
T 522 gelqn (M2 028 @53 )
A | ooty OICH T | T2
QULCH| =
A 1,232 | 23 | 47 |27.2/33.1]32.7/1000| 7.0 | 272 | 658 |3.89
Ao At 571 | 2.8 | 42 |24.3|31.0(37.7|100.0| 70 | 243 | 687 |3.96
= Of Rt 661 | 1.8 | 5.1 |29.7|349(28.4(1000| 70 | 29.7 | 634 |3.83
saa ot 703 | 24 | 44 |263|34.3(32.6/100.0| 6.8 | 263 | 669 |3.90
DEstW | 529 [ 21|51 [284(31.6(329[1000| 7.2 | 284 | 645 |3.88
S 230 | 1.3 | 43 [30.4[26.5(37.4|100.0| 57 | 304 | 63.9 |3.94
x| o ME A 340 | 2.4 | 35 |24.4|35.0(34.7{100.0| 59 | 244 | 69.7 |3.96
S 359 | 25|53 |27.6(34.8(29.8/100.0| 7.8 | 276 | 646 |3.84
A 303 | 2.6 | 56 [27.4]34.0(304|100.0| 83 | 274 | 644 |3.84
=y YD 74 [ 1,068 | 2.0 | 46 [259]32.9(34.6/1000| 66 | 259 | 67.5 |3.94
7|E} 164 | 43 | 55 [35.4|34.8/20.1/1000| 9.8 | 354 | 549 |3.61
crest 7py | CHES P8 | 23 | 43 (13.0|348|17.4|304[1000| 174 | 348 | 478 |357
o= HICHES) 718 1,209 | 2.2 | 45 |27.0(33.4(32.8/1000| 68 | 270 | 66.2 |3.90
St # 334 | 42| 69 |37.7|27.8|23.4/100.0| 11.1 | 377 | 51.2 |3.59
st gH HE 493 | 22| 55 (29.6/353|27.4[100.0| 7.7 | 29.6 | 62.7 |3.80
M | 405 | 0.7 | 20 [156(34.8/469(1000| 2.7 | 156 | 81.7 |4.25
KA EX| EALQ} UALE 862 | 2.2 | 43 (26.0|32.5/35.0(100.0| 65 | 26.0 | 67.5 |3.94
g3 38 77| gt 370 | 24 | 57 [300(34627.3[1000| 81 | 300 | 619 |3.79
Hal xoj7|3 ULH 423 | 19| 45 |26.0/288(388/1000| 64 | 260 | 676 |3.98
25 3% 77| gt 809 | 2.5 | 48 |27.8]354/295/1000| 73 | 278 | 649 |385
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1. B9 X}{ - 2) L7} Aks SHIOM W 2HS

7|27} et

=22
BAHO| A7 - 2)

Gl (L
=l 7:6'1_2 T 4 e ¥ s 22 a5
T3z 1® as |0y MY (1+27) @2 ®m)

A | ooty OICH T | T2

QULCH| =

A 1,232 | 5.8 [15.2]32.6(23.5/23.0/100.0| 209 | 326 | 46.4 |3.43
" At 571 | 5.6 |11.0(30.5|24.3(28.5|100.0| 166 | 30.5 | 52.9 |3.59
= Of Rt 661 | 59 |18.8/34.5(22.7|182[100.0| 247 | 345 | 40.8 |3.28
saa ot 703 | 5.1 [16.1(31.7|25.6(21.5{100.0| 21.2 | 31.7 | 47.1 | 342
IS8t | 529 | 6.6 [14.0(33.8]20.6(25.0|100.0| 206 | 338 | 456 |3.43
S 230 | 5.2 [13.5(33.5(22.2|25.7|100.0| 187 | 33.5 | 47.8 |3.50
x| o ME A 340 | 53 (12.9/32.4|24.4(250(100.0| 182 | 324 | 49.4 |3.51
S 359 | 47 |14.5|334|24.0(23.4[1000| 19.2 | 334 | 474 |347
s 303 | 7.9 |19.8(31.4|22.8(18.2(100.0| 27.7 | 314 | 409 |3.23
=y ¥ED 7Y 1,068 | 5.3 [15.7]31.7|23.124.1(100.0| 21.1 | 31.7 | 47.2 | 345
7|Et 164 | 85 [11.6|384(25.6(15.9/100.0| 20.1 | 384 | 41.5 |3.29
cr2st b | CHE23H 7P | 23 | 43 |34.8(34.8| 0.0 |26.1[100.0| 39.1 | 348 | 26.1 |3.09
o= H|CHES} 7H4] 1,209 | 5.8 | 14.8|32.6(23.9/22.9/1000| 20.6 | 326 | 468 |3.43
St # 334 | 9.0 [19.2|36.5/19.2(16.2|100.0| 28.1 | 36,5 | 353 |3.14
st gH HE 493 | 55 (16.0(34.3]24.1]/20.1(100.0| 215 | 343 | 442 | 337
S | 405 | 3.5 [109(27.4|26.2(32.1(100.0| 143 | 274 | 583 |3.73
KA EX| EALQ} UALE 862 | 5.9 |14.4|31.9/23.0|24.8/100.0| 203 | 319 | 47.8 | 346
23 3% 77 AL 370 | 5.4 [17.0]34.3|24.6(18.6|1000| 224 | 343 | 432 |3.34
Ml &oj7|3 ULH 423 | 3.5 |13.5/284(251/29.6|1000| 17.0 | 284 | 546 |3.64
25 3% 77| gt 809 | 6.9 |16.1/34.9/226/195/1000| 23.0 | 349 | 422 332
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HE1. S48
1. B8O| X7 - 3) FLAAIe] FMof CHsl Lte| o|AS TE 7127t AUCH
BAHO| A7 - 3)
SAEAlS] Ao CHS Lto
o ars > o
%%ﬂize sk 7|5 7F QUACEH Y E)?_g%i% s :LEJ;:E r;%
T |3%|1® s |0 MY (1+2%) @2 @)
A |y OITH o | TF
QULCH| =
A 1,232 112.3]20.1|37.5{14.9]15.2|100.0| 32.5 | 37.5 | 30.0 | 3.00
A At 571 |13.0/14.9|34.9|15.8|21.5/100.0| 27.8 | 349 | 373 |3.18
Of X} 661 |11.8]24.739.8/14.1] 9.7 |100.0| 36.5 | 39.8 | 23.8 | 2.85
saa et 703 [10.5/19.2/40.5|15.2|14.5[100.0| 29.7 | 40.5 | 29.7 | 3.04
DEstW | 529 [14.7(21.4(33.5[144(16.1[1000| 36.1 | 335 | 304 |296
=54 230 |12.2]17.8(36.1|17.4]16.5{100.0| 30.0 | 36.1 | 339 |3.08
Sz x| ML 340 [11.2(16.5]41.2(14.1(17.1/1000| 27.6 | 412 | 31.2 |3.09
S 359 |13.4|17.8|384|145(159(100.0| 312 | 384 | 304 |3.02
A 303 |12.5/28.7(33.3|14.2{11.2(100.0| 413 | 333 | 254 |2.83
=y ¥ED 7Y 1,068 |12.7]20.237.0|14.2|158(100.0| 33.0 | 37.0 | 30.1 |3.00
7|E} 164 | 9.8 |19.5(40.9/18.9/11.0[100.0| 29.3 | 409 | 299 |3.02
crest 7py | CHES P8 | 23 | 87 (348|304 43 |21.7(100.0| 435 | 304 | 26.1 | 296
o= H|CHE3) 7H9] 1,209 [12.4]19.9|37.6[15.1{15.1[100.0| 323 | 376 | 30.1 |3.00
St # 334 |15.6(23.1|41.0] 99 |10.5/100.0| 386 | 41.0 | 204 |2.77
st gH HE 493 [12.4(20.5|38.1]15.2|13.8(100.0| 329 | 381 | 29.0 | 298
42 | 405 | 9.6 [17.3]33.8]185(20.7|1000| 269 | 338 | 39.3 |3.23
KA EX| EALQ} UALE 862 |12.4]18.7(36.1|16.2|16.6{100.0| 31.1 | 36.1 | 32.8 | 3.06
g3 38 77| gt 370 12.2]235(408(11.6|11.9|100.0| 357 | 408 | 235 | 2.88
Hal xoj7|3 ULH 423 |10.2|15.8/38.3|13.7/22.0/100.0| 260 | 383 | 357 |3.22
25 3% 77| gt 809 |13.5]22437.1]155/11.6|1000| 358 | 37.1 | 27.1 | 289
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1. B82S X7 - 4) UHY AAE S0 L2 o|HAS XIFEA S2UCE
BAHO| A7 - 4)
Il AAIE SOf Lto
o o
=l xil:da e EE A e H e 12 H AT
T3z 1® as |0y MY (1+27) @2 @)
A | ooty OICH T | T2
QULCH| =
A 1,232 [13.217.6|30.4|21.3[17.5/1000| 30.8 | 304 | 387 |3.12
s At 571 [14.9(18.4(29.6(16.5(20.71000| 333 | 296 | 37.1 |3.10
Of X} 661 |11.8/16.9(31.2|254[14.7(100.0| 28.7 | 312 | 40.1 | 3.14
saa ot 703 |12.9]185(30.6|21.8|16.2{100.0| 314 | 306 | 38.0 |3.10
IS8t | 529 [13.6(16.4(30.2(20.6(19.1/100.0| 30.1 | 302 | 39.7 | 3.15
=54 230 |15.2]13.5|38.3|16.5|16.5(100.0| 28.7 | 383 | 33.0 | 3.06
ML 340 [11.8(17.9]30.0(19.1(21.2[100.0| 29.7 | 30.0 | 403 |3.20
HAFRY
S 359 |14.8(21.426.7|223(14.8|100.0| 36.2 | 267 | 370 | 3.0
SR 303 [11.6]15.8/294|26.1(17.2/100.0| 274 | 294 | 432 | 3.21
=y ¥E2 749 1,068 [13.317.7]30.1]21.1]17.8/100.0| 31.0 | 30.1 | 389 |3.12
7|Et 164 |12.8|17.1(32.3|22.6|15.2(100.0| 29.9 | 323 | 378 |3.10
crest 7py | HHES P8 | 23 |87 (26.1|174\21.7|26.1(1000| 348 | 174 | 47.8 | 330
o= HICH23t 74| 1,209 [13.3]17.5(30.7|21.3|17.3[100.0| 30.8 | 30.7 | 385 |3.12
St # 334 |18.0(19.2|34.1147|14.1/100.0| 37.1 | 341 | 287 |2.88
st gH HE 493 [12.6{19.1|32.3/22.1|14.0(100.0| 316 | 323 | 36.1 |3.06
SS9 405 |10.1(14.6|25.2|25.7|24.4|100.0| 247 | 252 | 50.1 | 3.40
XA EX| S AFQ} UALE 862 |12.316.2{30.3|21.5/19.7100.0| 285 | 303 | 41.2 | 3.20
25 3 77| gt 370 |15.4]20830.8|208]12.21000| 362 | 308 | 330 | 294
Hal xoj7|3 ULH 423 | 9.7 |16.1/30.3/18.7/253/100.0| 258 | 303 | 440 |3.34
25 3% 77 oAt 809 |15.1]18.4(30.5|22.6|13.3|100.0| 335 | 30.5 | 36.0 | 3.01

- 154 -



HH1. S4B
22, 4 M Hol 28 - 1) L= AU M Fo| &30 ol = 1 At
Had g HO 25 -
1) L= 0| A
ol 230 s H g =15 e
sgA G A s ® = D2 E a5
a2 A e
A | ooty OICH T | T2
QUL =
A 1,232 |13.4|26.238412.6| 9.4 [100.0| 396 | 384 | 220 |278
. =N 571 |15.8|21.2(37.3|12.4[13.3/100.0| 37.0 | 373 | 257 |2.86
°= Of X} 661 |11.3130.6(39.3|12.7| 6.1 |100.0| 419 | 393 | 188 | 272
saa st 703 [12.4|282/385|13.4| 7.5 [100.0| 40.5 | 385 | 209 |2.76
DSstW | 529 [14.7(23.6(38.2[11.5(11.9/1000| 384 | 382 | 234 | 282
S 230 |15.7(15.2|47.4(10.4|11.3|100.0| 309 | 474 | 21.7 | 2.87
Sz x| Mg AL 340 (12.9]259(37.6|11.5[12.1/100.0| 388 | 376 | 235 |2.84
S5t 359 |12.0]30.4(35.1|156| 7.0 [100.0| 423 | 351 | 226 |2.75
s 303 |13.9/30.0(36.3|11.9] 7.9 |100.0| 439 | 363 | 19.8 | 2.70
=y ¥ED I 1,068 |12.7]25.6(38.9|13.3| 9.6 [100.0| 383 | 389 | 22.8 | 2.81
7|EL 164 |17.730.5|354| 79 | 85 |100.0| 48.2 | 354 | 165 |2.59
crest 7py | CHES P8 | 23 [13.0(217|304|17.4|17.4/100.0| 348 | 304 | 348 |3.04
o= H|CHHE3) 7H4] 1,209 |13.4|26.3|38.5(12.5 9.3 [100.0| 39.7 | 385 | 218 |278
Soteld 334 |13.5|344|37.1| 81| 6.9 |100.0| 479 | 37.1 | 150 |2.60
st gH B2E 493 [15.0(22.7|41.8(13.8| 6.7 [100.0| 37.7 | 418 | 205 |2.74
S | 405 |11.4(23.7|353/14.8/14.8[100.0| 351 | 353 | 29.6 | 298
XA EX| EALQ} ULCE 862 |11.6]23.5/40.3/13.6(11.0{100.0| 352 | 403 | 24.6 |2.89
g3 38 =7 oict 370 |17.6]32.4|34.1(103| 57 |100.0| 50.0 | 341 | 159 | 2.54
Had xoj7|7 ULH 423 | 7.6 |20.3/40.2|15.1/16.8/1000| 279 | 402 | 319 |3.13
25 3% 77| gt 809 |16.4]293|37.5/11.2| 5.6 |1000| 457 | 375 | 168 | 260
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2. Had M FHo F - 2) W7 AFSt= X[ HiH M Fof &Fof clis
SHE Ij¢ & Oo|R0{X|1 QUC}
*ML" HM Ho &5 -
) W7t AF5H= X Y9
X4AI_=| X—IXH 7(I-Oj| %%Oﬂ
L o X
et HZT;OﬁMD%é 2 9%?1 wg 08 B0
* e e
Sl e oj2
o} edct Ct
A 1,232 111.6|20.2 |47.8|125| 7.9 [100.0| 31.8 | 47.8 | 204 | 2.85
A At 571 [12.3]16.5|454|14.4|11.6|100.0| 287 | 454 | 259 | 2.96
Of X} 661 |11.0(23.4]49.9/109| 47 [100.0| 345 | 499 | 156 |2.75
saa ot 703 | 8.3 [19.2(52.3|135| 6.7 |100.0| 275 | 52.3 | 20.2 | 2.91
IS5s@ | 529 |16.1(21.6]41.8/11.2| 9.5 [100.0| 376 | 41.8 | 206 |2.76
SELA 230 [13.9]13.0|54.3| 9.1 | 9.6 [100.0| 27.0 | 543 | 187 |287
Sz x| ME A 340 | 9.1 [16.5[49.1]15.0[10.3|100.0| 256 | 49.1 | 253 |3.01
S 359 |11.4]22.8(46.0|134| 6.4 |100.0| 343 | 460 | 19.8 | 2.81
FEA 303 |12.9]26.7(43.6|11.2| 56 |100.0| 39.6 | 436 | 168 |2.70
S— ¥ED I 1,068 |11.2]20.7 |47.3|12.7| 8.1 [100.0| 319 | 473 | 208 |2.86
7|E} 164 [14.0[17.1|51.2|11.0| 6.7 |100.0| 31.1 | 512 | 17.7 | 2.79
cr2sp spy | CH22F 7P8 | 23 | 8.7 (13.0/34.8(304(13.0/100.0| 217 | 348 | 435 |3.26
o= HICH2SE 7H8] 1,209 [11.7]20.348.1|122| 7.8 [100.0| 32.0 | 48.1 | 199 |284
S5t E | 334 |12.6(234|506| 8.1 | 54 [1000| 359 | 50.6 | 13.5 | 270
st gH HE 493 |12.0]18.7|50.3|134| 5.7 |[100.0| 30.6 | 503 | 19.1 | 2.82
SAH | 405 (104[19.5(425(15.1/12.6/100.0| 29.9 | 425 | 27.7 | 3.00
X A K| £ AR} ATk 862 |10.3]18.0(48.8/13.7| 9.2 [100.0| 283 | 488 | 229 |293
g5 d8 77| gt 370 |14.6|254454| 97 | 49 [1000| 400 | 454 | 146 | 265
XA AHoj7| T UCH 423 | 69 |15.4(482[156/13.9/1000| 222 | 482 | 296 |3.14
25 8% /7| gt 809 |14.1|22.7|47.6|109| 47 |1000| 368 | 476 | 156 | 2.69
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d HOEO ZE - 3) 7 AFSHe X2 Hade| M Hof gSat HHE
HNE, =283 Bo] 29gsta Art
Had EM Ho 25 -

3) LH7t 7%0%% X922

’giLJEI HH £ 04 %ﬂr
* e e oo a2 [ @)

o X EE|O™ J;ag
A 1,232 | 84 [18.8(469|16.6| 9.3 [100.0| 27.2 | 469 | 259 |3.00
A At 571 | 9.5 |15.1|45.7|16.5|13.3|100.0| 24.5 | 457 | 29.8 | 3.09
Of X} 661 | 7.6 |21.9]48.0|16.8| 57 [100.0| 295 | 48.0 | 22.5 | 291
saa Fstu 703 | 55 [17.4(489(20.2| 80 [100.0| 229 | 489 | 282 |3.08
DSSW | 529 |12.3(20.6(44.2/11.9/11.0[100.0| 329 | 442 | 229 |2.89
S5 230 [11.3]12.2]53.0/12.2|11.3[100.0| 235 | 53.0 | 23.5 |3.00
Sz x| ME A 340 | 5.3 |14.4(50.0|185[11.8/100.0| 19.7 | 500 | 303 |3.17
S 359 | 8.4 |20.3|46.2|175| 7.5 |100.0| 287 | 462 | 25.1 | 2.96
FEA 303 | 99 |26.7(396|16.8| 6.9 |100.0| 36.6 | 396 | 23.8 |2.84
S— Y2 JPY 1,068 | 83 |19.1]463|16.7| 9.6 [100.0| 274 | 463 | 262 |3.00
7|EL 164 | 9.1 [16.5|50.6{16.5| 7.3 |100.0| 25.6 | 506 | 23.8 |2.96
cr2sp spx | CH22F 7P8 | 23 | 0.0 [13.0|43.5(26.1(17.4/100.0| 13.0 | 435 | 435 | 3.48
o= HICH2SE 7H8] 1,209 | 8.6 |18.9[47.0|16.5| 9.1 [100.0| 275 | 47.0 | 256 |2.99
oI E | 334 | 96 |240(479|11.7| 69 [100.0| 335 | 479 | 186 |2.82
st gH HE 493 | 9.1 [16.6(49.7|174| 7.1 |100.0| 258 | 49.7 | 245 | 297
A | 405 | 67 |17.0427[19.8/13.8/100.0| 23.7 | 427 | 336 |3.17
AEX| Z AL} ACH 862 | 7.7 |16.8|46.4|184 (1071000 24.5 | 464 | 29.1 |3.08
s 88 ®F | gt 370 [10.3]232(48.1]124| 59 [1000] 335 | 481 | 184 | 281
PNERE I BE! UCH 423 | 43 |13.7|46.1]20.8/15.1|1000| 180 | 46.1 | 359 |3.29
s 3 /7| gt 809 |10.6|21.4|473|145| 62 |1000| 32.0 | 473 | 206 | 2.84
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HBaE HM Ho Z2F - 49 W AFsts X2 HaE X Hojo| 2d3tE sl
2 L3E 7[20[1n UC}
Had EM Ho 25 -
4) Wt AFsh= Xge
Had ZH &Holo
8ux  sigolm st | 4 [y wg 12 E S
EEREST (;:ZE'I_) ) E—)
28| 1% e q|UWT
A | oy OICH £ | T2
QUL =
A 1,232 | 84 [159]50.8|15.7| 9.2 |100.0| 243 | 50.8 | 249 |3.01
g =oN; 571 | 9.6 [12.1]485]16.6(13.1/100.0| 21.7 | 485 | 29.8 | 3.12
Of X} 661 | 7.3 (19.2|52.8/15.0| 5.7 [100.0| 26.5 | 52.8 | 20.7 |2.93
saa Fstu 703 | 5.7 |14.4|53.5/19.2| 7.3 [100.0| 20.1 | 53.5 | 26.5 |3.08
DEStW | 529 [11.9[18.0(47.3[11.2(11.7[1000| 299 | 473 | 229 | 293
S5 230 |10.9| 8.3 |57.8/12.2/10.9{100.0| 19.1 | 57.8 | 23.0 | 3.04
Sz x| ME A 340 |53 (11.8]52.1(19.1(11.8[1000| 17.1 | 52.1 | 309 |3.20
S 359 | 89 [19.2]47.6(17.3| 7.0 [100.0| 28.1 | 476 | 242 |2.94
FEA 303 | 9.2 [224(479(129| 7.6 [1000| 31.7 | 479 | 205 | 287
S— Y22 744 1,068 | 8.1 [16.0[51.5/151] 9.3 |1000| 242 | 515 | 24.3 | 3.01
7|EL 164 | 9.8 [15.2|46.3(20.1| 85 |100.0| 250 | 463 | 287 |3.02
cr2sh spy | CH22F 7P | 23 | 0.0 | 43 |52.2(304|13.0/100.0| 43 | 522 | 435 |352
o= HICH2SE 7H8] 1,209 | 8.5 | 16.1]50.8|15.5| 9.1 [100.0| 246 | 50.8 | 24.6 |3.00
S5t E | 334 | 99 (20.1(52.1/12.0| 6.0 [100.0| 299 | 52.1 | 180 |2.84
st gH HE 493 | 83 |14.0|54.4|16.6| 6.7 |100.0| 22.3 | 544 | 23.3 | 299
A | 405 | 7.2 |14.8|454(17.8/14.8/100.0| 22.0 | 454 | 326 |3.18
HAEX| S AFQ} ULt 862 | 7.4 |14.6(50.2|17.1]10.7{100.0| 22.0 | 50.2 | 27.7 | 3.09
25 3% 77 oAct 370 |10.518.9(52.2|12.7| 5.7 |100.0| 29.5 | 522 | 184 |2.84
Had &oj7|7 UCH 423 | 52 |11.6|47.8/20.6/149/1000| 168 | 47.8 | 355 |3.28
2s 88 77 ALt 809 |10.0]18.2(52.4|13.2| 6.2 [100.0| 282 | 524 | 194 |2.87
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HE1. S48
BaE HM ®Ho &5 - 5 W AFSt= X2 Chet thy7 Had EM FHo
S5 ZFL Ut
Had EM Ho 25 -
5 W7t AFSt= X922
Crerot Bﬂ?f R 2% s
SgnA AES =aAFs A LS g OB H RS
N EZ 12 e |5y |WT (1+273) @2 @
A | oy OIH o | TF
QUL =
| 1,232 | 8.1 |13.8(49.5[18.5[10.1/100.0| 21.9 | 495 | 28.6 | 3.09
. =oN; 571 |10.2|11.4(46.1/18.6|13.8[100.0| 215 | 46.1 | 324 |3.15
Of X} 661 | 6.4 |159]52.5/185| 6.8 [100.0| 222 | 525 | 253 |3.03
saa Fstu 703 | 5.0 |12.2]52.5/215| 88 [100.0| 17.2 | 525 | 30.3 |3.17
DEStW | 529 [12.3[159(456(14.6(11.7[1000| 282 | 456 | 263 |2.98
SEA 230 [10.9] 9.6 [53.0/16.1|10.4[100.0| 204 | 53.0 | 265 |3.06
x| ML 340 | 47 |10.6|51.8/19.4|13.5[100.0| 153 | 51.8 | 329 |3.26
S 359 | 8.6 |17.0(46.5/19.2| 86 [100.0| 256 | 465 | 279 |3.02
S 303 | 9.2 [16.8(47.9|185| 7.6 |100.0| 26.1 | 479 | 26.1 | 2.98
S— Y2 744 1,068 | 8.0 [13.9]50.0|18.3| 9.9 |100.0| 21.8 | 500 | 28.2 | 3.08
7|E} 164 | 9.1 [13.4|46.3(20.1(11.0/100.0| 22.6 | 463 | 31.1 |3.10
ci2st 7py | ChE2h K8 | 23 | 00| 00 |522/26.1(21.7/1000| 00 | 522 | 47.8 |3.70
o= HICH2SE 7H8] 1,209 | 8.3 | 14.1]49.5|184| 9.8 [100.0| 223 | 495 | 282 |3.07
Sotel# 334 | 87 |17.7|52.1[144| 7.2 |100.0| 263 | 521 | 216 | 294
st gH HE 493 | 8.1 [13.0(529|17.8| 8.1 [100.0| 21.1 | 529 | 26.0 | 3.05
SAH | 405 | 7.7 [11.6]43.2(22.7/14.8/100.0| 193 | 432 | 375 |3.25
AEK| EAFQ} UALH 862 | 7.7 |11.8]486|20.2|11.7[100.0| 195 | 486 | 319 |3.16
S 8 /T gt 370 | 9.2 [184516|146| 62 |1000| 276 | 516 | 208 | 290
PNERE B! ULH 423 | 43|92 |47.3]227/16.5|/1000| 135 | 473 | 392 | 338
& 88 77| gt 809 |10.1]162|50.7|163| 6.7 |1000| 263 | 50.7 | 23.0 | 2.93
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HAW Y NO| BE - 6 Lhe U7 AT Kool Bau B 30| 25|
LStA EoSta ULt
Yo M HO BE -
6) Lt L{7f 7ot
xjofo] HAE HH Hof
#20| 2L 2oiotn ” 4
ggn TE L HOBR|agm| | e
= M A e H BEE 445 Hd
T [ Ha (1+2%) @S @)
8 1 oj2
At
A |y |OITH B | TF
oy |2 ct
Lo
A 123211581209 |41.0(12.7] 95 [1000]| 368 | 410 | 222 | 2.79
. L X} 571 |16.3]15.2|415(13.8[13.1]1000]| 315 | 415 | 270 | 2.92
= of X} 661 |154/259/405|11.8| 6.4 [1000| 413 | 405 | 182 | 2.68
oo zstm | 703 |125]222]427]148] 7.8 1000 347 | 427 | 226 | 2.83
[SLET
= TE3tm | 529 20.2]19.3/388/10.0|11.7]1000]| 395 | 388 | 217 | 274
s | 230 [174]104]487]113]122]1000] 278 | 487 | 235 | 2.90
- Meab | 340 [126]19.1]412]153]11.8]1000] 318 | 412 | 27.1 | 2.04
=
B = | 359 [153]228]412]13.1] 7.5 | 1000 382 | 412 | 206 | 275
gL 303 [18.8(28.7|34.7|10.6| 7.3 |100.0| 475 | 347 | 17.8 | 2.59
— oten 7b [1,068]153(213]41.0/127] 96 |1000] 366 | 410 | 224 | 2.80
e 7| €t 164 |19.5(183/409|12.8| 85 |1000| 37.8 | 409 | 213 | 273
Chost opm | CHER 7P | 23 | 0.0 |261|26.1|304[17.4]1000] 261 | 261 | 47.8 | 339
Oof 5 HICh2 3t 748] 1,209 [16.1]20.8] 413124 93 [1000] 370 | 413 | 218 | 278
zote)d | 334 |147|225/470] 90 | 69 [1000] 371 | 470 | 159 | 2.71
ot MA HE 493 |16.4/19.5(426|14.0| 7.5 [100.0| 359 | 426 | 215 | 2.77
S&9H 405 [16.0/21.5(34.1|/143|14.1[100.0| 375 | 341 | 284 | 2.89
HAUK S A} QICt 862 |13.5/18.8422(143(11.3[1000] 323 | 422 | 255 | 2.91
235 38 7% gict 370 |21.4]259/381] 92 | 54 [1000| 473 | 381 | 146 | 2.51
Hal mojgml O 423 | 7.8 1161 1435|161 116.5(1000| 239 | 435 | 326 | 3.17
g5 38 7% olct 809 |20.0(235(39.711.0| 5.8 |1000| 435 | 397 | 168 | 2.59
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HH1. S4B
3. 44 ZH ®Ho 8 - 1) L= HAHEe| AN Fo &30 ol = 1 At
Had ZH Ho 5 -
1) L= Bade| X
ol 230 s H g =15 e
e R aal A e B we DEHELS
a2 A e
A | ooty OICH T | T2
QUL =
| 1,232 1105|214 [429(162| 9.0 [100.0| 319 | 429 | 252 | 292
. =N 571 |13.3]16.6(42.6|163|11.2(100.0| 299 | 426 | 275 | 2.95
°= Of X} 661 | 8.0 |25.6(43.3/16.0| 7.1 [100.0| 336 | 433 | 23.1 |2.89
saa Fstu 703 | 9.2 |22.9|43.2|16.4| 83 [100.0| 321 | 432 | 246 | 291
DESW | 529 |12.1]19.5[425/159(10.0[100.0| 31.6 | 425 | 259 |2.92
FEA 230 [13.5]/13.5/50.0/12.2/10.9(100.0| 27.0 | 50.0 | 23.0 |2.93
Sz x| ML 340 | 7.4 |22.9(409(17.9/109(100.0| 303 | 409 | 288 |3.02
S 359 |10.3|24.5(41.8|156| 7.8 |100.0| 348 | 418 | 234 |2.86
FEA 303 |11.9]22.1(413|17.8| 6.9 |100.0| 340 | 413 | 248 |2.86
S YED T 1,068 | 9.8 |21.542.4|169| 9.4 [100.0| 314 | 424 | 262 |294
7|EL 164 |14.6(20.7|463|11.6| 6.7 |100.0| 354 | 463 | 183 |2.75
ct2st by | ChESt 7P8 | 23 | 43 126.1(39.1|17.4(13.0{100.0| 304 | 39.1 | 304 |3.09
o= H|CHESl 7H9] 1,209 |10.6[21.3|43.0(16.1| 8.9 |1000| 319 | 43.0 | 251 | 291
Soteld 334 |10.2|24.0|46.1[123| 7.5 [100.0| 34.1 | 46.1 | 19.8 | 2.83
st gH B2E 493 [12.4(20.5|44.8154| 6.9 [100.0| 329 | 448 | 223 |2.84
A4 | 405 | 84 (20.5(38.0/20.2|12.8[100.0| 289 | 38.0 | 33.1 |3.09
HAEK| S AR} ACH 862 | 9.6 |18.1]44.4|17.2(10.7[100.0| 27.7 | 444 | 278 |3.01
23 39 77 oy 370 |12.4]29.2(39.5/13.8| 5.1 |100.0| 41.6 | 39.5 | 189 |2.70
Ml &0z UCH 423 | 57 |182(42.6|187/14.9|1000| 239 | 426 | 336 |3.19
25 3% 77| gt 809 |13.0|23.1/43.1]148| 59 [1000| 361 | 431 | 208 | 278
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3. ¥ad ZH ®Ho #F - 2) W7t AFSt= X[ H4H ZAN Fof &Fof chis
SHE Ij¢ & Oo|R0{X|1 QUC}
Had ZH o 25 -
2) W7k AFst= X9
Had A o 2350
ol = L o Xt
e Moigoiin et A e ¥ ws 28 H 35
ERESE (1+27) @+58) m
28| 1% e q|UWT
A | gy |OIEH| CF | TP
QUL =
A 1,232 8.7 |185(51.5/135| 7.8 [100.0| 27.2 | 515 | 21.3 | 2.93
g At 571 |10.7|14.4|483[16.5[10.2|100.0| 250 | 483 | 266 |3.01
Of X} 661 | 7.0 |22.1]54.3/10.9| 5.7 [100.0| 29.0 | 543 | 16.6 |2.86
saa Fstu 703 | 5.7 |17.8|55.8|14.1| 6.7 [100.0| 235 | 558 | 20.8 |2.98
DSS@ | 529 |12.7(19.5[459/12.7| 9.3 [100.0| 32.1 | 459 | 219 |2.86
SELA 230 | 9.1 (139(59.1| 9.1 | 87 [100.0| 23.0 | 59.1 | 17.8 | 294
Sz x| ME A 340 | 5.6 [16.5(51.2|16.5[10.3|100.0| 22.1 | 51.2 | 26.8 |3.09
S 359 | 9.2 |20.3(49.6|14.2| 6.7 |100.0| 29.5 | 496 | 209 |2.89
FEA 303 |11.2]22.1|485|125| 56 |100.0| 333 | 485 | 182 |2.79
S— ¥ED 7Y 1,068 | 8.3 |18.750.9|14.1| 7.9 [100.0| 27.1 | 509 | 22.0 | 294
7|E} 164 [11.0[17.1|555] 9.1 | 7.3 [100.0| 28.0 | 555 | 16.5 |2.85
cr2sl spy | CHE2F 7P | 23 | 43 [13.0(52.2(174|13.0/100.0| 174 | 522 | 304 |3.22
o= HICH2SE 7H8] 1,209 | 8.8 |18.6|51.5|13.4| 7.7 | 1000 | 274 | 515 | 21.1 | 293
S5kl E | 334 | 9.6 {204(53.0/11.1| 6.0 [100.0| 299 | 53.0 | 17.1 | 2.84
st gH HE 493 | 95 |18.7|53.5|124| 59 |100.0| 28.2 | 535 | 183 | 286
A | 405 | 69 |16.8(479(16.8|11.6/100.0| 23.7 | 479 | 284 |3.09
HAEX| CARQ} ACH 862 | 8.1 158|51.9(145| 9.7 [1000| 239 | 519 | 242 |3.02
g5 d8 77| gt 370 |10.0]24.9508[11.1] 3.2 [1000| 349 | 508 | 143 | 273
XA AHoj7| T UL 423 | 50 |13.9|51.1]156|14.4|1000| 189 | 51.1 | 30.0 | 3.21
25 8% /7| gt 809 |10.6|209|51.8|12.4| 43 |1000| 315 | 518 | 167 | 2.79
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HAH1. S48
3. 3248 4N 3o 235 - 3) 7 AFSI=s X2 Hado| AN Fo g3 2HE
He, ==27340| BiCh
Had 4X &0 25 -
3) L7t AFStE XY2
HaHEo XN #of 251t
SHEE HE, ZE3MO0 24
sgxt L ! = R
N o s T e -
T [ Ha (1+2%) @S @)
i P 5! O <
A | —® g™ T
A |y |OITH B | TF
orC} oLt Cf
Lo
HH| 123276 |17.4/51.9/14.8| 83 [100.0| 250 | 51.9 | 23.1 | 2.99
o =X} 571 | 9.8 [13.1]49.0|16.6[11.4|100.0| 22.9 | 49.0 | 28.0 | 3.07
= Of X} 661 | 5.7 |21.0|54.5/13.2| 5.6 [100.0| 26.8 | 545 | 188 | 2.92
o Fatw 703 | 47 |159/56.0/16.1| 7.3 [100.0| 206 | 56.0 | 23.3 | 3.05
[SLET
= nsstn 529 |11.5]19.3|46.5/13.0] 9.6 |100.0| 30.8 | 465 | 22.7 | 2.90
S84 230 | 8.7 1109/61.3| 9.6 | 9.6 [100.0| 196 | 61.3 | 19.1 | 3.00
x| ME A 340 | 4.7 |15.3]50.0/19.4[10.6|100.0| 20.0 | 50.0 | 30.0 |3.16
T SEA 359 | 8.1 (20.3(487|159| 7.0 [100.0| 28.4 | 487 | 22.8 | 2.93
SEA 303 | 9.6 |21.1]50.8|12.2| 6.3 |100.0| 30.7 | 50.8 | 185 | 2.84
— k= M (1,068 | 7.2 [17.7]51.7]150| 84 [100.0| 249 | 51.7 | 234 |3.00
e 7|Et 164 |10.4(15.2|53.7|13.4| 7.3 |100.0| 25.6 | 53.7 | 20.7 | 2.92
cr2st opd | CHE2 7P8 | 23 | 00| 87 |522|21.7|174[1000| 87 | 522 | 39.1 | 348
o5 HICH23} 74| 1,209 | 7.8 [17.5(51.9|146] 8.1 |100.0| 253 | 519 | 22.7 | 298
S5t H 334 | 84 18.0(56.3|11.7| 5.7 |100.0| 263 | 563 | 17.4 | 2.88
ot MA HE 493 | 87 |183(52.1|15.0/| 59 [100.0| 27.0 | 52.1 | 20.9 | 2.91
S&9H 405 | 5.7 |15.8(48.1|17.0/13.3[100.0| 215 | 481 | 304 | 3.17
KA EX| CARR} ALt 862 | 7.2 14.8/52.0/159|10.1[100.0| 22.0 | 52.0 | 26.0 | 3.07
235 38 7% eict 370 | 8.6 [23.2(519|12.2| 4.1 |1000| 319 | 519 | 162 | 2.80
Al &o0]7| 2 ALt 423 | 47 |125/492]18.7/149|100.0| 17.3 | 492 | 336 |3.26
25 3 77 eict 809 | 91 119.9/534|12.7] 48 [1000| 290 | 534 | 176 | 2.8
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=3. 3248 dH #o 25 - 4 W AFSE K92 Had dH ®#o 25 2492
floll %2 =S 7|20 ACt
HAE FX &0 &5 -
4) W7t A5t K92
Had 44 H3o 25
SY3E ol B2 LS mE=thy _| 5™
SYM Jlgom yrt A e ® ze 8 Han
T g 1+42M (4+58) x
Jo:i 24 o ( + ':') (El)
A |y |OITH B | TF
ot B of
HH| 1,232 7.0 |16.6|52.5[15.6| 84 |100.0| 23.5 | 525 | 239 |3.02
o =X} 571 | 9.3 [12.6(489|17.9[11.4|1000| 21.9 | 489 | 29.2 | 3.09
= Of X} 661 | 5.0 [20.0|55.7|13.6| 5.7 [100.0| 250 | 557 | 194 | 2.95
o i 703 | 43 |14.7]56.2|17.2| 7.7 |100.0| 189 | 56.2 | 249 | 3.09
[SLET
= nsstn 529 |10.6|19.1(47.6/13.4| 9.3 [100.0| 29.7 | 476 | 227 | 2.92
S84 230 | 7.8 |13.5/58.3/109| 9.6 [100.0| 213 | 583 | 204 | 3.01
x| ME A 340 | 3.5 [14.1]529(19.1[10.3/100.0| 17.6 | 529 | 29.4 |3.19
=
B SEA 359 | 8.1 [19.2(479|17.8| 7.0 |100.0| 273 | 479 | 248 | 296
SEA 303 | 89 [185(53.1|125| 6.9 |100.0| 274 | 53.1 | 19.5 | 2.90
— =D I (1,068 | 6.6 |16.9(52.0[159| 85 [100.0| 23.6 | 52.0 | 244 |3.03
e 7|Et 164 | 9.1 [14.0|56.1|13.4| 7.3 |100.0| 23.2 | 56.1 | 20.7 | 2.96
cr2st b | CHE2 P8 | 23 | 00| 43 1609|21.7|13.0(1000| 43 | 609 | 348 | 343
Oof 5 HICH23} 74| 1,209 | 7.1 |16.8[52.4|15.5| 83 [100.0| 239 | 524 | 23.7 | 3.01
S5t H 334 | 84 183(54.8|12.0| 6.6 |100.0| 266 | 548 | 186 | 2.90
ot MA HE 493 | 7.3 /158(55.6|150| 6.3 [100.0| 23.1 | 556 | 21.3 | 297
S&9H 405 | 54 (16.0(46.9/19.3|12.3[100.0| 215 | 469 | 316 | 3.17
A A EX| S AL} ALt 862 | 6.5 (14.7|/51.2/17.3/10.3[100.0| 212 | 51.2 | 276 | 3.10
235 38 7% eict 370 | 8.1 |208/55.7]11.6| 3.8 [1000| 289 | 557 | 154 | 2.82
Hau woj7|| U 423 | 4.0 |13.5/485|19.4|14.7|100.0 | 17.5 | 485 | 340 |3.27
gs 82 7% olct 809 | 85 |182(54.6|13.6| 5.1 |100.0| 267 | 546 | 187 |2.89
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HE1. EAR
£3. 3449 N #o &5 - 5 W7 AFsl= X9 Cpgor THY7F HaE AN EHof
2SS ot Lt

HAE FX &0 &5 -
5) L7t AFSte X922
ChFot CHAf|7F HAaE ZAX|
X0 sES == o] =X | 58
SEMES BES FHTS M G m ws 1E PG5
T |EY ) oy il (1+27) 4+58) (=)
A | —® |g& 2™ T
Al | oay [OICH CF |5
A 1,232 | 78 |15.0|51.1|17.4| 88 |100.0| 22.8 | 51.1 | 26.1 |3.04
s =2 571 110.9]11.2(483|182[11.4/100.0| 22.1 | 483 | 296 | 3.08
= Of X} 661 | 5.1 (183|534 /16.6/| 6.5 [100.0| 234 | 534 | 23.1 | 3.01
o il 703 | 46 (13.8]54.1/19.1| 85 [100.0| 183 | 54.1 | 276 | 3.13
orul
- nsstn 529 [12.1]16.6|47.1|15.1| 9.1 |100.0| 287 | 47.1 | 242 | 2.92
S84 230 | 8.7 | 7.8 |58.7/14.8/10.0|100.0| 16.5 | 58.7 | 24.8 | 3.10
SEE 340 | 53 [12.1]51.5[20.0/11.2/1000| 174 | 515 | 31.2 | 3.20
HEX Y
SEA 359 | 8.1 119.8(46.8|18.1| 7.2 |100.0| 279 | 468 | 253 | 297
SEA 303 | 9.6 |18.2(49.8|155| 6.9 [100.0| 27.7 | 498 | 224 | 2.92
— k= JbH (1,068 | 7.2 |15.5(509(17.5| 8.8 [100.0| 228 | 509 | 26.3 |3.05
e 7| Et 164 |11.6[11.6|51.8|16.5| 85 |100.0| 23.2 | 51.8 | 250 |2.99
ci2st 7py | ChE2h 7F8 | 23 | 0.0 | 87 |522/26.1|13.0/1000| 87 | 522 | 39.1 | 343
Oof 5 HICH23} 74| 1,209 | 7.9 [15.1(51.0|17.2| 87 |100.0| 23.1 | 51.0 | 259 | 3.04
St A 334 | 9.0 |[174(51.2|156| 6.9 |100.0| 263 | 51.2 | 225 | 294
ot MA HE 493 | 85 (14.0(55.8/158| 59 [100.0| 225 | 558 | 21.7 | 2.97
SA9H 405 | 59 |14.3|45.2/20.7|13.8(100.0| 20.2 | 452 | 346 |3.22
KA EX| EALR} AULCH 862 | 7.0 |13.1]50.8/18.6/10.6|100.0| 20.1 | 50.8 | 29.1 | 3.13
235 38 7% eict 370 | 9.7 |195|51.6|14.6| 46 [1000| 292 | 516 | 192 | 2.85
Hau woj7j|  UH 423 | 47 |11.1]485|20.8|14.9100.0| 158 | 485 | 357 |3.30
g3 22 ®»% olct 809 | 94 |17.1]52.4|156| 5.6 |100.0| 265 | 524 | 21.1 | 2.91

- 165 -



HAE 4N B #F - 6) L= W7l AFSI= X[He| HaHE AN Ho 250
UotA oSt QACH
Had FH #O &5 -
6) L= W7t AFste
Xlgol o AN EHo
SE Q| =HEES b3 To: k18N
sgxt 20 %EO?I:?l & Ojot QX o m 58
A 7:” oo 13 HE m 3
T T an C |4+58) ey
Ixj-é-:i o ° (1+2733) (8)
Ja| 1% ee 0| WT
A |y |OITH B | TF
orct oCt Ct
Lo
| 1,232112.9/19.844.1[146| 86 |100.0| 32.7 | 441 | 232 | 2.86
- SRt 571 [14.7]14.9|41.9/16.6|11.9]100.0| 296 | 419 | 285 | 2.96
= Of Xt 661 [11.3|24.1/46.0|129| 57 [100.0| 354 | 46.0 | 186 |2.78
S e 703 |10.5/19.8|47.2(149| 7.5 |100.0| 303 | 472 | 225 | 2.89
[SLET
= InE=y-igmi 529 [16.1]19.8/39.9|14.2(10.0/100.0| 359 | 399 | 242 |2.82
S5M 230 [13.9/11.7|52.6[11.3]10.4|100.0| 257 | 526 | 217 | 293
Sz x| MEA 340 | 9.7 |18.5/43.5|17.4(10.9|100.0| 282 | 435 | 282 | 3.01
T S8 359 [13.1]21.7/423|16.2| 6.7 |100.0| 348 | 423 | 228 | 2.82
SEAM 303 |15.5|25.1/40.3|12.2| 6.9 |100.0| 40.6 | 403 | 19.1 | 2.70
— A= 7 (1,068 |12.4|205(43.9|14.8| 84 |100.0| 32.9 | 439 | 232 | 2.86
e 7|E} 164 |16.5|15.2|45.1(13.4| 9.8 |100.0| 31.7 | 451 | 232 | 2.85
Chest by | CHESF 7H8 | 23 | 43 [21.7]304|304|13.0{100.0| 26.1 | 304 | 43.5 | 3.26
o5 HICF23} 74| 1,209 | 13.1]19.8 [44.3|14.3| 85 |100.0| 32.8 | 443 | 22.8 | 2.85
EXclsaks 334 |11.7|22.8|47.3]10.8| 7.5 |100.0| 34.4 | 473 | 183 |2.80
ot MA HE 493 [14.2/19.7|46.5|13.6| 6.1 [100.0| 339 | 465 | 19.7 | 2.78
AR 405 [12.3[17.5(385(19.0/12.6[100.0| 299 | 385 | 316 |3.02
HAEX| S AFQ} UALE 862 |11.0]17.6|45.2|154|10.7{100.0| 287 | 452 | 26.1 |2.97
235 38 7% gict 370 |17.3]24.9414]127] 3.8 [1000| 422 | 414 | 165 | 2.61
PNERE I BE! ACH 423 | 6.9 [15.8(43.5(17.7/16.1|100.0| 22.7 | 435 | 33.8 | 3.20
23 88 77 olct 809 |16.1(21.9|44.4|13.0| 47 |1000| 379 | 444 | 17.7 | 2.68
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A AR ®Ho 25 - HAE AZ HO &2 - 1) Lis ade Atgl ®of &0
oo rt
HaW AR #O 5 -
1) Lhe HAEH9| Aty
ol 230 s & g =15 s
=2 A A e w we 0T H S
S| B I N R - i -
X | oy OICH T | T2
QUL =
| 1,232 9.7 |17.6 447184 | 95 |100.0 | 274 | 447 | 279 |3.00
At 571 [12.4[149|43.8[17.3[11.6/1000| 27.3 | 438 | 289 |3.01
Of X} 661 | 7.4 |20.0|455|19.4| 7.7 [100.0| 27.4 | 455 | 27.1 |3.00
Fstu 703 | 8.7 |18.2]45.1/19.8| 8.3 [100.0| 269 | 451 | 28.0 | 3.01
DESt | 529 [11.2(16.8[44.2(166(11.2[1000| 28.0 | 442 | 278 |3.00
SEA 230 |11.7113.9|483|174| 87 [100.0| 257 | 483 | 26.1 |2.97
ML 340 | 9.1 |16.2|44.7|17.1129]100.0| 253 | 447 | 30.0 | 3.09
S 359 | 9.2 [21.7]435[17.8| 7.8 |100.0| 30.9 | 435 | 256 | 293
S 303 | 9.6 [17.2]43.6(21.5| 83 |1000| 26.7 | 436 | 29.7 | 3.02
YED I 1,068 | 9.0 [17.3]44.5]195| 9.7 |100.0| 263 | 445 | 29.2 | 3.04
7| Et 164 |14.6(19.5|463[11.6| 7.9 [100.0| 341 | 463 | 195 |2.79
b ops | BHES 7PE | 23 |13.0| 43 |47.8|174|17.4|100.0 | 17.4 | 478 | 348 |3.22
HICH2SE 7H8] 1,209 | 9.7 |17.9]44.7|184| 9.3 [100.0| 275 | 447 | 27.8 |3.00
SRl | 334 [12.6(19.5(488(12.3| 6.9 [1000| 32.0 | 488 | 19.2 | 2.81
25 493 | 93 (183458195 7.1 |100.0| 276 | 458 | 266 |2.97
SMQAH | 405 | 7.9 [153]40.0(22.2(14.6[1000| 23.2 | 400 | 368 |3.20
Aro} UALH 862 | 8.5 |16.1(44.0/19.7|11.7{100.0| 246 | 440 | 314 |3.10
L ey 370 |12.7]21.1|46.5|154| 43 |100.0| 33.8 | 465 | 19.7 | 2.78
7|5 ALt 423 | 5.0 |13.5]43.7|215/16.3|100.0| 184 | 437 | 37.8 | 3.31
L ALt 809 |12.2/19.8|45.2|16.8| 59 [100.0| 32.0 | 452 | 22.7 | 2.84
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4. B2 A= HO &E - 2) W7 AFSHE XHel Had A=l ®o 230 gt
I

Had AR Ho 25 -

) W7t AF5H= X Y2

**AE' AZ| o 2350

L o Xt
8N bgoRn | A o w =s DL IS
RRET e (1+25) =) @)

o} 2Lt Ct
A 1,232 7.0 |16.3[51.9|17.0| 7.8 [100.0| 233 | 519 | 248 |3.02
g =oN; 571 | 9.3 [12.8(51.0(16.3[10.7|100.0| 22.1 | 51.0 | 27.0 | 3.06
Of X} 661 | 5.0 |19.4|52.6|17.7| 53 [100.0| 244 | 52.6 | 23.0 | 299
saa Fstu 703 | 5.1 |14.5|54.5/19.2| 6.7 [100.0| 19.6 | 545 | 259 |3.08
TSSW | 529 | 95 (187|484 142| 93 [100.0| 282 | 484 | 234 | 295
S5 230 | 83 |11.3|57.8/14.3| 83 [100.0| 19.6 | 57.8 | 22.6 |3.03
Sz x| ME A 340 | 6.2 |14.1(50.0/182[11.5[100.0| 203 | 50.0 | 29.7 |3.15
S 359 | 6.7 |184|52.4|17.0| 5.6 |100.0| 25.1 | 524 | 226 |2.96
FEA 303 | 7.3 /20.1(488|17.8| 59 [100.0| 274 | 488 | 23.8 | 295
S— ¥ED JY 1,068 | 64 |16.7]50.9|184| 7.6 [100.0| 23.0 | 509 | 260 |3.04
7|EL 164 |11.0[14.0|57.9( 79 | 9.1 |100.0| 250 | 579 | 17.1 | 2.90
cr2sl spy | CHE2F 7P | 23 [13.0] 43 |43.5(26.1/13.0/100.0| 174 | 435 | 39.1 |3.22
o= HICH2SE 748 1,209 | 6.9 |16.5]52.0|16.9| 7.7 | 100.0| 234 | 52.0 | 246 |3.02
=5t E | 334 | 75 [19.8(53.6|129]| 6.3 |100.0| 27.2 | 53.6 | 19.2 | 2.91
st gH HE 493 | 7.1 |17.2]546|152| 59 |100.0| 243 | 546 | 21.1 | 2.96
SAH | 405 | 6.4 |123[47.2(227|/11.4/100.0| 188 | 472 | 341 |3.20
AE K| EAFQ} ATk 862 | 6.4 |13.8|51.6|18.6| 9.6 [100.0| 202 | 516 | 282 |3.11
s 8% 7T oAct 370 | 84 |22.2(524|135/| 3.5 [100.0| 305 | 524 | 170 |2.82
Ay &ojz|;| RO 423 | 4.0 |11.149.2|21.3|14.4{100.0| 15.1 | 492 | 357 |3.31
s 3 /7| gt 809 | 85 |19.0|533|14.8| 43 |1000| 27.6 | 533 | 192 | 2.87
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HH1. S4B
4. a9 AR Ho EF - 3) W7 AFots X2 HAH| Al Ho St 2HE
HNkE, ==7740| B}
Had AR Ho 25 -
3) W7t AFSt= X992
Hadol Azl Fof st
<P T gy A e ¥ ws 28 H 35
ET S T =7 N e CT
o} edct Ct
A 1,232 | 6.1 |14.4/52.8/182| 85 [100.0| 205 | 52.8 | 26.7 |3.09
g At 571 | 8.2 [12.1]49.2/19.3[11.2(100.0| 203 | 49.2 | 305 |3.13
Of X} 661 | 42 |16.5|558|17.2| 6.2 [100.0| 20.7 | 55.8 | 234 |3.05
saa ot 703 | 43 [12.7|559|19.8| 7.4 |100.0| 169 | 559 | 27.2 | 3.13
DS5sW | 529 | 85 |16.8(486|16.1]10.0[100.0| 253 | 486 | 26.1 |3.02
SELA 230 | 83| 9.1 |60.0|14.8| 7.8 [100.0| 174 | 60.0 | 22.6 |3.05
x| o ME A 340 | 4.1 (13.2|147.9|232(115[100.0| 174 | 479 | 347 |3.25
S 359 | 6.1 [159(53.8/17.5| 6.7 [100.0| 22.0 | 53.8 | 24.2 |3.03
FEA 303 | 6.6 |18.2(51.5/158| 7.9 |100.0| 24.8 | 51.5 | 23.8 |3.00
S ¥ED JY 1,068 | 5.5 |14.7]52.3|18.6| 8.8 [100.0| 202 | 523 | 274 |3.10
7|E} 164 | 9.8 |12.8|555(|152| 6.7 |[100.0| 226 | 555 | 22.0 | 2.96
cr2sl spy | CHE2F 7P | 23 | 87 | 43 139.1(304|17.4/100.0| 130 | 39.1 | 47.8 | 343
o= HICH2SE 7H8] 1,209 | 6.0 |14.653.0|17.9| 84 [100.0| 20.7 | 53.0 | 26.3 |3.08
SotlE | 334 | 69 |180(554132| 6.6 [100.0| 249 | 554 | 19.8 | 2.95
st gH HE 493 | 6.7 |146|556|16.6| 6.5 [100.0| 21.3 | 556 | 23.1 |3.02
SAH | 405 | 47 |11.4|472(242/12.6/100.0| 160 | 472 | 36.8 |3.29
A A EX| S AL} ATk 862 | 5.8 |12.3]50.9/20.4|10.6(100.0| 181 | 509 | 31.0 |3.18
g5 d8 77| gt 370 | 6.8 [19.5|57.0(13.0] 3.8 [1000| 262 | 570 | 168 | 288
PNERE I BE! UL 423 | 38|92 |485|246/13.9/1000| 13.0 | 485 | 385 |3.36
2s 38 /7| gt 809 | 7.3 |17.2]550(148| 57 |100.0| 245 | 550 | 205 | 294
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S5 TSME|
4. H28 AMZ 2O 5 - 4) W AFSE XY2 HAE A #o 25 2432
Qo =2 =¥E 7|20[|1 UL}
g2 Mgl H0f B -
2) U7t 7F8te xele
HAaHE A &9 25
e 9o 2L g | qax | sy
SEHR} Jl2o|1 Qict A s rL we LHH L5
_J'\_ LS — — o (4+5I|:-||) o =
& (1+27) €S
S IEE S
O | =% ee |0
A |y |OITH B | TF
T | 1232 | 65 |14.1/53.7|17.7| 80 [1000| 206 | 537 | 256 |3.06
o L X} 571 | 89 |11.7]49.7187/10.9(1000| 20.7 | 49.7 | 296 | 3.11
= Of X} 661 | 44 |16.2|572|168| 54 |1000| 206 | 572 | 222 | 3.03
A E=1m| 703 | 44 [12.1/563|206| 6.5 |1000| 165 | 563 | 272 | 3.13
[SLET
= DEsD | 529 |93 16.8(503(13.8| 9.8 |1000| 261 | 503 | 236 | 2.98
CE 230 | 78| 91 |59.6/165| 7.0 [1000| 17.0 | 59.6 | 235 | 3.06
S ME A 340 | 4.1 |12.9(50.6|21.8|10.6(1000| 17.1 | 506 | 324 |3.22
=
K S5 359 | 7.5 [15.9]52.6[17.0| 7.0 |100.0| 234 | 52.6 | 240 | 3.00
ZE A 303 | 69 |17.2|54.1/149| 69 [1000| 241 | 541 | 21.8 | 2.98
. U= JH [ 1,068| 6.0 |144(535(180| 8.1 [1000| 204 | 535 | 26.1 |3.08
e 7|E} 164 | 9.8 |12.2|55.5[/159| 6.7 [100.0| 22.0 | 555 | 22.6 | 298
b=t s | CH2EE 7P | 23 | 87 | 0.0 |47.8(30413.0(1000| 87 | 47.8 | 435 | 339
Oof 5 HICFE3} 7FA| 1,209 | 65 | 144538175 7.9 |100.0| 208 | 53.8 | 253 | 3.06
=593 | 334 | 75 |17.1/56.6|12.9| 6.0 |1000| 246 | 566 | 189 | 2.93
st M HE 493 | 7.1 |14.0|56.4|16.6| 59 [100.0| 21.1 | 564 | 225 | 3.00
ZAQIA | 405 | 49 [11.9(481(23.0/12.1/1000| 168 | 481 | 351 |3.25
A3 X| RO} QL 862 | 6.0 |12.2]53.1/18.7(10.0(1000| 182 | 53.1 | 287 | 3.14
235 38 7% gict 370 | 7.6 |18.6/55.1|15.4| 3.2 |1000| 262 | 551 | 186 | 2.88
"o mojz|m At 423 | 38|92 |504(232/135/1000| 130 | 504 | 366 |3.33
= > [@))m=]
gs 82 7% olct 809 | 7.9 |16.7|555|14.8| 5.1 |100.0| 246 | 555 | 19.9 | 2.92
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HE1. S48
A AR ®Ho &S - 5) W7 AFSt= X2 Chet thy7 Had Alg] FHo
S5 ZFL Ut
Had AR Ho 25 -
5 W7t AFSt= X922
Crerot Hﬂ?f HAE Atg =15 s
SgnA AES =aAFs A LS g OB H RS
N EZ 12 e |5y |WT (1+273) @2 @
A | oy OIH o | TF
QUL =
A 1,232 | 6.3 [12.8(51.9/20.2| 88 [100.0| 19.1 | 519 | 29.1 |3.13
. =oN; 571 | 89 [11.0(49.6|18.0[12.4|100.0| 20.0 | 496 | 30.5 |3.14
Of X} 661 | 3.9 |14.4|53.9/221| 57 [1000| 183 | 539 | 27.8 | 3.11
saa Fstu 703 | 43 |10.8|54.3|22.8| 7.8 [100.0| 15.1 | 543 | 30.6 |3.19
DEstW | 529 | 89 [155(486(16.8(10.2(100.0| 244 | 486 | 27.0 |3.04
SEA 230 | 7.8 | 96 |56.5/17.0| 9.1 [100.0| 17.4 | 565 | 26.1 |3.10
x| ML 340 | 5.0 {10.9/51.5/20.9|11.8{100.0| 159 | 515 | 326 |3.24
S 359 | 6.1 |145(51.8|21.2| 6.4 |100.0| 20.6 | 51.8 | 27.6 |3.07
S 303 | 6.6 |15.5(48.8(20.8| 83 |100.0| 22.1 | 488 | 29.0 |3.09
S— Y22 749 1,068 | 5.5 [13.0/51.8/20.8| 89 |100.0| 185 | 51.8 | 29.7 | 3.15
7| Et 164 |11.0{11.6|524(16.5| 85 [100.0| 226 | 524 | 250 |3.00
ci2st 7py | ChE2h 7F8 | 23 | 87 | 0.0 |435/348(13.0/1000| 87 | 435 | 47.8 | 3.43
o= HICH2SE 7H8] 1,209 | 6.2 |13.1]52.0|19.9| 88 [100.0| 193 | 52.0 | 28.7 | 3.12
=otl# | 334 | 7.8 {15.3(55.1/15.0| 6.9 [100.0| 23.1 | 55.1 | 21.9 | 298
st gH HE 493 | 6.7 |122]556|189]| 6.7 |100.0| 189 | 556 | 25.6 | 3.07
SAH | 405 | 44 (11.6|447(262/13.1/100.0| 16.0 | 447 | 393 |3.32
AEX|EARR} UALH 862 | 5.9 |10.6|52.0/21.0|/10.6(100.0| 165 | 52.0 | 31.6 |3.20
S 8 /T gt 370 | 7.0 [18.1|51.6|184| 49 [1000| 251 | 516 | 232 | 296
PNERE B! ULH 423 | 38| 7.8 |49.2|248/14.4/1000| 116 | 492 | 392 | 338
& 88 77| gt 809 | 7.5 |155|533|17.8| 59 |1000| 230 | 533 | 237 | 2.9
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HAE AR B #F - 6) L= W7l AFSH= X[Ho| HaE Al Ho 250
UotA oSt QACH
HAE Atz &0 &5 -
6) L= L7t AFSt=
XYool HAaE Atz| EOf
=250 2ESHA &Hosta 24
e At b W = L) =TT
A 7:” oo 13 HE m 3
T T an C |4+58) ey
Ixj-é-:i o ° (1+2733) (8)
Ja| 1% ee 0| WT
A |y |OITH B | TF
HH| 1,232 (11.0/17.1|48.1|14.4| 9.3 [100.0| 28.1 | 48.1 | 23.8 | 2.94
o =F Xt 571 |12.4|13.7|47.6|14.2[12.1/1000| 26.1 | 476 | 263 | 3.00
= Of X} 661 | 9.7 |20.1]48.6|14.7| 7.0 [100.0| 29.8 | 486 | 216 | 2.89
o i 703 | 84 (16.9|50.2|16.1| 84 [100.0| 253 | 50.2 | 245 | 2.99
[SLET
= nsstu 529 |14.4|17.4|454|123[10.6|100.0| 31.8 | 454 | 229 |2.87
S84 230 [13.0/12.2]53.0/12.6| 9.1 [100.0| 252 | 53.0 | 21.7 | 2.93
x| o Mg 340 | 8.2 |17.6|474|150|11.8/100.0| 259 | 474 | 268 |3.04
T SEA 359 [10.9]19.2(45.7|16.2| 8.1 [100.0| 30.1 | 457 | 242 | 2.91
SEA 303 |12.5]17.8(48.2|13.2| 83 |100.0| 304 | 482 | 215 |2.87
— k= JbH (1,068 [10.5(17.4|47.21153| 9.6 |100.0| 279 | 472 | 249 | 296
e 7|E} 164 |14.0/152(54.3|19.1 | 7.3 [100.0| 293 | 543 | 16.5 | 2.80
ci2st b | CHE2 7P| 23 |13.0| 87 |304/304|17.4[100.0| 21.7 | 304 | 47.8 | 330
Oof 5 HICH23} 74| 1,209 |110.9|17.3[485(14.1] 9.2 [100.0| 282 | 485 | 233 | 2.93
SoH¢H 334 |[11.1]20.7(51.2|105| 6.6 [100.0| 31.7 | 51.2 | 17.1 | 2.81
ot MA HE 493 [12.2|17.2(49.7|13.2| 7.7 [100.0| 294 | 49.7 | 209 | 2.87
S&9H 405 | 94 |(14.1(43.7/193|13.6[100.0| 235 | 437 | 328 | 3.14
A A EX| S AL} ALt 862 | 9.5 (15.1|48.8/154|11.1[100.0| 246 | 488 | 26.6 | 3.04
235 38 7% gict 370 |143]219/465(122] 5.1 [1000| 362 | 465 | 173 | 2.72
A ko7 ALt 423 | 59 |12.1/475/189|156|1000| 180 | 475 | 345 |3.26
23 88 77 olct 809 |13.6]19.8485|12.1| 6.1 |100.0| 334 | 485 | 182 |2.77
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HH1. S4B
25 44 23 Ho & - 1) L= AU B3 #o| &30 ol = 1 At
HaAH 23t Ho E5 -
1) Lh= Hado| 23}
ol 230 s H g =15 e
e R aal A e B we DEHELS
a2 A e
A | ooty OICH T | T2
QUL =
A 1,232 | 6.8 |13.1]46.8/22.0/11.3[100.0| 20.0 | 46.8 | 33.3 |3.18
. =N 571 | 89 |12.6(482|17.5/12.8(100.0| 215 | 482 | 303 |3.13
°= ofxt 661 | 50 |13.6|455/259]100(1000| 186 | 455 | 359 | 322
saa st 703 | 6.0 |13.5/459(249| 9.7 [100.0| 19.5 | 459 | 346 |3.19
DSsW | 529 | 7.9 [12.7]47.8/18.1]13.4[1000| 206 | 47.8 | 31.6 |3.16
FEA 230 | 9.6 |11.750.0|17.4|11.3[100.0| 213 | 50.0 | 28.7 |3.09
Sz x| ML 340 | 6.2 |11.8(47.6(21.2(13.2|/100.0| 179 | 476 | 344 |3.24
S 359 | 6.4 |16.2(443(22.8(10.3|100.0| 22.6 | 443 | 33.1 |3.14
FEA 303 | 59 |12.2(46.2|254[10.2(100.0| 182 | 462 | 356 |3.22
=y YED I 1,068 | 6.4 |13.0]46.6|22.8/11.2(100.0| 194 | 46.6 | 340 |3.19
7|EL 164 | 9.8 [14.0|47.6(17.111.6|100.0| 23.8 | 476 | 287 |3.07
ct2st by | ChESt 7P8 | 23 | 87 |17.4|304|17.4|26.1/100.0| 26.1 | 304 | 435 | 335
o= H|CHHE3t 714 1,209 | 6.8 [13.1|47.1(22.1{11.0[100.0| 199 | 47.1 | 33.1 |3.17
St # 334 | 72 |174|512|165| 7.8 |100.0| 246 | 51.2 | 243 |3.00
st gH B2E 493 | 7.5 (13.2(485[21.1| 9.7 [100.0| 20.7 | 485 | 308 |3.12
S | 405 | 57|96 [41.0/27.7/16.0[100.0| 153 | 41.0 | 43.7 |3.39
HAEK| S AR} ACH 862 | 6.1 [11.9]459|21.8(142/100.0| 18.1 | 459 | 360 |3.26
23 39 77 oy 370 | 84 [159]486(224| 46 [1000| 243 | 486 | 270 |2.99
Ml &0z UCH 423 | 3.8 [11.3/41.1]25.1/18.7|1000| 151 | 41.1 | 437 | 343
25 3% 77| gt 809 | 84 |14.1/497|204| 7.4 |1000| 225 | 497 | 278 |3.04
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5. Had 23 Ho #F - 2) 7 AFSt= X[ H4HE 23 ®of &Fof clis
SHE Ij¢ & Oo|R0{X|1 QUC}
Had 23 HO 5 -
2) W7t AFst= X9
Had 23 o g250
ol = L o X
e Moigoiin e A e ¥ ws 28 H 35
ERESE (1+27) @+58) m
28| 1% e q|UWT
A | gy |OIEH| CF | TP
QUL =
A 1,232 | 54 [12.9]49.6(224| 9.7 |100.0| 183 | 496 | 32.1 | 3.18
. At 571 | 7.0 [12.1]489(19.6(12.4[1000| 19.1 | 489 | 320 |3.18
Of X} 661 | 3.9 |13.6/50.2|24.8| 7.4 [100.0| 175 | 502 | 32.2 |3.18
saa Fstu 703 | 43 |11.2]49.8|26.3| 84 [100.0| 155 | 49.8 | 347 |3.23
DEStW | 529 | 6.8 [15.1]49.3[17.2(11.5[1000| 219 | 493 | 28.7 | 3.12
S5 230 | 83 | 74 |60.0|15.7| 87 [100.0| 157 | 60.0 | 243 |3.09
x| o ME A 340 | 4.4 |12.4|474|235|12.4|1000| 168 | 474 | 359 |3.27
S 359 | 47 {13.9/47.1|242(10.0{100.0| 187 | 47.1 | 343 | 3.21
S 303 | 5.0 [16.5/47.2|24.1| 7.3 |100.0| 215 | 472 | 314 |3.12
S— Y¥ED 749 1,068 | 5.1 [12.8(49.7|22.6| 9.7 |100.0| 18.0 | 49.7 | 323 | 3.19
7|EL 164 | 6.7 [13.4|48.8(21.3| 9.8 |100.0| 20.1 | 488 | 31.1 |3.14
cr2sl spy | CH22F 7P8 | 23 | 43 (13.0/30.4(348(17.4/100.0| 174 | 304 | 522 | 348
o= HICH2SE 7H8] 1,209 | 5.4 |12.9]50.0|222| 9.6 [100.0| 183 | 50.0 | 31.8 |3.18
S5t E | 334 | 6.0 144|566 |14.7| 84 [100.0| 204 | 56.6 | 23.1 | 3.05
st gH HE 493 | 57 [13.0|515|225| 73 [100.0| 18.7 | 515 | 29.8 | 3.13
A | 405 | 44 |11.6|415[286/13.8/100.0| 16.0 | 415 | 425 |3.36
HAEX| S AFQ} UALE 862 | 5.1 |11.8|484|22.7/11.9/100.0| 169 | 484 | 347 |3.25
25 3% 77 AL 370 | 59 [154(52.4|21.6| 46 |100.0| 214 | 524 | 262 |3.04
HA ko 7|3 QUACE 423 | 33|97 |459(253|15.8|1000| 13.0 | 459 | 41.1 | 341
25 8% /7| gt 809 | 6.4 |146|515|209| 6.6 |1000| 21.0 | 515 | 274 | 3.07
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Had 23 #HO ES -

3) W7t AFSt= X992

Hadol 3t #of st

Ll =" = It =]

EEREST = o (1+273) =@

edCt ot o
A 1,232 | 48 [12.0]52.220.8|10.2|100.0| 16.8 | 522 | 31.0 | 3.20
g =oN; 571 | 6.0 [10.5]51.8|184(13.3/1000| 165 | 51.8 | 31.7 | 3.23
Of X} 661 | 3.8 |13.3|52.5/22.8| 7.6 [100.0| 17.1 | 525 | 304 |3.17
saa Fstu 703 | 3.3 |10.7|52.3|246| 9.1 [100.0| 139 | 523 | 33.7 [3.26
DEstW | 529 | 6.8 [13.8(52.0[157(11.7[1000| 20.6 | 520 | 274 |3.12
S5 230 | 74 | 78 |60.9|13.5/104|100.0| 152 | 60.9 | 239 |3.12
x| o ME A 340 | 3.2 (12.1|474|25.0(12.4|100.0| 153 | 474 | 374 | 3.31
S 359 | 4.5 (12.3]53.2(20.3| 9.7 [1000| 16.7 | 532 | 30.1 |3.19
FEA 303 | 5.0 [14.9]49.8(22.1| 83 [1000| 19.8 | 49.8 | 304 |3.14
S— Y¥ED I 1,068 | 44 |12.4(52.2/20.7|10.4|100.0| 16.8 | 522 | 31.1 | 3.20
7|E} 164 | 73198 |524(213| 9.1 [1000| 17.1 | 524 | 305 |3.15
cr2sl spy | CH22F 7P8 | 23 | 43 (13.0/30.4(348(17.4/100.0| 174 | 304 | 522 | 348
o= HICH2SE 7H8] 1,209 | 4.8 |12.0(52.6|20.5(10.1100.0| 16.8 | 52.6 | 30.6 |3.19
=otl@ | 334 | 57 |14.1|575/153| 7.5 [100.0| 19.8 | 57.5 | 22.8 | 3.05
st gH HE 493 | 5.1 [11.8]54.8|20.3| 8.1 [100.0| 16.8 | 548 | 284 |3.15
A | 405 | 3.7 |10.6(447[259/151/100.0| 143 | 447 | 41.0 | 338
AEX| Z AL} ALt 862 | 46 |10.8|51.5/204 (1261000 154 | 515 | 33.1 |3.26
s 8% 7T AL 370 | 5.1 |14.9(53.8|21.6| 46 |100.0| 20.0 | 53.8 | 26.2 |3.06
Ay &ojz|;| RO 423 | 21| 9.2 |475|24.8(16.3(100.0| 11.3 | 475 | 41.1 | 3.44
s 3 /7| gt 809 | 62 |135|546|187| 7.0 |1000| 19.7 | 546 | 257 | 3.07
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Bad 23 Ho 8 - 49 Wl AFot= X2 HAHE 23 o #F ZHSIE
of B2 LS 7|20/ ACH
Had 23 #HO ES -
4) Wt AFs= X9
Had 23 &#o 25
SE %gﬂ?l%goﬁﬂ%%'\%[fia% A giigf—lq pwe 8 H %’.‘:.;L
T F e . o RPN Ganl) IE-)
o} 2Lt Ct
A 1,232 5.0 |11.9]51.9|214| 99 [1000| 16.8 | 51.9 | 31.3 [3.19
g At 571 | 6.5 [11.0(50.3]/20.0(12.3|100.0| 17.5 | 50.3 | 322 |3.20
Of X} 661 | 3.6 |12.6|53.3|22.7| 7.9 [100.0| 162 | 533 | 30.6 |3.19
saa Fstu 703 | 3.6 [10.5|52.1|25.2| 87 |100.0| 141 | 521 | 339 |3.25
158D | 529 | 6.8 |13.6(51.6|164|11.5[100.0| 204 | 51.6 | 28.0 |3.12
SELA 230 | 74| 70 |61.7|15.7| 83 [100.0| 143 | 61.7 | 239 |3.10
Sz x| ME A 340 | 3.8 [10.0(48.2|250(12.9(100.0| 13.8 | 482 | 379 |3.33
S 359 | 4.2 |13.1|524|22.0| 84 [100.0| 173 | 524 | 304 |3.17
FEA 303 | 53 [16.2(47.9(21.1] 9.6 |100.0| 215 | 479 | 30.7 |3.14
S ¥ED JY 1,068 | 48 |11.8]52.2|21.3| 9.9 [1000| 166 | 522 | 31.3 [3.20
7|EL 164 | 6.1 [12.2/50.0(22.0| 9.8 |100.0| 183 | 500 | 317 |3.17
cr2sl spy | CHE2F 7P | 23 | 43 [13.0/304(304|21.7|100.0| 174 | 304 | 522 |3.52
o= HICH2SE 7H8] 1,209 | 5.0 |11.8]52.3|21.3| 9.7 [100.0| 16.8 | 523 | 309 |3.19
SotlE | 334 | 6.0 [13.5(56.3|17.1| 7.2 [100.0| 195 | 563 | 24.3 |3.06
st gH HE 493 | 53 [11.0(56.0|19.3| 85 [100.0| 16.2 | 56.0 | 27.8 | 3.15
SAH | 405 | 37 (11.6(43.2(27.7/13.8/100.0| 153 | 432 | 415 |3.36
X A K| £ AR} ATk 862 | 48 |104/51.0/212|125/1000| 152 | 51.0 | 33.8 |3.26
g5 d8 77| gt 370 | 5.4 |15.153.8/21.9] 3.8 [1000| 205 | 538 | 257 |3.04
Hau woj7|| U 423 | 24| 85 |45.6(258|17.7{100.0| 109 | 456 | 435 |3.48
25 8% /7| gt 809 | 63 |13.6|55.1|19.2| 58 |1000| 19.9 | 551 | 250 | 3.05
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HH1. S4B
25 g4d 23 Ho & - 5 W7t AFst= X9 Chst THH7F HAHE E31 #o
282 EoiFa ot
Had 23 #HO ES -
5 W7t AFSt= X922
Crerot Bﬂ?f Eler = 2% s
SgnA AES =aAFn A LS g OB H RS
N EZ 12 e |5y |WT (1+273) @2 @
A | oy OIH o | TF
QUL =
| 1,232 | 5.3 |11.4(50.0|23.1/10.3|100.0| 16.6 | 50.0 | 334 |3.22
A A 571 | 6.5|11.2|485(215(123|100.0| 17.7 | 485 | 33.8 |3.22
Of X} 661 | 42 |11.5]51.3|244| 86 [100.0| 157 | 51.3 | 33.0 |3.22
saa Fstu 703 | 3.6 |10.748.9|27.6| 9.2 [100.0| 142 | 489 | 36.8 |3.28
DEstW | 529 | 7.6 [12.3[514[17.0(11.7/1000| 19.8 | 514 | 28.7 | 3.13
SEA 230 | 74| 87 |55.2/18.7/10.0(100.0| 16.1 | 552 | 287 |3.15
x| ML 340 | 4.4 {10.3/46.8|25.6(129|100.0| 147 | 468 | 385 |3.32
S 359 | 4.2 |136(50.4|22.6| 9.2 |100.0| 17.8 | 504 | 31.8 |3.19
S 303 | 59 [11.9(49.2|24.1| 89 |100.0| 17.8 | 49.2 | 33.0 |3.18
S— Y2 7Y 1,068 | 50 [11.6]49.9]22.9/10.6|100.0| 16.6 | 499 | 33.5 |3.23
7| Et 164 | 7.3 | 9.8 |50.6(23.8| 85 [100.0| 17.1 | 506 | 323 |3.16
ci2st 7py | ChE2h 7F8 | 23 | 43|87 |304/39.1/17.4/1000| 130 | 304 | 565 | 3.57
o= HICH2SE 7H8] 1,209 | 53 |11.4[50.4|22.7{10.2[100.0| 167 | 504 | 32.9 |3.21
S5t E | 334 | 6.0 [14.1]52.4/20.7| 6.9 [100.0| 20.1 | 524 | 27.5 |3.08
st gH HE 493 | 55 [11.0(54.2|209| 85 |1000| 164 | 542 | 294 |3.16
A | 405 | 44|96 |43.0(27.7/153/100.0| 141 | 430 | 43.0 |3.40
A A EX| S AL} UALH 862 | 5.2 | 9.6 [49.3/23.4(124[1000| 148 | 493 | 358 |3.28
25 3% 77| gt 370 | 5.4 |154|516|222| 54 [1000| 208 | 516 | 276 |3.07
Hau woj7j|  UH 423 | 24| 85 (452|26.7|17.3|100.0| 109 | 452 | 440 | 348
25 3% /7| gt 809 | 6.8 |12.9|525|21.1| 67 |1000| 19.7 | 525 | 27.8 | 3.08
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HAad 2ot #H #F - 6) L= W7l AFSH= X[Ho| HaHE 23 Ho &30
UotA oSt QACH
HA4 23 #o &5 -
6) L= L7t AFSt=
X|do| HaH 23 &G
SHE off sHHES F0: ko] S
sgxt 20 %EO?I:?l & Ojot QX o m 58
A 7:” oo 13 HE m 3
T T an C |4+58) ey
Ixj-é-:i o ° (1+2733) (8)
Ja| 1% ee 0| WT
A |y |OITH B | TF
HH| 1232195 |13.9|48.1|17.8/10.7|100.0| 234 | 481 | 285 | 3.06
o =F Xt 571 |110.9|11.6(49.0|15.4[13.1/100.0| 22.4 | 49.0 | 285 | 3.08
= Of X} 661 | 83 (159(474/19.8| 86 [100.0| 242 | 474 | 284 | 3.05
o i 703 | 7.5 |13.4]47.8/20.9|10.4[100.0| 209 | 478 | 313 |3.13
[SLET
= nsstu 529 |12.1]14.6|486|13.6[11.2/1000| 26.7 | 486 | 248 | 297
S84 230 |11.7| 7.0 |58.7/12.6/10.0[100.0| 18.7 | 587 | 226 | 3.02
x| o Mg 340 | 8.2 [12.4|447/20.9|13.8/100.0| 20.6 | 44.7 | 347 |3.20
T SEA 359 | 9.5 |16.2(479|17.8| 86 |100.0| 256 | 479 | 26.5 | 3.00
SEA 303 | 9.2 118.2(44.2/182[10.2(100.0| 27.4 | 442 | 284 |3.02
— k= JHH (1,068 9.2 [14.0(48.0(17.9/11.0[100.0| 23.1 | 480 | 288 |3.07
e 7|Et 164 |11.6[13.4/488|17.1| 9.1 |100.0| 250 | 488 | 26.2 | 2.99
ci2st opd | CHE2 7P| 23 | 87|87 (26.1(39.1|17.4[1000| 174 | 26.1 | 565 | 348
Oof 5 HICH23} 74| 1,209 | 9.5 [ 14.0[48.6|17.4[10.6|100.0| 235 | 486 | 28.0 | 3.06
SoH¢H 334 | 93 [16.5(53.9(13.2| 7.2 [100.0| 257 | 539 | 204 | 2.93
ot MA HE 493 [10.3/13.2(49.9/17.0| 9.5 [100.0| 235 | 499 | 266 | 3.02
S&9H 405 | 86 |12.6(41.2|225[15.1[100.0| 21.2 | 412 | 375 | 3.23
KA EX| CARR} ALt 862 | 8.5(11.8/48.6/18.0|13.1[100.0| 203 | 486 | 31.1 | 3.15
235 38 7% eict 370 |11.9]18.6(47.0/17.3| 5.1 [100.0| 305 | 470 | 224 | 2.85
Had &oj7|7 AULCH 423 | 5.0 | 85 |46.6(20.8/19.1/100.0| 13.5 | 46.6 | 40.0 | 3.41
g5 38 7% olct 809 |11.9(16.7]489|162| 6.3 |100.0| 286 | 489 | 225 | 2.88
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HH1. S4B
6. §4H n| ¥ o & - 1) L= AU ug HFE Ho 230 ol B <1
ALk
Had ns AT &#Ho
s - 1) Lhs a9
us Y #Ho 2350
sgn| el Eeaqn | I bw S8
TS| 4y oy ae2m) [ @)
o} 2Lt Ct
| 1,232 | 59 |12.2|45.4[23.4|13.1/100.0| 18.1 | 454 | 365 |3.26
A A 571 | 6.8 |12.6|44.8(20.3(15.4|100.0| 194 | 448 | 357 |3.25
Of X} 661 | 5.1 |11.8]458/26.0|11.2/100.0| 169 | 458 | 37.2 |3.26
saa Fstu 703 | 53 [11.8(46.2|24.2[12.5(100.0| 17.1 | 462 | 36.7 | 3.27
DEStW | 529 | 6.8 [12.7[44.2(22.3[140[1000| 195 | 442 | 363 |3.24
SEA 230 | 8.7 |13.5]487|17.0{12.2[100.0| 222 | 487 | 29.1 |3.10
x| ML 340 | 53|79 |479|23.8(15.0(100.0| 13.2 | 479 | 388 |3.35
S 359 | 4.2 |15.3|42.9|24.2|13.4/100.0| 19.5 | 429 | 376 |3.27
S 303 | 6.6 [12.2(429(26.7[11.6|100.0| 188 | 429 | 383 |3.24
S— Y2 749 1,068 | 5.5 [12.2(45.0(23.8/13.5(100.0| 17.7 | 450 | 37.3 | 3.28
7| Et 164 | 85 |12.2]47.6(20.7/11.0/100.0| 20.7 | 476 | 31.7 | 3.13
ci2st 7py | ChE2h 7F8 | 23 | 43 113.0(34.8/26.1|21.7|1000| 174 | 348 | 478 | 348
o HICH2SE 7H8] 1,209 | 6.0 |12.2|45.6|23.3|13.0/100.0| 18.1 | 456 | 363 |3.25
Soteld 334 | 7.2 |15.3]49.7|20.7| 7.2 |100.0 | 225 | 49.7 | 27.8 | 3.05
st gH HE 493 | 6.1 [12.0(48.7|21.3/12.0/100.0| 18.1 | 487 | 33.3 |3.21
SHAH | 405 | 47|99 |37.8(28.1/195/100.0| 146 | 378 | 47.7 |3.48
A A EX| S AL} UALH 862 | 5.6 |10.245.4/23.8/15.1[100.0| 158 | 454 | 389 |3.33
25 3% 77| gt 370 | 6.8 |16.8|45.4|224] 86 [1000| 235 | 454 | 311 |3.09
Ml Ko7 ULH 423 | 26|90 |414[27.0/20.1/1000| 116 | 414 | 470 | 353
25 3% /7| gt 809 | 7.7 |13.8|475|215| 95 |1000| 21.5 | 47.5 | 31.0 | 3.1
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26. HAd ug ¥ Ho 2F - 2) W7 AFSI= X|ge| HaH ug Y Fo 250
Cist 2= 0|2 Z O|F0o{X|1 AL}t
HAaHE g AHE Fof
=25 - 2) Wt AFSt=
X|Ho| HAHE ns AN
o =50 Ciet SE= mE=thy _| 5™
SEA oje & /2O ULt | » o m we —H H g5
- T oN 4+58) oy
Ixj-é-:i o ° (1+2733) (8)
Ja| 1% ee 0| WT
A |y |OITH B | TF
HH| 1,232 | 45 [11.4(51.0/22.2/10.9|100.0| 16.0 | 51.0 | 33.0 |3.23
o =2 571 | 53 [11.2(50.3/19.3[14.0/100.0| 16,5 | 50.3 | 333 |3.26
= Of X} 661 | 3.9 |11.6|51.6/24.7| 82 [100.0| 156 | 51.6 | 32.8 | 3.21
o i 703 | 3.1 (10.1|51.6/24.9|10.2[100.0| 13.2 | 51.6 | 35.1 |3.29
[SLET
= nsstu 529 | 6.4 [13.2(50.1/18.5[11.7/100.0| 19.7 | 50.1 | 302 | 3.16
S84 230 | 6.1 |10.4|56.5|17.4| 9.6 [100.0| 16.5 | 56.5 | 27.0 | 3.14
x| ME A 340 | 35|97 [51.2/22.1113.5[100.0| 13.2 | 51.2 | 356 |3.32
T SEA 359 | 3.6 |12.8(49.0|22.8[11.7/100.0| 164 | 49.0 | 345 |3.26
SEA 303 | 5.6 |12.5(488|25.1| 7.9 |100.0| 182 | 488 | 33.0 |3.17
— = I (1,068 | 45 [11.9(506(21.9/11.1{100.0| 164 | 506 | 33.1 |3.23
e 7|E} 164 | 49 | 85 |53.7(23.8] 9.1 [100.0| 134 | 53.7 | 329 |3.24
ci2st b | CHE2 7P| 23 | 43|87 |435(21.7|21.7(1000| 130 | 435 | 435 | 348
o5 HICH23} 74| 1,209 | 4.5 [11.5(51.1|22.2]10.7[100.0| 16.0 | 51.1 | 32.8 | 3.23
SoH¢H 334 | 6.0 |12.6|56.0/189| 6.6 |100.0| 186 | 56.0 | 254 | 3.07
ot MA HE 493 | 49 (12.4(529/205| 9.3 [1000| 172 | 529 | 29.8 | 3.17
S&9H 405 | 3.0 | 94 |444|269|16.3[100.0| 123 | 444 | 432 | 3.44
KA EX| CARR} ALt 862 | 45(10.2|50.2/21.9|13.1[100.0| 147 | 50.2 | 35.0 |3.29
235 38 7% gict 370 | 46 |143527]227] 5.7 [1000| 189 | 527 | 284 |3.11
Hau woj7|| U 423 | 21| 85 |44.0|27.9|17.5/100.0| 10.6 | 440 | 454 |3.50
St 748 o O
=S S8 TT eict 809 | 5.8 |13.0(54.6/19.2| 7.4 [100.0| 188 | 54.6 | 26.6 | 3.09
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HE1. S48
6. ¥aH n| AW HO EF - 3) It AFot= XG2S Hado| ug Y HO
280 #HE NE, T270| B}
Had s A% o
23 - 3) Wt AFS=
X9 gaEHo usg AEY
Xt SIE=E 7 3
ERESE . o (1+27) = )
edCt ot o
HH 1232 | 45 |11.5/485(24.2|11.4|1000| 160 | 485 | 356 |3.26
A At 571 | 49 [11.9/459|22.8|14.5|100.0| 168 | 459 | 373 |3.30
Of X} 661 | 41 |11.2]50.7|254| 86 [100.0| 153 | 50.7 | 340 |3.23
saa Fstu 703 | 2.8 |10.748.6|26.3|11.5[100.0| 135 | 486 | 37.8 |3.33
DEStW | 529 | 66 [12.7]482(214(11.2[1000| 193 | 482 | 325 |3.18
S5 230 | 57 | 96 |583|16.5[10.0{100.0| 152 | 583 | 265 | 3.16
Sz x| ME A 340 | 3.2 |97 |468(265(13.8[1000| 129 | 468 | 403 |3.38
S 359 | 45 [13.1]46.2(24.2(12.0[1000| 175 | 462 | 362 |3.26
FEA 303 | 5.0 [13.2]455(27.4| 89 [1000| 182 | 455 | 363 |3.22
S— Y¥ED 74 (1,068 | 4.3 [11.7]48.1]24.0/11.9/100.0| 16.0 | 481 | 359 |3.27
7|E} 164 | 5.5 |10.4|50.6(256| 7.9 [100.0| 159 | 50.6 | 33.5 |3.20
cr2sp spy | CH22F 7P | 23 | 43 (13.0/39.1(26.1(17.4/100.0| 17.4 | 39.1 | 435 |3.39
o= HICH2SE 7H8] 1,209 | 4.5 |11.5]486|242|11.2[100.0| 16.0 | 486 | 354 |3.26
=otl@ | 334 | 48 (13.5(557/19.8| 6.3 [100.0| 183 | 55.7 | 26.0 |3.09
st gH HE 493 | 53 [12.4(50.1|22.5| 9.7 |1000| 17.6 | 50.1 | 32.3 |3.19
SAH | 405 | 32|89 (40.5(299/17.5/100.0| 12.1 | 405 | 474 |3.50
HAEX| CARQ} ACH 862 | 42 |11.1]46.6(244|137(1000| 153 | 466 | 38.1 |3.32
g5 d8 77| gt 370 | 5.1 [124527]238] 59 [1000| 176 | 527 | 297 | 3.13
Had &oj7|7 UCH 423 | 24|80 |416/303(17.7/100.0| 104 | 416 | 48.0 |3.53
2s 88 77 ALt 809 | 5.6 [13.3]52.0/21.0| 80 |100.0| 189 | 520 | 29.0 | 3.13
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HAH ng SF Ho &5 - 49) Y7l AFSI= X2 HaE ug SFE #HO
M3lE ol 22 =S 7|01 QUCt
Had ug Ay &Y
2E - 4) Wt AFSH=
g2 §4aH 0 A%
2o 2H3E o B2 mE=thy _| 5™
SEA wag v20|n At |y e @ gs L8 Hgo
A LS — — o 7~ o L
a S ~ (4+5 l:l) =~
M (1+273) (=)
i P 5! O <
= i R i =
X | on 01T TF |2
orC} oLt Cf
Lo
HH| 1,232 | 46 |10.1]51.2/22.0(12.0/100.0| 14.8 | 51.2 | 340 | 3.27
i = 571 | 53 [10.0|47.8[22.1]14.9|100.0| 152 | 478 | 37.0 | 3.31
= Of X} 661 | 41 103|54.2/219| 9.5 [100.0| 144 | 542 | 315 |3.23
o i 703 | 2.7 | 9.0 |52.1|24.8|11.5/100.0| 11.7 | 52.1 | 36.3 | 3.33
[SLET
= nsstu 529 | 7.2 |11.7/50.1/183[12.7/100.0| 189 | 50.1 | 31.0 | 3.18
S84 230 | 65| 7.0 |57.8/18.3|10.4[100.0| 13.5 | 57.8 | 28.7 | 3.19
x| o Mg 340 | 3.2 | 74 |515|23.2|14.7/1000| 106 | 51.5 | 37.9 |3.39
B SEA 359 | 45 [11.7]487(223[12.8/1000| 16.2 | 487 | 351 | 3.27
SEA 303 | 5.0 |13.9(488(23.1| 9.2 |100.0| 188 | 488 | 323 |3.18
— k= JHH (1,068 | 44 110.5]50.8(22.0/12.3/100.0| 149 | 50.8 | 34.3 |3.27
e 7|Et 164 | 6.1 | 7.9 |53.7|22.0/10.4|100.0| 14.0 | 53.7 | 323 |3.23
cr2st b | ChE2 7P| 23 | 43|87 (39.1(17.4|30.4|1000| 13.0 | 39.1 | 478 | 3.6
o5 HICH23F 741,209 | 4.6 [10.2|51.4|22.1|11.7/100.0| 148 | 514 | 33.7 |3.26
SoH¢H 334 | 57 [12.0(55.1/19.5| 7.8 [100.0| 17.7 | 55.1 | 27.2 | 3.12
ot MA HE 493 | 53 (10.5(53.3/20.5|/10.3(100.0| 158 | 53.3 | 30.8 | 3.20
S&9H 405 | 3.0 | 8.1 |454|259(17.5[100.0| 11.1 | 454 | 435 | 3.47
KA EX| CARR} ALt 862 | 45| 9.2 [499/22.0|14.4[100.0| 137 | 499 | 364 |3.33
235 38 7% gict 370 | 49 [12.4543]219] 65 [1000| 173 | 543 | 284 | 3.3
HA ko 7|3 QUACE 423 | 21|73 |442(27.2{19.1/1000| 95 | 442 | 463 | 3.54
gs 82 7% olct 809 | 5.9 |11.6|549(193| 83 |1000| 17.6 | 549 | 27.6 | 3.12
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HAH1. S48
£6. HAd ug SH Ho 2F - 5) W AFSI= XFH2 stu Qof| = Chst ThA| 7}
HAadHo ng vF o 252 £oF1 ULt
HAaHE g AHE Fof
=& - 5 Wt AFSt=
Y92 atu Qo= CHYst
EHHI7E YAE0| us S Ex| _| 5™
SEMHo 282 =aFn ATt 5 o ws 1Y Hag
* s Y (4+5%) o
ke (1+27) (8)
a 0f 2
A | —® g™ T
A |y |OITH B | TF
HH| 1,232 | 48 [11.0(49.8(23.1/11.3]/100.0| 15.8 | 49.8 | 34.3 |3.25
o =2 571 | 6.0 | 9.6 [469|229[14.5/100.0| 156 | 469 | 375 |3.30
= Of X} 661 | 3.8 (12.3]52.3/23.1| 85 [100.0| 16.0 | 523 | 31.6 |3.20
o i 703 | 3.0 [10.4]49.4|27.2/10.1[100.0| 134 | 494 | 373 | 3.31
[SLET
= nsstu 529 | 7.2 111.9/50.5|17.6[12.9/100.0| 19.1 | 50.5 | 304 |3.17
SEA 230 | 65| 7.4 |57.0/18.3[10.9[100.0| 139 | 57.0 | 29.1 | 3.20
x| o Mg 340 | 4.4 | 7.9 |494|247|13.5/1000| 124 | 494 | 382 |335
T SEA 359 | 3.9 |13.6(47.1|23.1[12.3/1000| 175 | 47.1 | 354 |3.26
SEA 303 | 5.0 |14.2(482|24.8| 7.9 |100.0| 19.1 | 482 | 32.7 | 3.17
— k= JbH (1,068 | 43 [11.3]496(23.1/11.6(100.0| 156 | 496 | 347 |3.26
e 7|Et 164 | 79 | 91 |51.2|226| 9.1 |1000| 17.1 | 512 | 317 | 3.16
ci2st ope | CHE2 7P| 23 | 43|87 (39.1/304|17.4[1000| 13.0 | 39.1 | 47.8 | 348
o5 HICH23} 74| 1,209 | 4.8 [11.1[50.0/22.9]11.2(100.0| 159 | 50.0 | 34.1 | 3.25
SoH¢H 334 | 6.3 12.9(53.3|204| 7.2 |100.0| 19.2 | 53.3 | 275 | 3.09
ot MA HE 493 | 49 (11.6(53.3/203| 9.9 [1000| 164 | 53.3 | 30.2 | 3.19
S&9H 405 | 3.5 |89 (42.7/286|16.3[100.0| 12.3 | 42.7 | 449 | 3.45
HAEX| S AFQ} UALE 862 | 5.0 | 9.4 |48.1]23.7|13.8/100.0| 14.4 | 48.1 | 37.5 | 332
235 38 7% gict 370 | 43 |14.9538|216| 54 [1000]| 192 | 538 | 27.0 | 3.00
Hau woj7|| U 423 | 2.4 | 87 |404|29.1/19.4|100.0| 11.1 | 404 | 485 |3.54
23 22 ®»% olct 809 | 6.1 [122]54.8/19.9| 7.0 |1000| 183 | 548 | 269 |3.10
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26 AW 1S HE HO| BE - 6 U U7 AFsE Koo 29 28 HE N
250 2esA oSt UCt
Had ng A% &g
S - 6) L= LH7t
ATt K| 9o HAH
s Ay &o =250 Ex| _| 5H™
SEM mwolA ojsta At | 4 go W ws 1Y Hag
T [ Ha (1+2%) @S @)
291 7 of
a|1® pe g |(MT
A |y |OITH B | TF
eyt % i
A 1232179 1138(463[199(12.1/1000| 217 | 463 | 320 | 3.15
i = 571 | 88 [12.6|454[189|144|1000| 214 | 454 | 333 |3.18
= of Xt 661 | 7.1 |14.81472(207]10.1]1000] 219 | 472 | 309 | 3.12
oo zstm | 703 | 63 |125]479]216]11.7/1000] 188 | 479 | 333 |3.20
[SLET
= D=3t | 529 [10.0]15.5|44.2|17.6|12.7]1000| 255 | 442 | 302 | 3.07
sea | 230 [109] 96 |526(13.9]13.0/1000] 204 | 526 | 27.0 | 3.00
x| o Mg 340 | 6.5 | 9.1 |47.4|224|14.7 /1000 156 | 47.4 | 37.1 |3.30
=
K SEA 359 | 6.7 |184]440[19.5/11.4[100.0| 25.1 | 440 | 309 | 3.11
zea | 303 | 86 |168[432(221] 92 [1000] 254 | 432 | 314 |3.07
— oten 7b (1,068 7.5 |14.0]457]202]12.5/1000] 215 | 457 | 328 |3.16
e 7| €t 164 [104(12.2]506(17.7] 9.1 | 1000 226 | 506 | 268 | 3.03
Chos opm | CHERH 7P | 23 | 87|43 |39.1|261(21.7]1000] 130 | 301 | 478 | 348
o % HICHE3t 7bA| 1,209 | 7.9 [14.0]465]19.8|11.9]1000| 218 | 465 | 317 | 3.14
=&te|d | 334 | 7.2 [180/524|135] 90 |1000| 25.1 | 524 | 225 | 2.99
St M BE 493 110.1/13.8146.9/189/103|1000| 239 | 469 | 292 |3.05
S&9H 405 | 5.7 |10.4|40.7|26.4|16.8[100.0| 16.0 | 40.7 | 43.2 | 3.38
HAEX| S AFQ} UALE 862 | 7.3 |11.7|45.7|20.9|14.4|100.0| 19.0 | 457 | 353 |3.23
235 38 7% eict 370 | 92 |186/47.8|17.6| 6.8 |1000| 27.8 | 478 | 243 | 2.04
Hal mojgml O 423 |38 1104 1411123.6/21.0(1000| 142 | 411 | 447 | 3.48
gs 82 7% olct 809 |10.0(15.6(49.1|17.9| 7.4 |100.0| 256 | 491 | 253 |2.97
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HE1. S48
27. a4 a0l A UEE - 4E
Had 4o A MtER - M
§ (SIH ; (SH %_,_.'E‘ iz gl 3}1
A 2203 al@le|7]ele] (1~3(‘Lj) (,H”)9 ?;J:)L
sl ) ot =)0 e e
= =)
A 1,232/1.0|1.5(1.8|2.4[16.6/5.4 (18.716.636.3(100.0| 4.2 |24.3|71.5| 7.23
o =2 571 0.7|0.5(1.4|1.4[17.5/5.1]17.5[13.742.2/100.0| 2.6 |24.0|73.4| 7.41
of &t 661 |1.2]2.3]2.1]3.2[15.7/5.6 [19.7/19.131.2/100.0| 5.6 |24.5/69.9| 7.08
saa Setm 703 [1.1/1.6/2.0(2.8[12.4/5.5(19.1]16.938.5[100.0| 4.7 |20.8|74.5|7.33
DSstW 529 |0.8(1.3[1.5/1.7]22.15.1(18.116.133.3[100.0| 3.6 |28.9(67.5| 7.11
SEA 230 |1.71.3]1.3]1.3[21.3[3.514.3112.243.01100.0, 4.3 |26.1|69.6/ 7.26
Sz x| ME At 340 |0.9]1.82.4|1.8[15.9/5.018.8(13.540.01100.0| 5.0 [22.6|72.4|7.28
S 359 |0.8(1.1/0.8(3.9(15.0 6.1 20.118.933.1/100.0| 2.8 |25.1|72.1| 7.23
S 303 0.7(1.7|2.6|2.0(15.5/6.3 20.120.5}30.7/100.0| 5.0 |23.8|71.3|7.16
=iy Y2 JHY 1,068/0.7|1.1]1.7]2.0(15.0/5.3[18.916.139.1[100.0| 3.6 |22.3|74.2|7.36
7| E} 164 [2.4|3.7|2.4|4.926.8/5.5(17.119.517.7/100.0| 8.5 |37.2|54.3|6.38
crest 7py | BHES 7HE | 23 [0.0]0.0(8.78.7(21.7/4.3|8.7 13.034.8100.0 8.7 [34.8/56.5| 6.74
o HICH23E 749(1,209/1.0|1.5[1.7|2.2|16.5/ 5.4 [18.9116.6136.3(100.0| 4.1 |24.1|71.8|7.24
SoI9IH 334 10.6(24(3.0(3.6[24.6/6.0(18.913.827.2/100.0, 6.0 |34.1|59.9| 6.75
St 85 BHE 493 [1.0(1.2|1.6(2.6(16.06.1(18.917.634.9[100.0| 3.9 [24.7|71.4| 7.23
S49E | 405(1.2/1.0[1.0/1.0[10.6/4.0(18.3[17.545.4100.0| 3.2 |15.6(81.2| 7.64
HAEK| E AR} UCH 862 |1.4|1.5|1.6|2.6(17.4/4.817.3116.137.4100.0| 4.5 |24.7|70.8| 7.21
25 8 77 ALk 370 |0.0[1.4]2.2]/1.9[14.6/6.8 21.9117.633.8100.0| 3.5 [23.2|73.2| 7.28
M &0z UCH 423 10.9(0.9(1.7|2.4[18.9 5.4 [15.4113.940.4100.0| 3.5 |26.7|69.7| 7.27
25 8¥ ®F| gt |809/10[1.7]19/231535320417.934.1100.0 4.6 |23.072.4] 7.21
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20 =
Had 4o A MtER - 22

S |o 9| |EMus oz on
° 5 O A | 7 a~6|7~9| Ba
MlLl2]|3]4|®6|7|8|2 3"~y |y | (m)

T | a 8) ot =)

= =)

A 1,232/1.5|2.1|4.8|5.7 28.0[12.6/16.2/10.8/18.3{100.0| 8.4 {46.3|45.4(6.23
. =t 571 1.4|14|3.5(3.028.213.3/15.6[10.023.6/100.0| 6.3 |44.5|49.2|6.49
of &t 661 |1.5]2.7|5.9|8.0[27.8[12.0116.811.5[13.8100.0 10.1|47.8 | 42.1|6.01
a3 Setm 703 [1.3/2.8|5.0(7.427.912.9[14.5[10.8117.41100.0| 9.1 |48.2|42.7|6.13
DEstW 529 [1.7(1.1|4.53.4(28.2[12.118.5[10.8(19.7/100.0| 7.4 |43.7|49.0|6.37
SHEL 230 |3.5/1.3]3.5[4.330.4112.215.7/7.0 22.2/100.0| 8.3 |47.0|44.8|6.24
x| o ML 340 |1.2]1.5|4.4|4.1[26.5[12.6(15.9111.222.6/100.0, 7.1 |43.2|49.7|6.46
S5 359 |1.4]1.9|5.3|7.2(29.2(13.915.0110.915.0100.0, 8.6 |50.4|40.9|6.08
S 303 |0.3]3.6|5.6|6.626.4(11.218.5(13.214.5/100.0, 9.6 |44.2|46.2|6.16
e YLD 7+ 1,068/1.2(2.0|5.0|5.126.612.816.411.3[19.6(100.0| 8.1 [44.6|47.3|6.32
7| Et 164 {3.0]3.0(3.7|9.137.2/11.015.2| 7.3 [10.4{100.0| 9.8 |57.3|32.9|5.67
crest 7py | BHESE 78 | 23 |43]87|4.3|8.7(21.7/4321.7/0.026.1]100.0{ 17.4| 34.8 | 47.8 | 5.91
o= HICHE3E 7+48(1,209/1.4|2.0 4.8 5.6 28.1/12.7/16.1]11.0/18.2]100.0| 8.2 |46.5|45.3|6.24
Sot9lH | 334 /12.1]4.2|7.8(6.3(37.1[12.6/12.6/6.011.4{100.0/ 14.1|56.0|29.9|5.58
St 85 R 493 [1.4/2.0/3.9|7.3[26.6/14.816.810.8116.4[100.0| 7.3 |48.7|44.0|6.20
S49H |405(1.0[/0.5|3.5/3.222.2/9.9|18.5[14.8[26.4[100.0| 4.9 [35.3(59.8|6.81
HAEX| AR} ULE 862 [1.3|2.4|4.3|5.328.212.6(13.8[10.421.6/100.0| 8.0 |46.2|45.86.32
gs 89 77 ALk 370 |1.9]1.4|59|6.5[27.6[12.421.9111.610.8100.0 9.2 |46.5|44.3|6.04
Had xoj7|  UC 423 10.7|14|3.5]4.727.912.812.110.426.5100.0| 5.7 |45.4|48.96.55
2s 89 77 oAt 809 [1.9/2.5|5.4|6.2(28.112.5[18.4(11.0[14.1/100.0| 9.8 |46.7 |43.5|6.07
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HE1. S48
= H UFE - AZ] A
HAE 4o H THEE - Atz A
g |o =2 ug o= on
T2 34 6|78 7 (1”3(i:)6(x:)9 L(%T:)L
& % )N I
£)
1,232/1.11.3]1.9]2.9[18.7/7.9(17.920.128.2{100.0 4.2 {29.5|66.3|7.02
At 571 104|04|1.2(1.8/18.2/7.516.119.1 100.0| 1.9 |27.5|70.6|7.32
Of X} 661 [1.7]2.1]2.4]3.9(19.1/8.219.521.022.1/100.0| 6.2 |31.2|62.6|6.77
ot 703 [1.0/1.7|2.0|4.3[17.4/8.1[17.220.3128.01100.0| 4.7 |29.7 |65.6|6.98
DSst 529 [1.1]0.8(1.7|1.1]20.4/7.6(18.919.828.5[100.0| 3.6 [29.1|67.3|7.08
S5 230 |1.7]0.4|2.6|0.920.0/ 7.4 [15.7/17.034.3/100.0, 4.8 |28.3|67.0|7.13
MEAt 340 |10.3/0.9|1.2|4.1[16.8/6.8(17.6(19.432.9100.0| 2.4 |27.6|70.0|7.22
SEL 359 |1.7|1.4(1.7[3.3/16.4110.020.122.8122.6/100.0| 4.7 [29.8|65.5|6.91
S 303 |0.7]2.3]2.3]2.6[22.4/6.917.520.125.1/100.0| 5.3 {32.0|62.7|6.86
2o 78 1,068/0.7|1.0|2.0|2.6(17.4/7.6 [18.620.429.6/100.0| 3.7 |27.6|68.6|7.12
7|Et 164 {3.0]3.0(1.2|4.9/26.8 9.8 |13.4{18.3[19.5[100.0| 7.3 |41.5|51.2|6.41
CHE3t 78 | 23 [4.3/0.0/4.3(13.017.4/4.3|4.3]13.039.1{100.0| 8.7 |34.8|56.5|6.70
H|CHE S 7474(1,209]1.0( 1.3 |1.8|2.7|18.7/ 7.9 [18.220.3228.01100.0| 4.1 |29.4|66.5|7.03
Sol9lH 334 /10.6(3.3|2.7]4.5[26.99.0(18.3[15.9[18.9[100.0| 6.6 |40.4|53.0(6.46
HE 493 [1.0/0.8(2.0/2.8(18.7/9.3|18.1119.3[28.0[100.0| 3.9 {30.8|65.3|7.02
SAIH 1405 (1.5/0.2(1.0/1.7]11.9/5.2[17.524.7]36.3[100.0| 2.7 [18.8|78.5|7.49
ULk 862 [1.3/1.0/2.0(2.9(19.3/8.4(15.9(18.231.1/100.0| 4.3 |30.5(65.2|7.04
ALt 370 |0.5/1.9]1.6(3.0(17.3/6.8 [22.724.621.6/100.0| 4.1 |27.0/68.9|6.98
ALt 423 10.5(1.4|1.7|2.6(17.7/9.5 [14.7117.035.01100.0, 3.5 |29.8(66.7(7.18
eACt 809 [1.4/1.212.0(3.1]19.2/7.0(19.7)21.824.7/100.0| 4.6 |29.3|66.1|6.94
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e TEME
=7. a4 & H UFE - US|
Had 4o A MEE - UK
g | o | |E¥|es|es|on
T 234 (SE 678 ($ Ala-3 (i:f(xi)g L(‘LD::T:)L
T3 ) o =08 Il el
z) i

A 1,232|1.4|1.6|2.8|4.0(25.2[11.8[19.1/13.820.3/100.0| 5.8 |41.0|53.2|6.52
A At 571{0.9|1.2/3.0/3.023.5[10.0[18.9[14.025.6/100.0| 5.1 |36.4|58.5|6.76
Of X} 661 |1.8/2.0(2.74.826.813.3[19.2[13.6/15.7/100.0| 6.5 |44.9|48.6|6.32
saa Fetm 703 |1.4(1.7]2.4/3.8(23.2/11.9/19.2/15.6120.6(100.0| 5.5 |39.0|55.5|6.60
DEstW | 529 [1.3]1.5(3.4|4.2/28.0111.5[18.9[11.3[19.8/100.0 6.2 {43.7|50.1|6.42
S 230 |2.6(2.2|1.7|5.2|26.5(13.0[13.5[11.7]23.5[100.0 6.5 |44.8|48.7|6.43
x| o MEAE 340 |0.6|1.8(2.1]3.2[22.910.0[19.1/14.126.2/100.0| 4.4 |36.2|59.4|6.80
S5t 359 |1.7|1.4(3.3]3.324.2/13.120.9/15.017.0/100.0| 6.4 |40.7|52.9|6.47
B 303 [1.0/1.3|4.0|4.6 28.111.221.1/13.5/15.2/100.0| 6.3 |43.9|49.8|6.34
=y Y2 749 1,068/ 1.5]1.2|3.1|4.1|23.5[11.7/19.3[14.021.5/100.0| 5.8 |39.3|54.9|6.59
7|EL 164 |0.6{4.3|1.2|3.036.6(12.2[17.7/12.2[12.2[100.0| 6.1 {51.8|42.1(6.12
crest 7py | BHESE 7HE | 23 |0.0(4.3]4.3]0.0(30.4/4.321.7]17.4/17.4100.0| 8.7 |34.8|56.5(6.48
o= HCH2 St 747(1,209( 1.4 | 1.6|2.8|4.1[25.1/11.9/19.0[13.7)20.3/100.0| 5.8 |41.1|53.1|6.53
St H | 334(09(1.2(3.6|6.3(38.99.3[15.3/11.4/13.2100.0| 5.7 |54.5|39.8|6.06
st gH HE 493 |1.6|2.4|3.7 |3.4 24.514.420.3[13.0116.6/100.0| 7.7 |42.4]|49.9|6.36
S4H | 405(15[1.0(1.2]2.7(14.8[10.6120.7/16.830.6/100.0| 3.7 |28.1(68.1|7.11
HAEK E AR} ULE 862 |1.6(1.4|2.3|3.8(24.7/10.7/19.5/13.5122.5[100.0| 5.3 [39.2(55.5|6.61
gs 89 77 AL 370 |0.8|2.2|4.1]4.3[26.5[14.3[18.1/14.6/15.1/100.0| 7.0 |45.1|47.8|6.33
Hal xoj7|7 ULH 423 10.5]0.7|3.5|4.3|25.5/10.4/13.5(15.126.5[100.0| 4.7 |40.2|55.1|6.73
25 8Y ®F| gt |809|19]21|25(3.85.112522.0013.1[17.11100.0 64 [41.4]522]6.42
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HE1. S48
£7. H4d &o| H UXFE - 2
Had 4o 2 ER - 3ty
g |o 0| (B luslom o
T 234 (SE 6|78 ($ 7 <1~3(i:)6<1:)9 J'(éiii;
* |3 &) o R TR
%) i

A 1,232/1.1]0.5|2.1|3.5[23.0/9.7 |18.016.825.3/100.0| 3.7 |36.1|60.1|6.84
o =N 571 0.7/0.5(1.8(3.0(22.1/8.8(17.7]14.231.3/100.0| 3.0 |33.8|63.2|7.01
Of Xt 661 |1.5/0.5|2.4|3.923.8[10.418.3/19.120.1/100.0| 4.4 |38.1|57.5|6.69
s Emi 703 (1.3]0.1|2.6(3.4|21.8/9.7[18.8117.624.8/100.0| 4.0 [34.9(61.2|6.85
DS5sm | 529 [09]09]1.5|3.6124.6/9.6(17.015.726.1100.0| 3.4 |37.8|58.8|6.82
S 230 |1.7/0.9|1.7|2.626.1/8.3(17.8(12.228.7/100.0| 4.3 |37.0/58.7|6.80
Sz x| ME A 340 |10.0/0.0]3.2|2.9[22.9/9.116.217.128.5/100.0| 3.2 |35.0/61.8|6.97
S 359 [1.4(0.3|1.4(3.9]21.4/8.6(18.9/19.524.5/100.0| 3.1 |34.0/63.0/6.90
A 303 [1.7[1.02.0]4.322.412.5[19.1/16.8)20.1/100.0| 4.6 |39.3|56.1|6.64
SiE sy Y2 JHY 1,068(1.2|0.6(2.1]3.4[21.6/9.8(18.2[16.726.5[100.0| 3.8 |34.8|61.3|6.88
7|Et 164 [0.6]0.0|2.4|4.3(31.7/8.5(17.117.7117.7/100.0| 3.0 |44.552.4|6.55
ch2st spy | B2t 7H8 | 23 [43(0.08.7(13.021.7/4.3 8.7 21.7]17.4/100.013.0{39.1|47.8 | 6.09
o HICH2 3 7H4(1,209] 1.1]0.5 2.0 3.3 |23.0/9.8[18.216.7]25.5[100.0| 3.6 [36.1|60.4|6.85
Sot9lH 1334 10.9]03|1.2(4.5(32.0[11.116.5[14.1119.5/100.0| 2.4 |47.6|50.0|6.53
St 94X BE 493 [1.0/0.2|2.0(4.3[22.7]11.017.6/16.624.5{100.0| 3.2 |37.9/58.8(6.81
S49# | 405[1.5/1.0]3.0/1.7[15.8/6.9(19.819.331.1/100.0| 5.4 {24.4|70.1|7.12
A A K| S AL} UACH 862 |1.2]0.3/2.7|3.1[23.2/9.418.2/15.1126.8/100.0| 4.2 |35.7|60.1|6.84
235 88 #F| gt |370|1.1]08]08[43224/10.317.620821.9/1000| 2.7 [37.0/60.3|6.83
Ml xoj7|7 ACH 423 10.20.2(1.9]2.8[24.1/8.5[14.2[16.831.2(100.0| 2.4 |35.562.2|7.04
28 8% 7| gt | 809 16|06]22|38022410320.016822.2/1000| 44 |36.5/59.1]6.73
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Okl
Okl

ik
2

20 = o = .
Had a0 A oEE - 33 Folet
4z gy
o =0t

Z @ AR e
= > (oH (~3 x4y | =iy | =
¢%234(§)678i =) | =) | 2| @)

o e =

) R
| 1,232/1.0(1.3|2.4|3.8(34.5/11.8[17.0/9.3 [18.9/100.0| 4.7 |50.1|45.2|16.33
. =N 571 [0.9(1.2|2.1|2.5(30.3[11.7[16.1]10.5)24.7/100.0 | 4.2 |44.5(51.3|6.60
°F Of X} 661 |1.1/1.4(2.7|5.0/38.1/11.8/17.7/8.3 [13.9/100.0| 5.1 |54.9(39.9/6.09
saa Fstu 703 |0.9(1.4]2.0(4.0[31.3112.1]18.911.2]18.2[100.0| 4.3 |47.4|48.4|6.41
DS5sm 529 1.1/1.1/3.0|3.6(38.8[11.3[14.4 6.8(19.8/100.0| 5.3 |53.7|41.0|6.22
FEA 230 [2.6]0.0(1.3|2.2|35.2/13.5[13.0{ 7.4 [24.8/100.0| 3.9 |50.9(45.2|6.46
Sz | o M AL 340 |0.3]0.6(2.4(3.531.5/10.0[17.110.9[23.8/100.0| 3.2 [45.0|51.8(6.61
S 359 | 1.1]2.2(2.8|5.3/34.5/12.0[17.5/9.5 [15.0/100.0| 6.1 [51.8(42.1(6.14
FEA 303 /0.3]2.0(3.0(3.6/37.3/12.2[19.1/8.9 [13.5/100.0| 5.3 {53.1|41.6|6.15
S ¥ED Y 1,068(1.0|1.1/2.2(3.8(33.2]11.4[17.4/9.9(19.9/100.0| 4.3 |48.5/47.2/6.40
7|EL 164 |0.6|2.4|4.3|3.742.7[14.014.0/5.5[12.8/100.0| 7.3 |60.4|32.3|5.88
crest 7py | EHES 7HE | 23 |0.0(8.7|4.3|4.3(26.1)21.7/8.7(13.0[13.0100.0| 13.0| 52.2| 34.8| 5.91
o= HICHE 3L 749(1,209/ 1.0 1.2 2.4 3.8|34.7/11.6/17.1 9.3 [19.0,100.0| 4.5 |50.0(45.4|6.34
Sot9lH | 334(09(1.2]1.5(4.8]47.3[10.5[15.3/6.6(12.0[100.0| 3.6 |62.6(33.8(5.94
St gH R 493 |1.0/2.0/3.0/3.9(33.7/13.816.8/ 8.5 |17.2/100.0| 6.1 |51.3|42.6|6.22
SA4QE 405 |1.0/0.5/2.5(3.0[24.9[10.4[18.5112.6/26.7|100.0| 4.0 |38.3|57.8/6.79
A A K| E AL UCH 862 |0.9|1.5]2.1|3.5[32.7/11.3[17.3/ 9.7 [21.0[100.0| 4.5 |47.4|48.0|6.43
23 88 7| gt |3701.1/08|32|46386/13016.2 841411000 5.1 [56.2(38.6/6.09
Ml &oj7|7 ULH 423 /0.5/0.2|2.6|2.8(31.4[11.315.8 8.3(27.0100.0| 3.3 |45.6|51.1|6.65
g5 8¥ #7| gt [809[12/1.9/23(43336.112.0117.6 9.9[147/100.0] 5.4 [52.4|42.2]6.16
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HE1. S48
= o A MUEE - AZ
Had 4o A tEx - A

g | ] =
cr | (O : HE|0E r%’é.*
A El23 4@ 6|78 7 4698
~ |2 3) | &) | (&)

T g =)
)

A 1,232/1.5|1.1{3.6|5.8|18.3]10.4116.7/15.1 100.0 34.4|59.4|6.77
=N 571 11.1(0.2(2.3]4.9[17.97917.214.2 100.0 30.6/65.8/7.09
Of X} 661 2.0/ 1.8|4.7|6.5[18.6[12.6(16.3/15.9 100.0 37.7/53.9/6.50
et 703 |1.7]/0.4|3.0/6.0[16.4]11.1117.9/16.2 100.0 33.4/61.5/6.85
nssw [ 529(1.3(1.9]4.3(55[20.8/9.5[15.113.6 100.0 35.7|56.7|6.67
SR 230 |1.7/0.9|2.6|6.5[21.3[6.1/12.6113.5 100.0 33.9/60.9/6.90
ML 340 [1.2]/0.0]2.1(3.8/19.1110.6/17.4/15.0 100.0 33.5/63.2|7.01
SEL 359 |2.2/1.9]4.5|53(17.3[11.4{18.1]15.0 100.0 34.0/57.4/6.61
S 303 [1.0/1.3|5.0(7.9(16.212.217.5[16.5 100.0 36.3/56.4|6.61
Y2 JHY 1,068/1.3]1.1]3.5/5.3[16.9[10.2[17.3[15.8 100.0 32.4/61.7|6.86
7|Et 164 [3.00.6|4.3|8.527.4011.6/12.810.4 100.0 47.6|44.5/6.23
CHESE 78 | 23 [0.0(0.0|4.3(13.026.121.7/4.3 |4.3 100.0 60.9(34.8(6.26
H|CHE 3t 747(1,209]1.6|1.1]3.6|5.6|18.1[10.2(17.015.3 100.0 33.9/59.9|6.78
SOIIH | 334 (1.2(1.2|45|8424.911.414.4112.9 100.0 44.6/48.5(6.38
2E 493 12.21.2(3.9(59[18.511.016.414.4 100.0 35.3|57.4|6.67
S49H | 405(1.0/07|25|3.5(12.6/89(19.017.8 100.0 24.9|70.9|7.22
UCH 862 |1.2/1.0|3.2|5.5[18.4[10.1116.5114.2 100.0 34.0/60.6|6.85
eict 370 [2.4|1.1]4.3|6.517.811.1117.3[17.3 100.0 35.4/56.8|6.58
UL} 423 10.7]0.5(2.6(3.8[19.111.613.2[14.2 100.0 34.5/61.7|7.04
oAt 809 |2.0/1.4|4.1|6.8[17.8/9.818.5115.6 100.0 34.4/58.2|6.63
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=7. a4 ao H UFLE -
Had 4o H OHELR - ObH
S (SIH ; (SH %_,_':'J | 2= r%’é.*
ATl 2]3|a|®|6|7]8]% 7 (1~3(i:) (Zci)g (%i;
ol ) o )N
= =)

A 1,232/1.5(1.1]2.8|3.6[21.3/9.416.3/15.6[28.3/ 100.0 | 5.5 [34.3/60.2|6.83
o =N 571 10.7/0.5(1.8|2.6(18.7/7.2(18.2]13.137.1/ 100.0 | 3.0 |28.5/68.5|7.21
Of X} 661 |2.3|1.7|3.8|4.4(23.411.3114.7117.720.7| 100.0 | 7.7 |39.2|53.1/6.51
s et 703 |2.0|/1.0|3.6|4.0[20.5[10.0114.2/15.928.9/ 100.0 | 6.5 |34.4/59.0/6.80
DEstd 529 [0.9/1.3/1.9(3.022.3/8.7[19.1(15.127.6/ 100.0 | 4.2 |34.0/61.8/6.88
SR 230 |1.7/0.9|2.2|2.6[25.7/6.513.9112.234.3/ 100.0 | 4.8 |34.8/60.4/6.92
Sz x| ML 340 |0.6]0.9|3.2(2.6|20.6/9.4 [14.416.232.1/100.0 | 4.7 [32.6/62.6|7.01
S 359 |2.5/1.7|3.3|5.6(23.17.5[14.5[16.7125.1 100.0 | 7.5 |36.2|56.3|6.60
S 303 [1.3/1.0{2.3|3.0{16.5[13.922.4[16.223.4/ 100.0 | 4.6 |33.3/62.0|6.85
SiE sy Y2 JHY 1,068/1.5/1.0(3.03.4[20.2/9.7|16.2(16.028.9/ 100.0 | 5.5 [33.3|61.1(6.87
7|Et 164 [1.8]1.8]1.8/4.9[28.07.3(17.1[12.824.4/ 100.0 | 5.5 |40.2|54.3|6.56
ch2st spy | ChESt 7H8 | 23 |43|43|4.3|4.334.813.04.3|4.3]26.1/100.0|13.0/52.2|34.8|5.96
o HICHE3F 7+48(1,209/1.5(1.1]2.8(3.6|21.0,9.3 [16.5[15.8128.4/ 100.0 | 5.4 [33.9/60.7|6.85
St | 334(09(1.8|1.8/3.629.3/10.5[16.214.721.3/ 100.0 | 4.5 |43.4|52.1(6.56
St 94X HE 493 |1.6/1.0|4.1|4.3[20.59.5[17.014.427.6/ 100.0 | 6.7 |34.3|59.0/6.75
SAQE 405 |20[0.7(2.2]2.7[15.6/8.4[15.6(17.835.1/100.0 | 4.9 |26.7|68.4|7.16
X A K| £ AFO} UCH 862 |1.7(1.32.8]3.721.19.3 15.1]15.1129.9/ 100.0 | 5.8 |34.1|60.1|6.84
23 82 ®F| g 370 |1.1/0.8|3.0(3.2[21.6/9.7[19.2/16.824.6/ 100.0 | 4.9 |34.6|60.56.81
KA k7|7 ULk 423 10.9(1.2(3.5/3.5[20.3/9.7 [13.5[14.7]32.6/ 100.0 | 5.7 |33.6/60.8/6.93
28 29 /7| gt [809(1.9]1.1]25(3621.89.3[17.816.126.1100.0 | 5.4 [34.6/60.0/6.78
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HE1. E4
=7. 44 &9 Er - st Megato| x3}
HaE 4fo 2 =X - sHqL
Metaro| Xzt
:%+ ! 9 9F
= (DH (|:||.| rc"iﬂ'
A % o (I-I)
4\— = 3 4 (E L =
= = ot
at =
=)
A 1,232 6.7(8.2[23.9 6.03
=R 571 4454224 6.59
o
Of Xt 661 8.6 [10.625.1 5.54
. Sotil 703 6.78.323.0 5.97
SIgmi=y —
nsstm | 529 6.6(8.1[25.0 6.11
S84 230 6.5|6.525.2 6.23
AR ML ]340 5.0|7421.5 6.37
o SEA 359 70/8624.8 5.82
SEA 303 8.3]9.9]244 5.75
. =N=} 1,068 6.6|8.322.5 6.07
7S HEN
164 73|7.3[329 5.78
cr2st 7td | BE=h 7P8 | 23 13.0017.430.4 5.65
= =
o % HICH22F 7+(1,209 6.5(8.023.7 6.04
334 7.5110.532.3 5.56
st 4H 493 6.7|8.523.5 5.95
¢ 405 59|5917.3 6.52
H K| AFQ} 862 6.3]8.223.9 6.11
38 =7 370 7681238 5.86
Al xho]7| 2 423 5.717.3122.7 6.40
38 7% 809 72|87p45 5.84
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=7. a4 ao H UFL: - FEH UF g9
Had a0 E UEE - FRH OHF
R

S (;H 9 %E BE | 9H
i | e 5 oyl A (1”3(1:6(7(:9 %3(?
4_%234(&2)678—;.’; =) | =) | 2)|(E)

i ° =

=) =)
A 1,232/1.9(1.7|3.6|5.721.6/9.9(16.2/13.825.6{ 100.0 | 7.2 |37.2|55.6/6.60
o =P 57111.2{0.7|2.8]4.0|19.8/8.2(18.0112.832.4/ 100.0 | 4.7 |32.0/63.2/16.96
°= Of X} 661 |2.6|2.6|4.2|7.123.111.3[14.714.7119.7/ 100.0 | 9.4 |41.6|49.0/6.30
o St 703 |2.4|2.3|4.0|5.7[18.9111.1]15.514.7)25.5 100.0 | 8.7 {35.7|55.6(6.58
D58t 529 [1.3/0.93.0(5.7(25.1/8.3[17.2[12.7125.7| 100.0 | 5.3 |39.1|55.6|6.64
S84t 230 |2.2/0.9|2.6|6.5[24.8/7.013.5[11.730.9 100.0 | 5.7 |38.3|56.1/6.70
Sz x| ML 340 [1.2]2.1]0.9|6.8|21.5[10.6114.412.130.6/ 100.0 | 4.1 |38.8/57.1/6.79
S 359 |2.5/1.1(3.6|4.7(22.011.417.5[15.621.4/ 100.0 | 7.2 |38.2|54.6|6.54
A 303 |2.0(2.6|7.3]5.0|18.8/9.6(18.815.220.8/ 100.0 {11.9(33.3|54.8|6.41
=y Y2 748 1,068/1.9(1.6(3.2|5.5/20.3/10.2115.914.3[27.1/ 100.0 | 6.6 |36.0/57.3|6.69
7| E} 164 [2.4|2.4/6.16.7[29.9/7.9[18.3[10.4/15.9/ 100.0 |11.0|44.5|44.5|6.03
ch2st spxy | 2SRt 7H8 | 23 10.0(0.021.721.7]13.04.3 (13.0/0.0 [26.1) 100.0 |21.7|39.1{39.1|5.70
o H|CHE S 749(1,209/2.0 (1.7 |3.2|5.4[21.810.0116.3[14.1125.6/ 100.0 | 6.9 |37.1/55.9(6.62
SOt | 334 (27(2.7|45|7.2(29.6/11.413.5[12.915.6/ 100.0 | 9.9 [48.2|41.9|6.04
St g94H BE 493 (2.0/1.4|3.9|6.1[21.5[10.5[17.0112.425.2/ 100.0 | 7.3 |38.1|54.6/6.56
S4AH | 405 (1.2/1.2|125]4.0[15.17.9(17.5[16.334.3/ 100.0 | 4.9 |26.9(68.1|7.12
A EK| E AR} ULk 862 |2.1(1.63.6/5.8/21.88.015.8/13.1128.2/ 100.0 | 7.3 |35.6|57.1|6.65
25 88 #F| gt |370|16]19]35(5421.114.317.3154019.5 1000 | 7.0 [40.8]52.2[6.48
Ml &oj7|7 UL} 423 [1.4(0.7|2.8|4.7(22.7/9.0[13.7[11.3533.6/ 100.0 | 5.0 |36.4|58.6(6.87
25 82 /7 eiCt 809 |2.2(2.2|4.0]6.2|21.010.4117.6[15.121.4 100.0 | 8.4 |37.6|54.0|6.47
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%
o
ofm
X
Hl

=8 Fad Tof o - X
Had 3o = - QX E
Scixy 1 3 . 50 EOE.;TL OE—L? 5
o; (67%64 5 (01;% 4 (DJHéI-_'_ A Arﬂg(3+2+5%iﬁ
o @ o (e2) ®) |©
ALCH ALH
A 1,232| 180 | 255 | 375 | 114 | 7.6 |[1000| 435 | 56.5 |2.65
=R 571 | 175 | 221 | 382 | 114 | 109 |100.0| 39.6 | 604 |2.76
of &} 661 | 185 | 284 | 369 | 11.3 | 48 |1000| 469 | 53.1 |2.56
St 703 | 176 | 280 | 371 | 11.8 | 54 [100.0| 457 | 543 [2.59
DSstW | 529 | 185 | 22.1 | 380 | 108 | 10.6 |100.0| 406 | 594 |2.73
S5 230 | 187 | 170 | 42,6 | 104 | 11.3 |100.0| 357 | 64.3 |2.79
M AL 340 | 153 | 244 | 418 | 9.7 | 88 |100.0| 39.7 | 60.3 |2.72
S 359 | 18.9 | 295 | 351 | 103 | 6.1 |100.0| 485 | 515 [2.55
S 303 | 195 | 284 | 31.7 | 152 | 53 |100.0| 479 | 52.1 |2.58
¥ED 7Y (1,068 | 17.4 | 239 | 382 | 124 | 81 |100.0| 413 | 587 |2.70

7| Et 164 | 220 | 36.0 | 329 | 49 43 |100.0| 579 | 42.1 |2.34

x | CHEst7P8 | 23 | 391 | 217 | 130 | 174 | 87 [1000| 609 | 39.1 |2.35

HICt=22F 7+8| 1,209 | 176 | 256 | 38.0 | 112 | 7.6 |[100.0| 43.2 | 56.8 |2.66

Sot¢ A 334 | 195 | 314 | 395 | 54 | 42 [100.0| 509 | 49.1 [2.43

2S 493 | 168 | 24.1 | 400 | 124 | 6.7 |100.0| 41.0 | 59.0 |2.68

Soed 405 | 183 | 222 | 328 | 151 | 11.6 |100.0| 40.5 | 59.5 |2.80

| = AFQ} ALt 862 | 158 | 248 | 384 | 116 | 94 |1000| 40.6 | 594 |2.74

T oiCt 370 | 232 | 270 | 354 | 108 | 3.5 |100.0| 503 | 49.7 |2.44

7|3 ALt 423 | 11.1 | 173 | 437 | 13.0 | 149 |100.0| 284 | 71.6 |3.03

i ALt 809 | 216 | 298 | 342 | 105 | 3.8 |1000| 514 | 48.6 |2.45

- 195 -



£8. HAad O rff - Z2&
¥aW ol s - SaE
1 =<
(il 9 S8 =g
S e 5 (EIH SFX| o St 7o
C} == ® oro o i) 9|:|
= e (= | A ||é~e B (B2
N2l2|3]4|8]6|7 8|3 208 (-9 &)
T | o} 0| [=} (1~3 =)
x| Ch 5t )
E Ch
Ch
rabs| 1,2322.211.0|2.5/3.2[38.212.1/19.5/8.7 [12.7/ 100.0 | 5.7 |53.5/40.8|6.08
e LhX} 571 (3.51.2/3.0/3.9142.2/8.1]16.8/7.0 [14.4/ 100.0 | 7.7 |54.1/38.2|5.93
= Of X} 661 |1.1/0.8]2.1(2.6(34.815.621.810.1111.2 100.0 | 3.9 |53.0/43.1|6.21
—n =stm | 703 |1.3[1.1(1.8/3.337.014.420.8/8.7[11.7/100.0 | 43 |54.6/41.1|6.13
St —
- TEStD | 529 13.4(08(3.4(3.039.99.1(17.8/8.7 [14.0 100.0 | 7.6 |52.0/40.5|6.01
28A |230/3.9(1.7/35(3.042.2/7.0[18.7/5.7 [14.3/ 100.0| 9.1 |52.2|38.7|5.88
S— M A 340 [0.9]0.6(0.92.9141.212.119.1/ 7.4 [15.0, 100.0 | 2.4 |56.2|41.5|6.22
T =
SEA 359 [1.9]0.8|3.1/4.2[36.2114.220.6/8.4 [10.6/ 100.0 | 5.8 |54.6/39.6|6.02
ZEA 303 [2.6]1.0/3.0/2.3[34.3113.519.1112.911.2/ 100.0 | 6.6 |50.2|43.2|6.14
— %= JHH 1,068/2.1]0.7]2.3]2.7[38.1112.519.1/9.4[13.0 100.0 | 5.1 [53.4|41.5/6.13
e 7|E} 164 [3.0(2.4/3.7/6.1/39.09.1(22.014.3[10.4/ 100.0 | 9.1 |54.3|36.6|5.74
chzst spy | CHESE 7Y | 23 18.7]0.0(0.0(8.7(21.7/0.0{26.1[17.417.4) 100.0 | 8.7 |30.4(60.9/6.30
ol HICHE S 74A(1,209/2.1|1.0|2.6|3.1/38.5[12.319.4/8.5 [12.6/ 100.0 | 5.6 |53.9|40.4|6.07
=o1# | 334 (3.6/1.5/3.0/4.2147.011.7113.8/5.7|9.6 | 100.0 | 8.1 |62.9(29.0|5.66
stm ME HE 493 2.211.0]2.0(3.2/38.7[12.6[19.7/9.3 [11.2/ 100.0 | 5.3 |54.6/40.2|6.05
SAQIH | 405 [1.0]05(27(2.2[30.411.924.010.417.0100.0 | 4.2 |44.4|51.4|6.46
A AR S A} ULt 862 |2.2/07/2.3(3.4/37.89.7/19.7/9.2 [15.0,100.0 | 5.2 |50.9/43.9|6.18
235 83 /7 oict 370 [2.211.6(3.0/2.7(39.2[17.618.9 7.6 | 7.3| 100.0 | 6.8 |59.5/33.8/5.85
Ml ol 7|7 LTt 42311.9/0.9]09(2.1136.9/8.0[19.611.3118.2 100.0 | 3.8 |47.0/49.2|6.40
g5 38 #%| o 809 2.311.0(3.3/3.7138.914.219.4/7.3 9.8 100.0 | 6.7 |56.9/36.55.91

- 196 -



HE1. EAR
25 AW YO Hof - BEE
Had &o =0 - oL
1
(™ 9
g | o 5 (O =at obz=| g
= i - 4"’6 7"'9 I [LLN
ATl 2134|567 ]8|0t (1“3(7:4) (x) (?a)
A o} 7~ (=} (=] (=}
T O| —7_|E |:|)
Al C 3
= b ot
5 Ch
Ch
A 1232(40[19]54]8.146.811.911.03.87.2[1000[11.3]66.7[22.0[5.34
e SR} 571 5.1)2.1142(7.2148310310.53.0/9.3[100.0 |11.4]65.8|22.8/5.35
= of &} 661 |3.0/1.8|6.4|89045413.211.3/4.5|54 (1000 [11.2[67.5]213/5.32
o zstm | 703 2.3/18/5.1/6.7146213.113.4 48651000 9.2 [66.0]24.85.49
ol
- 1=3tm | 529 622157 1004741027.8]25/8.11100014.0/67.7]183]5.13
2 [230]48/04(39]48[522 9110435109 1000] 9.1 [66.1]24.8/5.51
R Mear 1340 [21]15/47]7.448811.811.53.8]8.5]1000] 8.2 [67.9/23.8/5.51
T =2 [359]42]1.964 100440131106 4.7 50]1000|125/67.1]203]5.23
z=2M [303]53]36/59]92043.612.511.23.0!5.6]1000|149(65.3]19.85.13
S o= 7bA [1068/4.0]1.9]5.7]8.204591201074.0[7.6/1000[11.6]66.1/22.35.34
° 7| E} 164 |3.7]2.413.0173/52.411.012.8 2.4] 491000 9.1 [70.7/20.1]5.28
cr2st 7py | CHE2F 7HE | 23 |4.3]0.04.3(4.3[39.1/13.013.013.0/8.7 | 100.0 | 8.7 |56.5/34.8|5.83
of HICFRS 7}[1,209/4.0 2.0 5.4 |82 146.911.810.93.6 | 7.2 100.0 [11.3]66.921.8/5.33
=o1# | 334 (48/1.5(5.1|7.5/54.511.1/7.2|3.0|/54[100.0|11.4|73.1/15.6|5.15
stm A B [493(30(26/53/87156013.012232/63]1000[11.0[67.3]21.7/5.33
A | 405 [4.4]15|57]7.941.711.112.6/52 9.9/ 100.0 [11.6]60.7[27.7]5.50
Haudx|capg AL 862 13.5/11.9(49|7.3146.512.310.8/3.8 9.0 100.0 [10.2]66.1]23.7|5.45
235 g8 77| o 370 |5.1]2.2]6.510.047.310.8111.43.83.0100.0 |13.8]68.1]18.1|5.07
dad mojza UCH | 423]24[17(40]541452116121/45/132/1000 | 8.0 [62.2|29.8|5.74
25 38 #%| o 809 |4.8/2.1/6.1]95047.612.010.43.5|4.1]100.0 [13.0/69.1|17.9/5.12
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£9. a4\ AZST 7|8 = - AXE

Had H2BX 78 = - K=
or Ll
Oiﬂ (75_-?61 (0135755! (DHS'C')_ A %i_;_‘i}t(3+LI§1+5rCL3H'__EL
axl | 2 | E | 4 || peE e |

= SIh 2iCh
| 1,232| 125 | 209 | 455 | 137 | 7.5 |100.0| 334 | 66.6 |2.83
A = 571 | 116 | 177 | 478 | 133 | 96 |100.0| 29.2 | 70.8 |2.92
= of Xt 661 | 133 | 236 | 434 | 141 | 56 |100.0| 369 | 63.1 [2.75
o St 703 | 137 | 235 | 451 | 122 | 55 [100.0| 37.1 | 629 [2.73
kil 529 | 11.0 | 174 | 459 | 157 | 10.0 |100.0| 284 | 71.6 |2.96
S5 230 | 139 | 191 | 47.8 | 113 | 7.8 |100.0| 33.0 | 67.0 |2.80
Sz x| ML 340 | 124 | 206 | 429 | 141 | 100 |100.0| 329 | 67.1 |2.89
S 359 | 12.0 | 240 | 448 | 139 | 53 |100.0| 359 | 64.1 [2.77
S 303 | 122 | 188 | 472 | 149 | 69 |100.0| 31.0 | 69.0 |2.85
=iy ¥ED 7+ 11,068 116 | 203 | 46.0 | 140 | 81 |100.0| 319 | 68.1 |2.87
7| Ef 164 | 183 | 244 | 421 | 122 | 3.0 [100.0| 427 | 57.3 |257
cr2st spy | CHESE 7PE | 23 | 304 | 217 | 217 | 174 | 87 [100.0| 522 | 47.8 |2.52
o HICHE3E 749] 1,209 | 122 | 20.8 | 459 | 13.6 | 7.4 [100.0| 33.0 | 67.0 |2.83
Soted 334 | 132 | 278 | 461 | 93 | 3.6 |100.0| 41.0 | 59.0 [2.62
St 94X BHE 493 | 112 | 211 | 456 | 146 | 7.5 |100.0| 323 | 67.7 |2.86
SMQE | 405 | 13.6 | 148 | 447 | 163 | 10.6 [100.0| 284 | 71.6 |2.96
HAEK| E AL} ALk 862 | 11.6 | 203 | 448 | 139 | 94 [1000| 319 | 68.1 (2.89
25 338 77| gt 370 | 146 | 222 | 470 | 132 | 30 [1000] 368 | 632 |2.68
Ml xoj7|7 UL 423 | 7.6 | 147 | 470 | 158 | 149 [1000| 2222 | 77.8 [3.16
25 88 77| gt 809 | 15.1 | 241 | 446 | 126 | 36 |1000] 392 | 608 |2.66
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%
o
ofm
-

Ho

Hl

Had H2BE 7|8 = - 3%
71c-| 9 =8
g |4 s o Blus | on
& |2 & pl B I CRCR T
A9.23406783 ) |(7~9] (&)
= |38 of 2 (1~3 =)
X| Ch &t =)
o Ch
Ch
A 1,232/1.5/0.7|1.9(3.6(36.111.9117.3[11.0116.1 100.0 | 4.1 |51.5|44.3|6.28
=N 571 12.3/0.9(2.8(3.041.010.7115.4/ 7.4 [16.6 100.0 | 6.0 |54.6/39.4|6.10
Of Xt 661 10.9]/0.6|1.1]4.131.9[12.9118.9114.1/15.6/ 100.0 | 2.6 |48.9|48.6|6.44
a3t 703 [1.1]0.71.4[4.3|34.3[12.7119.111.7114.8/100.0 | 3.3 {51.2/45.5|6.31
DSSm | 529 |2.1]0.8(2.5|2.6[38.610.814.9110.017.8/100.0 | 5.3 [52.0/42.7|6.24
S 230 (2.2(1.72.6|2.642.69.6 [14.3)9.6 [14.8 100.0 | 6.5 |54.8|38.7|6.04
M A 340 [1.2/10.3]2.1(3.2|37.119.7[17.6/8.2 20.6/ 100.0 | 3.5 |50.0|46.5|6.39
St 359 |1.4/0.8(1.7|3.6(35.7[14.218.1]11.1/13.4 100.0 | 3.9 |53.5|42.6|6.22
SEA 303 [1.7/0.3|1.3|4.6(30.7]13.218.2]14.9/15.2 100.0 | 3.3 |48.5|48.2|6.40
Y2 74 [1,068/1.6(0.7[1.5|3.6(35.5/11.617.411.3[16.9/ 100.0 | 3.7 |50.7|45.6|6.33
7|E} 164 [1.2]1.2]4.3|3.7/40.213.416.5/8.5[11.0100.0 | 6.7 |57.3|36.0|5.95
& | CH22 7M8 | 23 [0.0/0.0]0.0|4.3[26.1[13.0[17.421.7]17.4/ 100.0 | 0.0 |43.5/56.5|6.78
HCHE S 7474(1,209]1.6|0.7 | 1.9|3.6 [36.311.817.3(10.816.0, 100.0 | 4.2 |51.7|44.1/6.27
St | 334(3.0(06|1.8|5.7(41.9112.614.4/6.9(13.2/ 100.0 | 5.4 [60.2|34.4(5.92
28 493 |0.8(1.0(2.6|2.8(38.3/9.9(18.1112.214.2( 100.0 | 4.5 |51.1|44.4|6.25
SA4QA 405 [1.2/10.5/1.0|2.7[28.6/13.6(18.8[12.820.7| 100.0 | 2.7 |44.9(52.3|6.61
L X| £ AFQ} ULk 862 |1.5/0.3|1.4|3.537.8[10.6(16.9/10.0118.0, 100.0 | 3.2 |51.9/44.9/6.33
T Ak 370 |1.6{1.6{3.0(3.8[32.2[14.9/18.1/13.2/11.6/ 100.0 | 6.2 |50.8/43.0/6.16
7|7 UCH 423 11.2]0.7(1.4|3.1[36.9/9.5[17.5/8.7 [21.0, 100.0 | 3.3 |49.4|47.3|6.42
L ATt 809 |1.7[0.7]2.1(3.8/35.7[13.1/17.2]12.1113.5/ 100.0 | 4.6 |52.7|42.8|6.21
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2o, HaW H2ASH 7|4 T4 - VEE
Had F2l30 ol 24 - OEE
1
x 9
S 84 5 (OH %D'JE ot=| g™
R (= R Il 7
Xr:234%678':.'_f (1~3§)7é)(7g)
% ;T ol = )
s ch o
éj Ch
Ch
H A 1,2322.8/1.9(4.0|7.4]455[13.7111.4/5.0 | 84| 100.0| 8.6 |66.6/24.8]5.53
e x| 571 [32]1.846]6.8148011.79.6]3.9]105/100.0] 9.5 |66.5|24.0]5.51
°= ofxt | 661 |24|20(35|7.943301541306.16.5]100.0| 7.9 |66.625.6/5.55
sag zstm | 703 [20[1.7|3.1]7.843.0015.2112.8/6.4]8.0] 1000 6.8 |66.0|27.2|5.65
DSetm | 529(38[2.1]5.1]6.848.811.79.6(3.2|89]100.0[11.0[67.3[21.7]5.38
soat [ 230 [351.7]30]4.8[504(13.510.9/2.6]9.6| 1000 83 [68.7]23.05.51
I MEA [ 340 [2.1]0.944]7.1145.0013.2110.05.0[12.4/ 100.0| 7.4 |65.3|27.45.71
£5M  [359[22(25(3.1]86[47.912810058]7.0[ 1000 7.8 [69.4|22.8|5.47
ZuM [ 303[36]23|53]83[39315.5152/5.9]4.6]1000[11.2]63.0|25.7|5.42
ymwy | 2T V8 [10682817]40/691456140110/53 1851000 85 |66|24.9/5.55
Jlet | 164 |2.4/3.0(3.7]10444.5/11.6014.0/3.0|7.3]100.0| 9.1 |66.524.4]5 41
ctost b | CHESH 7HY | 23 [43]0.0/00]43[34.8017.413.013.013.0 100.0 | 43 |56.539.1/6.13
o HICH2 3 748(1,209(2.7| 1.9 [4.1|7.4|45.7]13.6(11.4/4.9 | 8.3 | 100.0 | 8.7 |66.7|24.6|5.52
St | 334 (3.6/24(3.6/9.0/48.8/13.810.5/3.9 |4.5/100.0| 9.6 |71.6/18.9(5.27
st A BE  [493|20(22(45]6947.9112.697|53(89|100.0| 8.7 |67.3[23.9[5.53
A9 A | 405 [3.0[1.0(3.7]6.7]39.815.114.3 5.7 109 100.0| 7.7 |61.5/30.95.75
sauxsatgt|  UCH | 862 24(1.9/3.9(6.545413.011.6/49104 100.0 | 82 |64.8/26.9/5.63
28 88 #%| gt [370(3519/4.1]950457115.4111.1/54]3.5] 1000 95 |70.5|20.05.31
Haud moz|m UCH | 423 (26/12]3.84.3 1454113109 5.4(15.1 1000 7.6 |61.0|314|5.84
28 88 #%| gt | 809 |28]22|4.1]9.0455115011748]48]1000] 9.1 [69.5214|537
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HAH1. S48
=10. HAH UFAID H4F XA - X
Had oA 4% X8 - QXE
LX| | of=
= U 57(-|
St} 3 5 Rote| ® |52
T (7(:|]6:| 0= (0 A H (3+4+5 J-Ci?
= 2 = 4 Zt = =y | (8)
kx| = (1+25) o)
= ot ot
Zotch S iy
= L CH ALChH
A 1232 | 120 | 193 | 448 | 162 | 7.7 |100.0| 313 | 68.7 |2.88
" =F XL 571 | 11.0 | 144 | 487 | 166 | 9.3 [100.0| 254 | 746 |2.99
= of X 661 | 129 | 236 | 415 | 157 | 64 |1000| 365 | 635 |2.79
oo el 703 | 114 | 211 | 458 | 149 | 6.8 |100.0| 324 | 67.6 |2.85
S1aT
- nsstn 529 | 129 | 170 | 435 | 178 | 89 [100.0| 29.9 | 70.1 |2.93
S84 230 | 143 | 152 | 49.1 | 11.3 | 10.0 |100.0| 29.6 | 704 |2.87
ME A 340 | 118 | 197 | 444 | 165 | 7.6 [100.0| 315 | 685 |2.89
HEXY
S5 359 | 109 | 187 | 471 | 159 | 7.5 [100.0| 29.5 | 70.5 |2.91
S8 303 | 119 | 228 | 393 | 198 | 6.3 |100.0| 347 | 653 |2.86
=iy U= I (1,068 116 | 188 | 449 | 162 | 85 |100.0| 304 | 69.6 [2.91
e 7|Ef 164 | 14.6 | 226 | 445 | 159 | 24 |1000| 37.2 | 62.8 |2.69
cr2st spd | ChE2H P8 | 23 | 174 | 174 | 391 | 217 | 43 |1000| 348 | 652 [2.78
ol HICI23} 7F™[1,209| 11.9 | 194 | 449 | 160 | 7.8 |100.0| 313 | 68.7 |2.88
Sot¢ A 334 | 111 | 222 | 488 | 13.8 | 42 [100.0| 33.2 | 66.8 [2.78
st A HE 493 | 120 | 193 | 473 | 150 | 6.5 [100.0| 31.2 | 68.8 |2.85
SaA 405 | 12.8 | 17.0 | 385 | 195 | 12.1 |100.0| 29.9 | 70.1 (3.0
HAEK| E AL} ACE 862 | 11.0 | 182 | 450 | 16.1 | 9.6 |100.0| 29.2 | 70.8 |2.95
23 83 /% eict 370 | 143 | 219 | 443 | 162 | 3.2 |100.0| 36.2 | 63.8 [2.72
Ml xoj7|7 ALt 423 | 73 | 128 | 478 | 184 | 13.7 [100.0| 20.1 | 79.9 (3.18
235 33 /7 9iCt 809 | 145 | 227 | 433 | 150 | 46 [1000]| 372 | 6258 [272
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£10. H4E QIFAN 4 XY - FE
Had QAL 4% XY - 52k
1
o |® 9 =8 =g
g | 3 o CSee| o |ox
% |2 & pll I I e G
L |2|2]3|4|2]6|7 |88 A) |(7~9 (&)
= |3 0| Q (1~3 =)
N Ch &t =)
o ch
ch
A 1,232[1.6/0.6 |3.0|3.0 37.6{11.5[16.0[11.7]14.9 100.0 | 5.3 |52.1/42.6|6.21
- =2 571 [2.6/0.4|4.0|2.3 42.9[10.5[15.2| 7.5 [14.5{ 100.0 | 7.0 |55.7|37.3|6.00
°= Of Xt 661 (0.8/0.9|2.1|3.6(33.012.416.6/15.3/15.3/ 100.0 | 3.8 |49.0|47.2|6.39
s a3t 703 [1.4]0.4|2.6|3.4(34.7/12.2[18.2[13.5/13.5/ 100.0 | 4.4 |50.4|45.2|6.28
DSSW 529 1.9/09(3.6|2.5141.410.613.09.3(16.8 100.0| 6.4 |54.4/39.1/6.12
R 230 [1.7/0.0(3.9(3.041.7/10.0[17.0,8.3 [14.3/ 100.0 | 5.7 |54.8/39.6/6.08
Sz x| ME A 340 [1.5/0.3|2.4|3.537.4{11.5[16.8/10.0[16.8/ 100.0 | 4.1 |52.4|43.5|6.27
S5 359 [1.4/0.8/3.3|2.537.3[11.7/16.2]13.1/13.6/ 100.0| 5.6 |51.5/42.9|6.21
FEA 303 [2.0/1.3|2.6|3.0 35.0[12.5[14.2[14.5[14.9/ 100.0 | 5.9 |50.5|43.6|6.24
S Y2 J1H |1,068(1.8/0.7 2.8 (2.6 37.3111.3[16.1112.2]15.2| 100.0 | 5.3 [51.2|43.4/6.23
7|E} 164 [0.6/0.0(4.3|5.5[39.6(12.8/15.2/ 8.5 [13.4/ 100.0 | 4.9 |57.9|37.2(6.06
ci2st 7py | CHE2 78 | 23 0.0/0.0(0.0]0.039.1/8.7[17.4113.021.7/ 100.0 | 0.0 |47.8/52.2|6.70
o HICH2 3t 7+8(1,209(1.7]0.7 [ 3.1]3.1(37.6[11.6/16.0/11.7[14.8/ 100.0 | 5.4 |52.2|42.4(6.20
St | 334(3.0/1.2]3.6(3.9/43.7112.0/9.6 9.9 |13.2/ 100.0| 7.8 |59.6|32.6(5.87
S M 28 493 (0.8/0.6{3.0|2.8]40.4[12.0[15.6(11.8/13.0{ 100.0 | 4.5 |55.2|40.4|6.16
SAQIE 405 [1.5/0.2]2.5(2.529.110.621.7/13.1[18.8/ 100.0 | 4.2 |42.2|53.6/6.54
A A EX| E AL} UCH 862 |1.6/0.5|2.3|3.1(37.4[10.316.2/11.7/16.8 100.0 | 4.4 |50.8|44.8|6.30
28 ¥ ®%| gt |370]16/1.1/46|2.7[38.114.315.4/11.6105/ 1000 | 7.3 |55.1|37.6|6.01
KAl AHG|7|T ULCH 423 (14/0.0(2.8|1.9[34.5/9.9(18.2[12.1/19.1/ 100.0 | 4.3 |46.3|49.4|6.46
g5 38 ®F| gt 809 (17/1.0(3.1]3.6[39.212.4114.811.512.7 1000 | 5.8 [55.1|39.1|6.08
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HE1. S48
=10. HaE UFAYU 4F XY - 5L
Had QFAQ 43 XY - R
1
(™ 9
LS LIEL L] R
Nlsl2]3]4|8|6|7 |8 | (3P )| ()
T x| 0| 1’_,5 o)
= Ch ot
gj Ch
Ch
A 1,232/3.2|12.6|4.0(6.745911.6113.1/5.2|7.8|100.0 | 9.7 |64.2|26.1|5.49
. =N 571 4.6/1.9|4.2|6.5/46.99.8(10.9 4.7 [10.5/100.0 [10.7|63.2|26.1|5.49
°= Of Xt 661 (2.0(3.2|3.8/6.845.113.2115.05.6 | 5.4| 100.0 | 8.9 |65.1/26.0|5.50
s a3t 703 |2.0(2.3|3.4|6.544.512.1115.4/7.1|6.7 | 100.0 | 7.7 |63.2|29.2|5.63
DSsW | 529 |47(3.0|47|6.847.811.010.0/2.6|9.3|100.0|12.5/65.6/21.9/5.32
S 230 |4.8/0.9(2.6(7.4|50.9 7.0 11.7/4.8 [10.0, 100.0 | 8.3 |65.2|26.5|5.50
Sz x| Mg A 340 |1.8/2.4|5.0|6.5[45.6[11.811.5/6.2|9.4|100.0 | 9.1 |63.8/27.1|5.60
SEA 359 |3.1/3.3|3.9(5.3]46.5[12.3114.2/4.5|7.0| 100.0 [10.3|64.1|25.6|5.47
FEA 303 |3.6/3.3|4.0(7.9]41.914.214.5/5.3|5.3|100.0 [10.9|64.0|25.1|5.40
S YED JHY |1,068(3.5/2.4(3.96.545912.212.5/5.3|7.8|100.0 | 9.8 |64.525.7(5.49
7| E} 164 [1.2]3.74.3|7.9146.3/7.9(16.5/4.3|7.9/100.0 | 9.1 |62.2|28.7|5.53
ct2st 7py | CHE2 7H8 | 23 0.0]0.0(0.0(4.3(52.217.417.443|43|100.0| 0.0 |73.9(26.1(5.78
o H|CHE 3t 7474(1,209]3.2| 2.6 4.1|6.7 |45.811.5[13.0[5.2 | 7.9| 100.0 | 9.9 |64.0|26.1|5.49
St | 334(3.9(2.1]24|6.6(52.7110.2]12.6/4.2 | 5.4 | 100.0 | 8.4 [69.5/22.2(5.36
st A BE 493 |2.213.2|5.1]6.9}47.3[11.6/11.8/4.1|7.9(100.0 [10.565.7|23.7|5.43
SH9# | 405|3.7|2.2(40(6.438.812.815.1/7.4|9.6 | 100.0 | 9.9 [58.0/32.1|5.68
HAEK S AL} UCH 862 |2.1(2.1/3.7|6.347.010.8(13.2/5.1|9.7 | 100.0 | 7.9 |64.0(28.1|5.63
28 88 ®%| gt |37057/38(46|7.61435013512.7/5432(1000[14.1]64.6|21.4|5.17
M ko 7|7 UCH 423 |126|14(26|454599.2[13.7/6.1]13.9/100.0 | 6.6 |59.6/33.8/5.87
28 88 #%| gt |809(35/32[47|7846.001291274.7|46]1000]11.4]66.6|22.0530
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E11. H2dEE U dEX A HA S - AX|E

Hadgs A G AHA Al -
ks 2R | Ot | oy
orct Bl m =
o;ﬂ (75_-?61 (0135755! (DE:?_ A A%;(3+i+5%iﬁ
gax | 2 | o5 | 4| on (127 ®) [*F

= SIh 21h

A

| 1,232 | 124 | 189 | 453 | 156 | 7.8 |100.0| 313 | 68.7 |2.87
A A 571 | 112 | 142 | 50.1 | 149 | 96 [100.0| 254 | 746 |2.98
of Xt 661 | 13.5 | 23.0 | 41.1 | 162 | 6.2 |100.0| 36.5 | 63.5 [2.79
saa Setm 703 | 128 | 213 | 438 | 159 | 6.1 |100.0| 34.1 | 659 [2.81
kil 529 | 119 | 157 | 473 | 151 | 10.0 |100.0| 27.6 | 72.4 |2.96
SEA 230 | 126 | 135 | 504 | 161 | 7.4 |100.0| 26.1 | 739 |2.92
Sz x| ME At 340 | 132 | 179 | 45.0 | 135 | 10.3 |100.0| 312 | 68.8 |2.90
S 359 | 114 | 203 | 451 | 153 | 7.8 [100.0| 31.8 | 68.2 |2.88
S 303 | 125 | 224 | 419 | 178 | 53 [100.0| 350 | 65.0 |2.81
=iy ¥ED 7Y [1,068| 116 | 189 | 449 | 163 | 83 |100.0| 305 | 69.5 [2.91
7| E} 164 | 17.7 | 189 | 482 | 11.0 | 43 |1000| 366 | 634 |2.65
ch2st spy | BHESE ZPE | 23 | 217 | 130 | 348 | 130 | 174 |1000| 348 | 652 |2.91
o HICH23E 749] 1,209 | 122 | 19.0 | 455 | 156 | 7.6 |1000| 31.3 | 68.7 |2.87
Soted 334 | 132 | 234 | 494 | 102 | 3.9 |100.0| 365 | 63.5 [2.68
St 94X BHE 493 | 11.8 | 185 | 469 | 152 | 7.7 [100.0| 30.2 | 69.8 |2.89
SAQE | 405 | 12,6 | 158 | 400 | 205 | 11.1 [100.0| 284 | 71.6 |3.02
HAEK| E AL} ALk 862 | 111 | 187 | 439 | 165 | 9.9 |100.0| 29.8 | 70.2 |2.95
25 8 77| gt 370 | 154 | 195 | 486 | 135 | 3.0 [1000] 349 | 651 |2.69
Hay zojz|q UM 423 | 7.1 | 135 | 444 | 194 | 156 |100.0| 206 | 794 |3.23
25 88 77| gt 809 | 152 | 218 | 457 | 136 | 37 |1000] 37.0 | 630 |269
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%
o
ofm
X

Hl

E11. 2T 3 QX HA "M - F2E

HAUTES U YTRY HA HA -

o = X ©
z=Qn
1 =q
g @& 9 a7, o[22,
Iél- _('5=| 5 (DH ?‘tg Eo °|_|' _91|:|
= O - ~ TI- 1
~ |2|2]|3|4|5|6|7|8|5 1~3| ) [(7~9](=)
T o ( 3 7
o|- 0| Q E) ™)
N Ch El;
ik Ch
Ch
M| 1,232|1.5{0.9|2.2|4.3(39.6/13.2/16.6/ 9.7 [12.1/ 100.0 | 4.5 [57.1/38.3|6.06
. Xt 571 13.0/0.7 2.3 4.6 43.8/11.2[13.3/ 7.2|14.0, 100.0 | 6.0 [59.5|34.5|5.92
= Of X} 661 10.2|1.1]2.1|4.1(36.0/15.0[19.4/11.8/10.4/ 100.0 | 3.3 [55.1|41.6/6.19
.o st 703 1.0/ 1.0|1.8|4.4(38.3[14.2(17.2/10.8/11.2| 100.0 | 3.8 [56.9/39.3|6.11
ol
- nS5stm | 529 |2.1/0.8(2.6|4.241.4111.915.7/8.113.2/ 100.0 | 5.5 [57.5/37.1/6.01
S8 230 |2.6/0.9(2.2|3.943.5/11.7/16.1/ 9.1 [10.0, 100.0 | 5.7 {59.1/35.2|5.90
Sz x| MELAE 340 |1.2/0.3]1.2|3.8142.4{11.5/14.7| 8.5 |16.5{ 100.0 | 2.6 [57.6/39.7|6.21
T SEA 359 |1.4]0.6|2.2|4.5[39.0[15.6/17.3/8.9(10.6/ 100.0 | 4.2 |59.1/36.8|6.03
SEAM 303 |1.0/2.0|3.3|5.0(34.3[13.5/18.2[12.2/10.6/ 100.0 | 6.3 [52.8/40.9|6.07
S ke JHE [1,068(1.5/0.7 [ 2.1]4.2 39.3[13.5{16.6/10.0[12.1/ 100.0 | 4.3 |57.0(38.7|6.08
e 7|E} 164 [1.2/1.8(3.0(4.9141.511.6[16.5/7.3[12.2 100.0 | 6.1 |57.9|36.0|5.94
cr2st 7py | CHE2F 7H8 | 23 0.0[0.0]0.0|0.030.426.1/4.3[17.421.7/100.0 | 0.0 [56.5|43.5/6.74
ol H|CF23} 74&(1,209/1.5[0.9 | 2.2 | 4.4 39.8/13.016.8/ 9.5 [11.9/ 100.0 | 4.6 |57.2|38.2|6.05
=o1# | 334 (24/09(3.3|7.2144.6[14.4110.8/6.9]9.6|100.0| 6.6 |66.2(27.2|5.69
ElIEmMEESES H5E 493 |0.6/1.4(1.8(3.4142.412.8/15.6/11.2/10.8/ 100.0 | 3.9 |58.6/37.5|6.07
=AM | 405 [1.7/0.2]1.7]3.0[32.1/12.8/22.5/10.1/15.8 100.0 | 3.7 [47.9|48.4|6.37
HAEK S AL} ALCH 862 |1.4/0.7]1.9|4.4(39.1/12.3/16.1/10.3/13.8/ 100.0 | 3.9 |55.8/40.3|6.15
25 d8 77| g 370 11.6/1.4/3.0]4.1120.8115.417.6/8.1]8.1] 100.0| 5.9 [60.3/33.8/5.87
Ha xoj7|7 ALCH 423 (1.4/05(1.4|1.9[36.9[13.2[16.5[10.6/17.5/ 100.0 | 3.3 |52.0|44.7|6.36
25 38 #%| o 809 1.5/1.1]2.6|5.6141.013.2116.6 9.1 |93 100.0 | 5.2 [59.8/35.0/5.91
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E11. 2T 3 QXA HA "M - UHFE

Hardes A GEXAA HA Al -
HET
1
(=] (47_('—-' 9 = o
o Si 5 (oj E—’—.EI_ BE|2E| oF
it | = (= 2| A g ere9Ee
_1\_612340%'678”5? =) | =) | 2)|(E)
o Ch sl
%j ch
Ch
A 1,232|2.8/1.8(3.5|6.4147.2[12.9112.0/5.7| 7.6 | 100.0 | 8.1 |66.6|25.3|5.54
o =N 571 4.0/1.8(3.2|5.848.0[12.6/10.0,4.9|9.8 | 100.0 | 8.9 |66.4|24.7|5.53
°= Of X} 661 |1.8/1.8|3.8|7.046.6[13.2[13.8/6.4|5.7|100.0 | 7.4 |66.7|25.9/5.56
s i 703 |2.1|1.4|2.7|5.3]46.8/14.7]13.9/6.7 | 6.4 | 100.0 | 6.3 |66.7|27.0|5.65
DSsm | 529 (3.8/2.3]4.5(7.947.8110.6/9.5|4.3]9.3|100.0|10.6(66.4|23.1|5.41
SH4 230 (4.31.7/2.2|6.1|50.9[11.7)9.1 | 6.5 | 7.4| 100.0 | 8.3 |68.7|23.0|5.46
Sz x| ME AL 340 [2.1/1.2|2.4|6.5147.1113.8110.3/5.3|11.5/ 100.0 | 5.6 |67.4|27.1|5.73
SEA 359 [1.9/2.5|4.2|5.047.4[14.2113.1/5.0| 6.7 | 100.0 | 8.6 |66.6/24.8|5.53
SEA 303 |3.6/1.7|5.0|8.344.6(11.2[14.9/6.3 | 4.6 | 100.0 | 10.2|64.0|25.7|5.41
e YED I (1,068(2.9/1.8(3.7|6.4(46.6[13.1112.0,6.1|7.4| 100.0 | 8.4 |66.1|25.5|5.54
7| Et 164 (2.4/1.8]1.8/6.7(51.2/11.612.2/3.0 9.1/ 100.0 | 6.1 |69.5|24.4|5.56
cr2st spd | ChE2H 78 | 23 0.0/0.0/0.0|0.043.5/8.7(21.7[17.4/8.7 | 100.0 | 0.0 [52.2|47.8|6.39
o H|CH2 3t 7+7(1,209(2.9/ 1.8 3.6 | 6.5(47.3[13.0111.8/ 5.5 7.6 | 100.0 | 8.3 |66.8(24.9|5.53
St | 334(3.3/0.6(3.6|5.4[56.6/11.110.23.9|54|100.0| 7.5 |73.1|19.5(5.37
SIgmEESES 28 493 |1.8/3.0(3.2|6.9 47.9/13.410.5/5.9(7.3|100.0 | 8.1 |68.2|23.7|5.52
A | 405(3.7/1.2|3.7|6.738.8/13.815.3/6.9 | 9.9| 100.0| 8.6 [59.3|32.1(5.72
A EK| S AR} ULk 862 |2.3|1.3|3.2|6.1146.9[12.4[12.4/5.6 9.7 | 100.0 | 6.8 |65.4|27.7|5.67
g5 88 77|  gict [37014.1/30(4.1/7.048114.1/11.1/5.9 | 2.7| 100.0 |11.1]69.2|19.7|5.25
Had xoj7|7 UCH 423 |2.4(14|2.4|4544.011.112.5/6.9 149/ 100.0| 6.1 [59.6/34.3|5.93
g5 38 #%| gt [ 809(3.120/4.1|7.448913.811.7/5.1(3.8] 1000/ 9.1 [70.2|20.6|5.34
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HH1. S4B

212. 44 HEgs 43} - AXE

HAd Aogs 243t - QX
sex 1 - de sot| B >8
Gl (2] e | 2|7 LEPE
feoy (23] |F2| (MH P
UL UL

b 1,232 7.0 | 114 | 451 | 233 | 13.2 |100.0| 183 | 81.7 |3.24
M A 571 | 6.1 98 | 478 | 21.2 | 15.1 [100.0| 159 | 84.1 [3.29
of &} 661 | 7.7 | 127 | 428 | 251 | 11.6 |1000| 204 | 79.6 |3.20
o St 703 | 7.1 | 127 | 444 | 245 | 114 [100.0| 19.8 | 80.2 [3.20
DSstW | 529 | 68 | 96 | 46.1 | 217 | 157 |100.0| 164 | 83.6 |3.30
SEA 230 | 83 | 96 | 496 | 200 | 126 |100.0| 17.8 | 82.2 |3.19
Sz x| M AL 340 | 6.8 | 103 | 482 | 19.7 | 150 |100.0| 17.1 | 829 |3.26
SEL 359 | 53 | 139 | 454 | 242 | 11.1 [100.0| 19.2 | 80.8 |3.22
A 303 | 83 | 109 | 380 | 287 | 142 |100.0| 19.1 | 80.9 |3.30
=8y Y2 JHY 1,068 65 | 113 | 449 | 232 | 140 |100.0| 17.8 | 822 |3.27
7| Et 164 | 104 | 116 | 463 | 23.8 | 7.9 |100.0| 220 | 78.0 |3.07
cr2st spd | ChE2H P8 | 23 | 87 | 217 | 348 | 21.7 | 13.0 |100.0| 304 | 69.6 [3.09
o HCtEst 741,209 | 6.9 | 112 | 453 | 233 | 13.2 [100.0| 18.1 | 81.9 [3.25
SOt # 334 | 81 | 144 | 506 | 17.7 | 93 |100.0| 22.5 | 77.5 [3.06
St 94X HE 493 | 6.7 | 103 | 487 | 225 | 11.8 [100.0| 17.0 | 83.0 |3.22
S49H | 405 | 64 | 101 | 363 | 289 | 183 |100.0| 165 | 83.5 |3.42
A K| E AR} ULCE 862 | 63 | 10.8 | 450 | 23.0 | 150 [1000| 17.1 | 82.9 (3.30
25 38 77| gt 370 | 86 | 127 | 454 | 241 | 92 [1000]| 214 | 786 |3.12
Ml xoj7|7 AL 423 | 33 | 83 | 452 | 239 | 194 [1000| 11.6 | 884 |3.48
25 82 77| gt 809 | 89 | 130 | 451 | 230 | 100 |1000] 219 | 781 [3.12
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[
3
=
ofl
rH
ofd
=
m

=12, ¥4d NEgs g4d3) - 38
Had Hygs 2431 - 3%
1 =0
o |& 9 sxl B2
S |8 5 (O oro|2E| o |9H
=13 (& A S |@~e| B B2
N2l2|3]4|8]6|7 8|3 2w 79| )
T | o} 0| [=} (1~3 =)
x| Ch 5t )
2 Ch
Ch
HH| 1,232/1.3/0.6|1.6|2.8[36.0110.2]19.4112.4{15.7/ 100.0 | 3.5 [48.9|47.6/6.36
- SR} 571 [2.1/0.4(1.1|3.5140.6/9.3 15.6{10.7/16.8/ 100.0 | 3.5 |53.4(43.1/6.25
= of Xt 661 0.6/0.8(2.1/2.131.9111.022.7/13.9]14.8 100.0 | 3.5 |45.1|51.4|6.46
st 703 |1.0/0.6(1.8/3.033.6110.721.9113.2[14.2/ 100.0 | 3.4 |47.2|49.4|6.39
Iame="
igmi —
- nSstm | 529(1.7/06(1.3/2.539.19.6[16.111.3[17.8 100.0 | 3.6 [51.2|45.2|6.33
S5 230(2.2/04(0.9/2.6143.9/7.0[16.1111.7[15.2/ 100.0 | 3.5 |53.5|43.0(6.21
x| MEAE 340 [0.9/0.3]0.3|2.9[36.2/13.2/15.0[10.6120.6| 100.0 | 1.5 |52.4|46.2|6.49
T SEA 359 [1.4/0.6]1.9]3.1[36.5/10.6122.6/10.9112.5/ 100.0 | 3.9 |50.1|46.0|6.24
S8 303 [1.0/1.0/3.3]2.3[29.0,8.9 23.1/16.814.5/ 100.0 | 5.3 |40.3|54.5/6.48
S U= JHE (1,068]1.4]0.6|1.6]2.6(35.510.3/19.6[12.5[15.9/ 100.0 | 3.6 |48.4|48.0|6.38
e 7| E} 164 |0.6]0.6[1.8/3.7(39.09.8[18.311.6/14.6/ 100.0 | 3.0 |52.4|44.5|6.28
cr2st 7py | CHE2F 7H8 | 23 0.0]0.0(4.3[0.0(26.1/13.021.721.7[13.0/ 100.0 | 4.3 |39.1|56.5|6.65
o5 H|CHE3F 74(1,209]1.3|0.6|1.6|2.8[36.1/10.2[19.4{12.2/15.8/ 100.0 | 3.5 |49.1|47.4/6.36
o1& | 334 (2.4/0.9/3.0/4.2140.1[11.4114.7/10.5[12.9/ 100.0 | 6.3 |55.7|38.0|6.01
st §H HE 493 (0.6]0.8/2.0]2.2/37.9/8.521.7/11.6/14.6/ 100.0 | 3.4 |48.7|47.9|6.34
=AM | 405(1.2(0.0]0.0/2.2(30.1/11.420.515.1[19.5/ 100.0 | 1.2 [43.7|55.1(6.68
A A EX| E AL} ALCH 862 |1.4/05(1.6/2.2137.19.3]18.2111.6[18.1/100.0 | 3.5 |48.6|47.9/6.40
235 83 /7 elct 370 [1.1/0.8]1.6|4.1[33.212.422.2[14.3110.3| 100.0 | 3.5 |49.7|46.8|6.27
XAl AHG|7| T At 423 [1.4]0.7/1.9]1.7|34.5/8.0(19.1010.222.5[ 100.0 | 4.0 |44.2|51.8/6.53
gs 8d =% gt 809 [1.2]0.5/1.5(33[36.7111.419.513.6/12.2 1000| 3.2 |51.4|45.4[6.27
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%
o
ofm
-

Hl

=12. 324 NYgs #2435 - Uz
HAE Ngs 243 - GEE
1
™ 9
o | = Of
g |g H e
= s - 4"’6 7"'9 It [LLN
Al 2034|8678 |0t (1~3(x+) (x)(cia)
_J'\_ OI- Ol = E) [=] ==} (=}
X -
o ch 5t
5 Ch
Chy
A 1,232|2.310.9|2.314.9143.3/14.3115.3/ 7.3 /9.4 100.0 | 5.4 |62.5/32.1|5.83
1 =F X} 571 (2.6/1.2]2.1|4.4146.1(12.6/13.8/5.4(11.7/ 100.0 | 6.0 |63.0/31.0|5.81
= Of X} 661 12.0/0.6|2.4(5.3141.0115.7/16.6/8.9|7.4|100.0 | 5.0 |62.0/33.0/5.86
.= i 703 [1.8(0.7(1.8|4.1142.4114.7116.9/9.1|8.4 | 100.0 | 4.4 |61.2|34.4|5.92
Sigm] —
- NESM | 529 (2.8[/1.1(2.8/59144.6/13.813.2/14.9(10.8/ 100.0 | 6.8 |64.3|28.9|5.72
S84 230 (3.9(1.7(1.7/3.9149.112.2112.6/ 5.2 | 9.6 | 100.0 | 7.4 |65.2|27.4|5.63
x| ME A 340 (1.2/0.3[1.5|4.7144.413.5114.4/7.1]12.9/ 100.0 | 2.9 |62.6|34.4|6.02
T SE 359 (1.9/1.1]2.5|53142.3[15.917.0/6.7|7.2| 100.0 | 5.6 |63.5/30.9|5.77
SEA 303 [2.6/0.73.3]5.3/38.9/14.916.5(9.9| 7.9/ 100.0 | 6.6 [59.1|34.3|5.85
iz A= I [1,068(2.3]109(2.2(4.7142.414.915.4/7.6|9.6|100.0| 5.4 |62.0/32.6/5.86
e 7| Et 164 [1.8/0.6 [3.0|6.1]49.410.4115.2/5.5|7.9/100.0 | 5.5 |65.9/28.7|5.68
ct2st 7py | CHE2 78 | 23 0.0/0.0(4.3]0.0[39.1/8.7 26.1/8.7[13.0 100.0 | 4.3 |47.8/47.8/6.30
o5 HICF2 3} 7HE(1,209(2.3/0.9 (2.2 (5.0 143.414.4115.1/7.3|9.3| 100.0 | 5.5 |62.8/31.8|5.82
=o1# | 334 (3.6/1.2|3.0/4.8148.8[14.4112.6/45|7.2(100.0| 7.8 |68.0/24.3|5.53
ElIEmMEESES HE 493 |1.4]/0.6|2.0|6.744.4[13.015.0/7.5[9.3|100.0| 4.1 |64.1|31.8/5.85
ZSAM2A | 405 (2.2[1.0(2.0]2.737.5/15.818.0[9.4|11.4/100.0 | 5.2 |56.0/38.8/6.07
AKX EALR} QUCH 862 11.9/0.6|1.9(4.6 144.4113.3(15.1/7.310.9, 100.0 | 4.3 |62.4|33.3|5.92
st 748 © o o
=6 o8 T oACH 370 (3.2|/1.6|3.2|5.4140.8/16.5(15.9/7.3|5.9|100.0 | 8.1 |62.7(29.2|5.64
HAal o7 AUCE 423 11.7/0.9|1.4|4.7|38.5(13.514.4/ 9.2 [15.6/ 100.0 | 4.0 |56.7|39.2|6.15
St 748 © O o
= o8\ mT oACH 809 [2.6/0.9(2.7|4.9145.914.7115.8/6.3|6.2| 100.0 | 6.2 |65.528.3|5.67
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S
Had Mz2nsg XY MAH 232t -
ks 2R | Ot | oy
orct Bl m =
o;ﬂ (75_-?61 (0135755! (DE:?_ A A%; (3+§+5?CL3H£)L
gax | 2 | o5 | 4| on (127 ®) [*F
= SIh 2iCh
| 1,232| 63 | 108 | 450 | 224 | 154 |100.0| 17.1 | 829 |3.30
A A 571 | 6.7 | 107 | 476 | 20.7 | 144 |100.0| 17.3 | 82.7 |3.25
of &t 661 | 6.1 | 109 | 42.8 | 239 | 163 |100.0| 169 | 83.1 |3.34
saa Setm 703 | 64 | 121 | 444 | 212 | 159 [1000| 185 | 81.5 (3.28
kil 529 | 62 | 9.1 | 459 | 240 | 147 |100.0| 153 | 84.7 |3.32
SEA 230 | 83 | 100 | 50.0 | 196 | 12.2 |100.0| 183 | 81.7 |3.17
x| ME L 340 | 65 | 112 | 444 | 194 | 185 [1000| 17.6 | 824 |3.32
S 359 | 50 | 109 | 457 | 231 | 153 [100.0| 159 | 84.1 |3.33
S 303 | 63 | 109 | 413 | 27.1 | 145 [100.0| 17.2 | 82.8 |3.33
=iy Y2 J1Y | 1,068| 58 | 104 | 448 | 231 | 159 [100.0| 16.2 | 83.8 |3.33
7| Et 164 | 9.8 | 134 | 47.0 | 17.7 | 122 |1000| 232 | 76.8 (3.09
cr2st 7pd | ChE2H P8 | 23 | 87 | 261 | 348 | 21.7 | 87 |100.0| 348 | 652 [2.96
o HICH23F 741,209 63 | 105 | 452 | 224 | 156 |1000| 16.8 | 83.2 {3.30
Soted 334 | 78 | 120 | 524 | 17.1 | 10.8 |100.0| 19.8 | 80.2 (3.11
St 94X BHE 493 | 57 | 120 | 452 | 221 | 15.0 [100.0| 17.6 | 824 |3.29
SMQE | 405 | 59 | 84 | 388 | 272 | 19.8 [100.0| 143 | 857 |3.46
HAEK| E AL} ALk 862 | 56 | 10.6 | 455 | 212 | 17.2 [100.0| 16.1 | 83.9 |3.34
25 8 77| gt 370 | 81 | 114 | 441 | 251 | 114 [1000] 195 | 805 [3.20
Ml xoj7|7 UL 423 | 33 | 76 | 46.1 | 206 | 225 [1000| 109 | 89.1 |3.51
25 88 77| gt 809 | 79 | 125 | 445 | 234 | 11.7 |1000] 204 | 796 |3.19
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HE1. EAR
=13. ¥4d XI2ng X[ NHH Z3 - 2
a4 M2 X[ MAH Z2t -
=Qc
1 Q
g & 9 S| s B
= _C‘)_=| 5 (EIH oto 2S in_l' _94|:|
~ |R|2(3]|4|8|6|7|8|3 (1~3D)(7~9(:.)
= ~
o|- 0| 2 E) ™)
N Ch St
o Ch
Chy
A 1,232|1.4]0.6|1.7|2.5/35.6/11.5(16.4{13.2(17.0, 100.0 | 3.7 |49.6|46.7|6.39
1 =F X} 571 (1.9(0.7]1.4]2.139.4/12.6/15.1110.2/16.6| 100.0 | 4.0 |54.1]41.9|6.25
= Of X} 661 [0.9]0.6(2.0(2.9(32.2/10.6/17.5[15.9117.4{ 100.0 | 3.5 |45.7|50.8|6.51
.= i 703 [1.4]04|1.3|2.6/34.4111.8116.1[14.8[17.2/ 100.0 | 3.1 |48.8|48.1|6.45
ol
- DESW | 529(1.3/0.9(2.3(2.5(37.111.2/16.8/11.2]16.8/ 100.0 | 4.5 |50.7|44.8|6.30
S8 230 [2.210.9(2.2|2.2/39.6/13.5(16.1/8.7 [14.8/ 100.0 | 5.2 |55.2|39.6/6.13
x| ME AL 340 [0.9]0.3]0.3[3.2[34.4/11.2/15.6/12.421.8/ 100.0 | 1.5 |48.8|49.7|6.58
T SE 359 (1.4[0.6]1.9]1.9[38.2/12.0115.0113.4/15.6/ 100.0 | 3.9 |52.1|44.0|6.31
SEA 303 [1.3[1.0]2.6]2.6(30.7/9.9(19.1117.5/15.2| 100.0 | 5.0 [43.2|51.8|6.45
iz = 7P (1,068/1.4/0.7|1.5]2.4[35.4/11.5[16.3[13.5(17.3/ 100.0 | 3.6 |49.3|47.1|6.41
© 7| Et 164 |1.210.6(3.0(3.0[36.6/11.6/17.1[11.6[15.2/ 100.0 | 4.9 |51.2(43.9|6.26
ct2st 7py | CHE2 7HE | 23 0.0]0.0(4.3]43(21.721.7117.417.413.0100.0 | 4.3 |47.8/47.8/6.48
ol HICF23} 7HE(1,209|1.4(0.7|1.7|2.5/35.8/11.3[16.4{13.2[17.1/ 100.0 | 3.7 |49.6|46.7|6.39
=o1# | 334 (1.8/1.5/1.5(3.9/40.7[14.4113.2/19.3(13.8/ 100.0 | 4.8 {59.0|36.2|6.05
ElIEmMESES HE 493 [1.0/0.6(2.4|2.0/38.3[11.2/15.2[13.4{15.8/ 100.0 | 4.1 [51.5|44.4|6.32
ZSAM2A 1 405(1.5/0.0[/1.0(/2.027.9/9.6[20.5/16.3)21.2/ 100.0 | 2.5 {39.5|58.0|6.75
AKX EALR} ALt 862 [1.6/0.3]1.5(2.6(35.4111.416.7]12.1118.4/ 100.0 | 3.5 |49.3|47.2|6.42
235 g8 77| o 370 |0.8]1.4]2.212.435.911.915.7115.913.8/ 100.0 | 4.3 [50.3/45.4/6.32
HA A0]7|7 UCH 423 11.7/10.211.9/0.733.6/12.116.811.3[21.7/ 100.0 | 3.8 |46.3|49.9|6.55
235 33 /% oACH 809 [1.210.9]1.6(3.536.611.216.2[14.2[14.6/ 100.0 | 3.7 |51.3|45.0/6.30
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AH 2R X3 HAH Zet - UHFE
Had rznsg X HH 23 -
S
1
k=3 (47_('_-' 9 =Rl
o Si (oj E—’—.EI_ BE|2E| oF
" & Al
% || 234 6 8 | =) | =) | 2)|(E)
%j ch
ch
A 1,232|2.6/0.93.3(6.141.1]12.4 8.0{10.5/100.0| 6.8 {59.6(33.6|5.83
=EN; 571 /3.5/0.7|3.5|5.8 12.1 6.1[12.4/100.0| 7.7 |60.1|32.2|5.79
o X 661 |1.8/1.1/3.2|6.4 12.7 9.5|8.8(/100.0| 6.1 {59.2|34.8(5.86
=9 703 |1.8/1.0(2.6|4.1 11.7 9.7[10.2/ 100.0 | 5.4 |57.0|37.6|5.97
k= 529 |3.6/0.8|4.3|8.7 134 5.7 10.8/ 100.0 | 8.7 [62.9/28.4|5.63
SH4 230 |3.0/0.4|5.2|26 8.7 6.5(10.4/ 100.0| 8.7 {60.9]30.4(5.70
ME AL 340 [1.8/0.9|2.1|4.7 13.2 6.814.7)100.0 | 4.7 [58.2|37.1/6.05
S84t 359 |2.8/1.4(3.1|6.7 14.2 9.718.6|100.0| 7.2 |60.7|32.0(5.77
S 303 /3.0/0.7|3.6|96 12.2 8.3(7.9(100.0| 7.3 |58.7(34.0|5.74
YED I (1,068(2.6/09(2.9|6.3 13.1 8.3/10.5/100.0| 6.5 |59.5/34.1|5.85
7| Et 164 0.6(6.14.9 7.9 5.5[10.4/ 100.0| 9.1 |60.4/30.5|5.66
x | Ch2=t 78 | 23 0.0 /0.0 /0.0 34.821.7/30.4/4.38.7{ 100.0 | 0.0 [56.5/43.5/6.30
HICHE 3} 747(1,209]|2.6/0.9 (3.4 (6.2 12.2 8.0/10.5/100.0| 6.9 |59.6/33.4(5.82
SotelE | 334 0942|438 11.7 5.1|7.8/100.0| 7.5 |66.5/26.0|5.59
HE 493 1.0|3.2|75 13.2 7.1[11.4/100.0| 6.3 [59.8|33.9/5.86
Sa# | 405 07(27|54 12.1 11.4/11.6/100.0| 6.9 |53.6/39.5(5.99
| £ AFQ} ULk 862 0.7/29|58 115 8.0(12.5100.0| 5.8 {59.4|34.8(5.92
8Y 7| ot |370 (3514 |43|68386146(17.37.8/5.7/100.0| 9.2 [60.0/30.8(5.62
0] 7| 2 UCH 423 0.5(2.8(45 10.2 8.0[17.5/100.0| 5.4 [54.1/40.4|6.14
L ALt 809 1.1/3.6/6.9 13.6 7.9/6.8|100.0| 7.5 [62.4/30.0|5.66
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HE1. S48

T14. HAE ARt Y 2HE - QX

HAE Aoy =E - QIX| =
SEAH T (013|_x-| (|:|HSO %%;flé Oltﬂt L—SL:'_%L
gocy | E2| (g2 ()W
UL UL

b 1,232 7.0 | 122 | 459 | 21.8 | 13.1 |100.0| 19.2 | 80.8 |3.22
M A 571 | 7.2 | 121 | 490 | 193 | 124 [100.0| 193 | 80.7 |3.18
of &} 661 | 6.8 | 123 | 431 | 241 | 13.8 |1000| 19.1 | 809 |3.26
o St 703 | 74 | 141 | 452 | 216 | 117 [100.0| 21.5 | 785 [3.16
DEstW | 529 | 64 | 96 | 46.7 | 221 | 151 |100.0| 16.1 | 83.9 (3.30
S5 230 | 7.8 | 83 | 526 | 196 | 11.7 |100.0| 16.1 | 83.9 |3.19
x| M AL 340 | 85 | 124 | 459 | 194 | 13.8 |100.0| 209 | 79.1 |3.18
S 359 | 5.0 | 139 | 451 | 212 | 148 |100.0| 189 | 81.1 |3.27
SR 303 | 69 | 129 | 416 | 27.1 | 11.6 |100.0| 19.8 | 80.2 |3.23
e YED JHY (1,068 65 | 121 | 457 | 224 | 13.4 [1000| 185 | 815 |3.24
7| Et 164 | 104 | 128 | 470 | 183 | 11.6 |100.0| 23.2 | 76.8 |3.08
chest spy | BHESE7PE | 23 | 13.0 | 87 | 39.1 | 261 | 13.0 [100.0| 21.7 | 783 |3.17
o HICHESH 749 1,209 | 6.9 | 122 | 46.0 | 21.8 | 13.2 |100.0| 19.1 | 80.9 |3.22
SOt # 334 | 81 | 150 | 509 | 168 | 9.3 |100.0| 23.1 | 769 |3.04
St 94X R 493 | 63 | 126 | 483 | 205 | 124 [100.0| 189 | 81.1 |3.20
S49H | 405 | 69 | 94 | 388 | 277 | 173 |100.0| 163 | 83.7 |3.39
A K| E AR} ULCE 862 | 63 | 114 | 459 | 212 | 152 [1000| 17.6 | 824 (3.28
25 38 77| gt 370 | 86 | 141 | 457 | 232 | 84 [1000]| 227 | 773 [3.09
Al &oj7|3 AL 423 | 35 | 78 | 473 | 213 | 20.1 [1000| 11.3 | 88.7 (347
2s 88 77 ATt 809 | 88 | 145 | 451 | 221 | 95 [1000| 232 | 76.8 (3.09
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i =
ol
2
ofd
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214. H4d AlZHtHY &5 - F2k
HAE A2 &5 - 32%
71c-| 9 =8
g |4 s o Blus | on
& |2 & pl B I CRCR T
L |212|3]415/6]718|5 A) |(7~9 (&)
T | 8} 0| [=] (17(:3 )
X| Ch &t =)
o ch
Ch
A 1,232/1.1/0.7|1.9(3.7|35.8/8.4 [18.412.3117.7/ 100.0 | 3.7 |47.9|48.4|6.39
i =N 57111.9/1.1|2.5(4.0(39.6/7.7(17.0/9.3 [17.0, 100.0 | 5.4 |51.3/43.3|6.18
°= Of X} 661 |0.5/0.5|1.4|3.3[32.5/9.1/19.7114.8/18.3/ 100.0 | 2.3 |44.9/52.8/6.57
saa et 703 |1.0/0.4|1.7|3.8[33.3/8.821.8/11.917.2/ 100.0 | 3.1 |45.9/50.9|6.45
DSst | 529 (1.3/1.1/2.1|3.4(39.17.9(14.0012.7118.3/ 100.0 | 4.5 |50.5(45.0(6.31
SR 230 (1.7[1.7/1.3]3.039.1/7.8 20.9 7.4 [17.0, 100.0 | 4.8 |50.0|45.2|6.22
x| ML 340 [0.9/0.6(1.2|3.5(37.6/9.4(16.2]12.4118.2| 100.0 | 2.6 |50.6/46.8|6.41
S 359 |0.8/0.6(2.2(4.2(36.5/9.2(17.5[10.9/18.1 100.0 | 3.6 |49.9|46.5|6.36
S 303 [1.3/0.3|2.6|3.6{30.4/6.9]20.117.5(17.2 100.0 | 4.3 |40.9/54.8|6.53
Sz sy YED JHY 1,068(1.1]0.71.7|3.535.09.2[19.0[12.2[17.6/ 100.0 | 3.6 [47.7|48.8|6.41
7|E} 164 (1.2]0.63.0|4.940.9 3.7 [14.6[12.8[18.3[ 100.0 | 4.9 |49.4|45.7|6.27
ct2st 7py | CHE2 78 | 23 0.0]0.0(0.0(4.3(26.1/8.7 21.7]17.421.7/ 100.0 | 0.0 |39.1{60.9(6.87
o HICHE S 7479(1,209] 1.2 0.7 1.9|3.6 36.0,8.4 [18.4{12.2117.6/ 100.0 | 3.8 |48.1|48.1/6.38
St | 334(2.1(1.2|2.1/3.9/46.1/7.5[14.4/9.9(12.9/ 100.0 | 5.4 |57.5|37.1(5.97
SIEMEESES HE 493 |0.6(0.6(2.0|4.3[37.1/8.9[18.5[11.2]16.8/100.0 | 3.2 [50.3|46.5|6.34
S49# | 405|1.0/0.5(1.5[2.725.7/8.6[21.7]15.622.7/ 100.0 | 3.0 {37.0/60.06.79
A EK| E AL} ULk 862 |1.4/0.3|1.6|3.536.7/7.517.6(11.420.0, 100.0 | 3.4 |47.7|49.0|6.43
25 8Y 77 s 370 |0.5(1.6|2.4|4.1[33.8/10.520.314.3[12.4/ 100.0 | 4.6 |48.4|47.0/6.28
Ml &0 7|7 UCH 423 11.2]0.7(2.1]2.6[33.3/8.0(19.1/11.121.7/100.0 | 4.0 [44.0/52.0|6.53
B ALt 809 |1.1]0.7]1.74.2|37.1/8.7[18.012.915.6/ 100.0 | 3.6 {49.9/46.5|6.31
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HE1. S48
T14. HAE AR Y 25 - UHEE
Had Azt &5 - BHER
1
x 9
25 : o Eug oz oy
A 23 4 (g 6|7 8|0t A (113(11)6(35)9 J'(é’::;
* ;T ol = B | B
= Ch ot
éj Ch
Ch
A 1,232|1.9/1.6|3.2|6.3141.3[12.7/15.8/8.4 | 8.7 | 100.0 | 6.8 |60.3/32.9|5.79
- =N 571 (2.3/1.4|2.8|5443.4[13.1113.37.4{10.9 100.0 | 6.5 |62.0/31.5|5.81
°= Of Xt 661 (1.7/1.8|3.6|7.0(39.5[12.418.0/9.2 | 6.8 | 100.0 | 7.1 |58.9/34.0|5.77
S a3t 703 [1.7/1.3|2.6|5.5/40.5[12.118.5/9.8 | 8.0| 100.0 | 5.5 |58.2|36.3|5.89
DSSW | 529 23]2.1]4.2|7.2142.313.6/12.3/6.4[9.6|100.0| 8.5 [63.1/28.4|5.65
SEA 230 (3.0{2.2|2.2|5.2|45.7[12.2[12.6/ 7.8 | 9.1| 100.0 | 7.4 |63.0|29.6|5.69
Sz x| ME A 340 [1.5/1.2|1.2|6.8142.9[12.1/15.6/8.210.6/ 100.0 | 3.8 |61.8/34.4|5.92
SEA 359 [1.4/1.1|56|6.138.4[13.6/17.3/7.5|8.9| 100.0 | 8.1 |58.2|33.7|5.80
FEA 303 |2.3/2.3/3.6|6.6[39.6[12.9116.8/9.9|5.9| 100.0 | 8.3 |59.1|32.7|5.70
S YED JHY |1,068(1.8/1.6(3.6(6.2140.5(13.1/16.0/8.7 | 8.5| 100.0 | 6.9 [59.8|33.2(5.80
7| E} 164 3.0/ 1.8(1.2|6.7146.3]10.414.6/6.1 | 9.8 100.0 | 6.1 |63.4/30.5(5.70
ct2st 7py | CHE2 78 | 23 0.0/0.0(0.0]0.030.434.817.4/8.7 8.7 100.0 | 0.0 |65.234.8/6.30
o H|CH2 3t 7+4(1,209(2.0{ 1.7 [3.3] 6.4 |41.5[12.3/15.8/8.4 | 8.7 | 100.0 | 6.9 |60.2|32.8|5.78
St | 334(2.1/1.8/3.9]4.8/49.7111.712.0/7.2|6.9| 100.0| 7.8 |66.2|26.0(5.58
SIgMEESES 28 493 (14/1.2|3.0|7.543.014.2/14.4/8.1|7.1100.0 | 5.7 |64.7|29.6|5.73
SAQIA | 405 |2.5(2.0(3.0(5.9/32.3[11.920.7/ 9.6 [12.1/ 100.0 | 7.4 |50.1|42.5|6.03
HAEK S AL} UCH 862 |1.7|1.4|2.0|5.8/42.3[13.015.1/8.4 [10.3/ 100.0 | 5.1 |61.1|33.8|5.89
28 88 ®%| gt | 370 |24]226.2(7.3[389112.217.6/84]4.9] 1000 [10.8]58.4|30.85.56
KAl AHG|7|T ULCH 423 |17/14|2.4|4.7 39.510.417.3/ 7.8 [14.9/ 100.0 | 5.4 |54.6/40.0/6.08
28 88 *%| gt | 809 |21]1.7|37]7.01423114.0015.1/87]54] 1000 75 [63.3]29.2|5.64
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=15. &g %Ed X|E - AX
et HEY X2 - X
SER 1 (qix-l (|:|HSO %%;flé OLtEE L—SL:'_%L
@), T2 4 | w A 178 (34445 o
o @1 ot (1+23) &)
ALCH ALH

b 1,232 81 | 133 | 474 | 205 | 106 |100.0| 214 | 786 |3.12
o =R 571 | 88 | 121 | 480 | 193 | 11.9 |100.0| 20.8 | 79.2 |3.13
of &} 661 | 7.6 | 144 | 469 | 216 | 95 |1000| 21.9 | 78.1 |3.11
saa Setm 703 | 83 | 147 | 467 | 206 | 9.8 [1000| 229 | 77.1 [3.09
nsstn 529 | 79 | 115 | 484 | 204 | 11.7 |100.0| 19.5 | 805 |3.16
S5 230 | 96 | 91 | 513 | 187 | 11.3 |1000| 187 | 81.3 |3.13
x| M AL 340 | 94 | 126 | 435 | 209 | 13.5 |100.0| 22.1 | 779 |3.16
S 359 | 64 | 156 | 499 | 192 | 89 |100.0| 22.0 | 78.0 |3.09
SEA 303 | 76 | 145 | 459 | 231 | 89 |100.0| 221 | 77.9 |3.11
=8y ¥ED 7Y (1,068 7.7 | 13.1 | 475 | 209 | 109 |100.0| 20.8 | 79.2 |3.14
7| Et 164 | 11.0 | 146 | 470 | 183 | 9.1 |1000| 25.6 | 744 |3.00
cr2st spd | ChE2H P8 | 23 | 87 | 261 | 304 | 174 | 174 |100.0| 348 | 652 [3.09
o HICHE3E 7448|1209 | 81 | 131 | 47.7 | 20.6 | 10.5 [100.0| 212 | 78.8 |3.12
SOt # 334 | 84 | 192 | 521 | 132 | 7.2 |100.0| 275 | 725 [2.92
St 94X HE 493 | 75 | 126 | 503 | 199 | 9.7 [100.0| 20.1 | 79.9 |3.12
S4H | 405 | 86 | 94 | 40.0 | 274 | 146 |100.0| 18.0 | 82.0 |3.30
HA X EALR} ULCE 862 | 7.4 | 12,6 | 468 | 20.5 | 12.6 [100.0| 20.1 | 79.9 (3.18
25 338 77 aict 370 | 97 | 149 | 489 | 205 | 59 |[100.0| 246 | 754 |2.98
Ml xoj7|7 AL 423 | 47 | 83 | 470 | 232 | 16.8 |100.0| 13.0 | 87.0 |3.39
25 82 77| gt 809 | 99 | 159 | 476 | 192 | 74 [1000| 258 | 742 |2.98
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HE1. EAR
=15. [H&E =4 K& - 3/
Cfate SbEs K@ - 3%
1 =<
o | 9 s e
S _('5=| 5 (DH 0|-X| St 7o
Ct | = S o;gEo or | 9T
= s (&2 T A |55 d~6 B (BT
N|2l2|3|4|8|6|7 8|3 2w 79| )
T |8 0| Q (1~3 =)
x| ch &t )
ik Ch
Ch
M| 1,232|1.110.9|1.4|3.7[36.0/10.1/16.5/12.1/18.2| 100.0 | 3.4 [49.8/46.8|6.38
- Xt 571 (1.9/1.4]1.8|3.541.2[10.5[14.2/ 7.4(18.2/ 100.0 | 5.1 |55.2(39.8/6.15
= Of X} 661 10.5/0.5|1.1]3.9(31.5/9.8(18.5/16.2/18.2 100.0 | 2.0 [45.2|52.8/6.59
om st 703 |1.0/0.3|1.6|4.4(32.0/10.8/19.1/12.5/18.3/ 100.0 | 2.8 [47.2|149.96.48
=il —
- nSstm | 529 [1.311.7(1.1]2.841.2/9.3(13.0/11.5/18.0, 100.0 | 4.2 {53.3|42.5/6.26
S5 230 (1.7/1.7]0.0|3.0143.5/9.117.4/9.1 [14.3[100.0 | 3.5 |55.7|40.9|6.13
Sz x| MEAE 340 [0.9/0.3]2.1|3.534.7/12.1[14.4/12.9/19.1/ 100.0 | 3.2 |50.3|46.5|6.44
o SEA 359 |1.1/0.6|1.9|4.7 [35.4/9.5[17.0[13.4/16.4/ 100.0 | 3.6 |49.6/46.8|6.35
ZEA 303 |1.0/1.3]1.0/3.3[32.3]9.6(17.5[11.922.1/ 100.0 | 3.3 |45.2|51.5|6.55
S U= JHE (1,068[1.110.9(1.2|3.7(35.4/10.6/17.2/11.7/18.2| 100.0 | 3.3 |49.6|47.1(6.39
e 7| E} 164 [1.2/0.6(2.4|4.3[39.6/7.3[11.6/14.6/18.3/ 100.0 | 4.3 |51.2|44.5|6.32
ct2st 7py | CHE2F 7H8 | 23 0.0/0.0]0.0|0.0 34.8/13.0(17.4 4.3 30.4 100.0 | 0.0 |47.8|52.2|6.83
o5 H|CFHE S 74&(1,209/1.2(0.9 | 1.4 3.8 36.0[10.1[16.5[12.2[17.9/ 100.0 | 3.5 |49.9|46.7|6.38
=& | 334 (2.1/1.2|1.5|5.143.7[12.0110.8/9.6 [14.1/ 100.0 | 4.8 |60.8(34.4|5.99
st MA HE 493 |0.6/0.8|1.8|4.5[37.7/8.9(16.4[12.2/17.0, 100.0 | 3.2 |51.1|45.6|6.33
=AM | 405 [1.0/0.7]0.7|1.7[27.4/10.121.2/14.123.0, 100.0 | 2.5 [39.3/58.3|6.77
A EK| E AL} ALCH 862 1.2/0.3]1.5|3.6(37.2/19.9(16.1/11.4/18.8/ 100.0 | 3.0 [50.7|46.3/6.39
235 83 /7 elct 370 |1.112.2]1.1]4.1[33.0[10.8/17.3(13.8/16.8/ 100.0 | 4.3 (47.8|47.8|6.37
Ml xoj7|7 At 423 1.210.7(1.9]3.5(32.4[10.2/17.0[11.6[21.5| 100.0 | 3.8 |46.1/50.1|6.51
g5 38 77| o 809 [1.1/1.0]1.1|3.837.8/10.1/16.2112.4116.4 100.0| 3.2 |51.8]45.0(6.32
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CHAY StEd K@ - ISR
1
™ 9
g | & 5 (O =at ob=| g
ct ot (= S 2 = |2&|UE 913
= T 7 _|(4~6|(7~9 B
Al 2034|8678 |0t (1“3(7:4) (x)(c;H)
A o|- 7~ (=] = [ |
T O| —7_|E |:|)
A ch ot
% —_
5 Ch
Ch
M| 1,232(2.911.6|3.2|6.142.5/12.3/13.4/ 8.0 [10.0, 100.0 | 7.7 |61.0|31.3|5.74
- Xt 571 |4.0/1.9(3.2|4.744.811.6110.7| 7.5|11.6/ 100.0 | 9.1 [61.1/29.8|5.69
= Of X} 661 |2.0/1.4(3.2|7.3]40.5/13.0[15.7/8.3|8.6| 100.0 | 6.5 [60.8/32.7|5.78
.o st 703 |2.0|1.4|3.0|6.3]40.4/11.7/14.8/10.4/10.1/ 100.0 | 6.4 [58.3/35.3|5.88
ol
- DnS5stm | 529 |4.2(1.9(3.4(5.945.4/13.2111.5/4.7 9.8 100.0| 9.5 |64.5(26.1|5.55
S5 230 |4.3|1.3]1.3|3.5(51.7/10.0{10.4| 7.0 |[10.4/ 100.0 | 7.0 [65.2|27.8|5.66
Sz x| ME A 340 |1.2/1.5]3.5|6.8(39.7/12.6/12.6/ 9.7 [12.4/ 100.0 | 6.2 |59.1|34.7|5.94
T SEA 359 |2.8/1.4(3.9(6.4141.2[12.313.9/9.2(8.9|100.0 | 8.1 |59.9|32.0|5.74
SEAM 303 |4.0/2.3/3.3/6.9]40.3[13.9/15.8/5.3|8.3|100.0 | 9.6 [61.1/29.4|5.58
S ¥ 74 (1,068(3.0/1.5(3.2]6.2141.812.4/13.7/8.3[10.0, 100.0 | 7.7 |60.3|32.0|5.76
e 7|E} 164 |2.4]2.4(3.0|5.5147.6/12.2[11.6/5.5|9.8 | 100.0 | 7.9 |65.2(26.8|5.62
ct2st 7py | CHE2 78 | 23 {0.0/0.0(0.0]0.0 47.8/0.0 21.7/13.0[17.4 100.0 | 0.0 |47.8(52.2|6.52
ol H|CF2 S} 74&(1,209|3.0( 1.7 [3.2 6.2 142.4/12.6/13.2 7.9|9.8 | 100.0 | 7.9 |61.2|30.9|5.72
=o1# | 334 (2.7/2.1/3.0/6.049.7[14.1/9.3(6.0|7.2[100.0| 7.8 |69.8]22.5|5.50
ElIEmMEESES HE 493 (1.8/2.0(4.1(7.7144.211.014.2/6.3|8.7|100.0| 7.9 |62.9/29.2(5.64
MM | 405 |44|07(2.2|4.2(34.6/12.6/15.8/11.6/13.8 100.0 | 7.4 [51.4|41.2|6.06
HAEK S AL} ALCH 862 [1.9/1.0|3.5|5.243.7/12.4{12.4/ 8.2 |11.6/ 100.0 | 6.4 [61.4/32.3/5.86
25 d8 77| g 370 |5.4/3.0|2.4]8.139.712.2115.71 73] 6.2 100.0 [10.8]60.0|29.2|5.47
Ha xoj7|7 ALCH 423 (17/2.1|2.8|4.7140.9/9.9|12.5/9.7 [15.6/ 100.0 | 6.6 |55.6|37.8/6.03
25 38 #%| o 809 |3.6/1.4]3.3|6.8143.413.6113.8 7.0/7.0| 1000 | 8.3 |63.8]27.9/5.59
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HAH1. S48
F16. S2d Roligrd Hd R ESXY Z3t - X
Had Foflatd 7iMd 9 ESX|Y
A3} - QX = o
g:l-xl. 1 3 5 EE_:.)_f!_ Oj_tﬁit SE
[SN=] A . — huE)|
= | (®s =% @2 | AT E 3age5 B
o X 2 = 4 & (1+2%) &) (B)
= | oF oF [ [
in} i
Zotch S =
UACH ALCH
A 1,232| 6.3 95 | 437 | 232 | 174 |100.0| 157 | 843 [3.36
o =F XL 571 | 6.5 75 | 452 | 215 | 19.3 |100.0| 14.0 | 86.0 (3.40
= of X 661 | 61 | 112 | 424 | 247 | 157 [1000| 172 | 828 |333
oo el 703 | 6.0 | 122 | 410 | 242 | 166 |100.0| 182 | 81.8 |3.33
S1aT
- nsstn 529 | 66 | 59 | 473 | 219 | 183 [100.0| 125 | 87.5 |3.40
S84 230 | 78 | 52 | 504 | 196 | 17.0 [100.0| 13.0 | 87.0 |3.33
ME A 340 | 71 94 | 379 | 256 | 20.0 |100.0| 16.5 | 83.5 (3.42
HEXY
S8 359 | 47 | 117 | 432 | 231 | 17.3 |100.0| 164 | 83.6 |3.36
S8 303 | 59 | 102 | 455 | 234 | 149 [100.0| 16.2 | 83.8 |3.31
=iy = I (1,068 58 | 9.6 | 43.0 | 235 | 182 |100.0| 154 | 84.6 (3.39
e 7| Et 164 | 9.1 9.1 | 482 | 213 | 122 |1000| 183 | 81.7 [3.18
cr2st spy | CHESEZPE | 23 | 13.0 | 174 | 39.1 | 174 | 13.0 [100.0| 304 | 69.6 |3.00
ol HICFE2E 7H") 1,209 | 6.1 93 | 438 | 233 | 17.5 |100.0| 155 | 84.5 |3.37
Sot¢ A 334 | 72 | 138 | 449 | 19.2 | 15.0 [100.0| 21.0 | 79.0 |3.21
st A HE 493 | 57 99 | 458 | 22.7 | 15.8 |100.0| 15.6 | 844 |3.33
oA 405 | 6.2 54 | 400 | 27.2 | 21.2 |100.0| 11.6 | 884 |3.52
HAEK| E AL} ACE 862 | 57 | 88 | 441 | 22,7 | 187 |100.0| 145 | 855 [3.40
23 83 /% eict 370 | 7.6 | 111 | 427 | 243 | 143 |100.0| 186 | 814 |3.27
Ml xoj7|7 ALt 423 | 40 | 69 | 416 | 262 | 21.3 |100.0| 109 | 89.1 [3.54
235 33 /7 9iCt 809 | 74 | 109 | 447 | 216 | 153 [1000]| 183 | 817 327
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=16. H2d goljatd 7|M 9 BESX|H Lot - FE
Had fofiatd 7/iM 2 B X
Zst - FRE
1 Q
g @& 9 a7, o[22,
Iél- _('5=| 5 (DH ?‘tg He °|_|' _91|:|
= O - ~ TI- 1
~ |R|2|3|4|8|6|7|8|3 (1~3‘:')(7~9(':')
5 ~
o|- 0| Q E) ™)
N C St
o C})
Chy
A 1,232|2.0/0.4(2.0/3.6(31.7/9.3[16.4{12.3]22.3/ 100.0 | 4.5 |44.5/51.1(6.51
. =F X} 571 (3.5/0.5]2.1(3.0/36.1/8.8|14.2(9.1 [22.8/ 100.0 | 6.1 |47.8|46.1|6.33
= Of X} 661 [0.8/0.3(2.0/4.1[27.8/9.7 18.3[15.1/21.9/ 100.0 | 3.0 |41.6|55.46.67
.= i 703 [1.7/0.6(1.7|3.629.2/ 9.5 |16.6(14.4/22.8/ 100.0 | 4.0 |42.2|53.8/6.61
ol
- DESW | 529 (25/0.2(2.5/3.6[35.0/8.9/16.119.621.7/ 100.0 | 5.1 |47.4|47.4|6.38
S84 230 (3.0/0.4(2.6/3.036.1/7.4(17.811.7/17.8/ 100.0 | 6.1 |46.5|47.4|6.28
x| ME A 340 (1.2/0.9]1.2|5.0[30.3[10.0114.7[10.9]25.9/ 100.0 | 3.2 |45.3|51.5/6.61
T SEA 359 (2.2/0.3]2.2(3.1[32.9/9.216.4[12.021.7/ 100.0 | 4.7 |45.1|50.1|6.48
SEA 303 (2.0/0.0]2.3(3.0/28.4/9.9/17.2[14.922.4 100.0 | 4.3 |41.3|54.56.63
iz = JHE 1,068(2.1/0.4(1.8(3.5[30.7/9.7(16.8[12.422.8 100.0 | 4.2 [43.9/51.9/6.55
e 7| Et 164 |1.8/0.6 (3.7 |4.3|37.8/6.1(14.0112.2/19.5 100.0 | 6.1 |48.2|45.7|6.28
ct2st 7py | CHE2F 7HE | 23 0.0/0.0]4.3|0.030.4/17.421.7/13.0[13.0 100.0 | 4.3 |47.8|47.8|6.43
o5 HICF2 3} 7HE(1,209(2.1]0.4|2.0|3.6 [31.7/9.1|16.3[12.3]22.5/ 100.0 | 4.5 |44.4|51.1|6.52
=o1# | 334 (3.6/0.3]2.1]3.6/36.2]12.0112.6/9.6 [20.1/ 100.0 | 6.0 |51.8|42.2|6.23
ElIEmMEESES HE 493 (1.4]/0.6(2.4]4.1/34.9/8.1(15.4113.219.9 100.0 | 4.5 |47.1|48.5|6.42
SAQH | 405 |1.5/0.2(1.5|3.0[24.0,8.4(20.7/13.627.2| 100.0 | 3.2 [35.3/61.5/6.87
AKX EALR} ALt 862 [1.9(0.3(1.5/4.131.9/9.9|15.4/11.9123.1/ 100.0 | 3.7 |45.8/50.5|6.53
st 748 © o
=6 o8 T eict 370 (2.4/0.5[3.2|2.4[31.1/7.8/18.6[13.2]20.5/ 100.0 | 6.2 |41.4|52.4|6.47
Ha xoj7|7 ALCH 423 11.4]0.7[1.7]2.6/30.7[10.414.2/11.8[26.5{ 100.0 | 3.8 |43.7|52.5|6.66
St 748 © O
= o8\ mT eiCt 809 [2.3/0.2(2.2|4.132.1/8.717.6/12.6/20.1| 100.0 | 4.8 |44.9|50.3|6.44
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o
ofm
-

Hl

= QofjstAd M 9 HSX|Q A3 - aEE
Had gofetd M ¥ 2HoX|@
43t - HEC
1
o (xl_-l 9 =
S | 5 I G ET TR e
= |0 = ~ ~0o|m™
x| 5 = R T e o ¥
A |23 |4|E|6|7 |88t =y | =) | D) |[(B)
T |5} ol = ™)
X by
o ch 5t
5 ch
Ch
A 1,232|3.8/2.1|4.1|5.6 38.4{11.915.3/ 7.8 [11.0| 100.0 | 10.0{55.8|34.2|5.75
Eh Xt 571 4.7/2.3|3.5|4.4141.0/9.3 13.1/6.7 [15.1 100.0 [ 10.5|54.6 | 34.9|5.79
Of xt 661 3.0/2.0|4.5(6.7[36.2/14.117.2/8.8 | 7.6| 100.0 | 9.5 |56.9(33.6|5.71
=stw | 703 |3.3]2.4(3.0|5.136.8/12.117.1/9.8 [10.4 100.0 | 8.7 |54.1|37.3|5.86
15s@ | 529 |45/1.7|556.2 40.5/11.5/13.0/ 5.1 [11.9/ 100.0 | 11.7|58.2|30.1|5.60
S25A 1230 |43/1.3]3.5|2.6146.18.7(16.1/6.1[11.3/100.0| 9.1 [57.4/33.5|5.73
M E A 340 [2.6/2.1|3.5|5.6 34.7]13.214.7/ 9.4 [14.1100.0 | 8.2 |53.5/38.2|5.98
S5 359 [3.9/1.9|5.8|5.3[37.3[12.3]14.2/ 8.6 [10.6/ 100.0 |11.7|54.9/33.4|5.70
SEA 303 |4.6/3.0/3.0/8.3[38.0[12.2/16.8 6.3|7.9| 100.0 | 10.6|58.4/31.0|5.55

02
1T
o
d
o2

1,068/4.0/1.94.2|5.937.6/12.1|114.8/ 8.3 |11.1/ 100.0 | 10.1|55.6|34.3|5.75

7| E} 164 [2.4]3.7(3.0|3.7143.3]10.4/18.9/ 4.3 [10.4/ 100.0 | 9.1 |57.3|33.5(5.72

x | CHE3t 78 | 23 43]0.0]4.3]0.034.8[13.026.1/4.3|13.0 100.0 | 8.7 |47.8/43.5/6.04
H|CH2 3t 7+7(1,209(3.8] 2.2 [4.1|5.7(38.5[11.8/15.1) 7.911.0| 100.0 [10.0|56.0|34.0|5.74

St | 334(3.0/1.8|3.6|4.5/45.2112.6/13.8/6.0|9.6|100.0| 8.4 [62.3|29.3(5.67

HE 493 [34/2.2(4.9(5.3140.4/11.014.0,8.7 |10.1 100.0 |10.5|56.6|32.9(5.70

SAQIE | 405 |4.9]2.2(3.5/6.930.4/12.3[18.3/8.1 13.3/ 100.0 | 10.6|49.6|39.8|5.86

| £ ALO} ULk 862 |3.1/2.1/3.7|5.8(38.3[12.114.5/ 7.4 [13.0, 100.0 | 8.9 |56.1|34.9|5.83
BY RF| 9ot [370 |54]/22(49(5.1386/11.4173/86 65| 100.0(12.4/55.1(32.4]5.55
X0y 7| 7 UCH 423 |3.5/1.4/3.8|4.536.4110.4/13.5/9.517.0 100.0 | 8.7 [51.3|40.0|6.03
L ATt 809 |4.0/2.5|4.2|6.2(39.412.6(16.3/6.9 | 7.9| 100.0 [10.6|58.2|31.1|5.60
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£17. 4E M Hubxol Qx| e
el B AREE fli=
SEAH 1 013|_x+ nHS ° %%;}(lé OEEE b
gemy (22| |gm | () P
ALCH ch

b 1,232 | 84 | 224 | 485 | 147 | 59 |100.0| 30.8 | 69.2 |2.87
M A 571 | 81 | 20.1 | 497 | 135 | 86 |100.0| 282 | 71.8 |2.94
of &} 661 | 88 | 244 | 475 | 157 | 3.6 |1000| 33.1 | 66.9 |2.81
saa Setm 703 | 84 | 235 | 488 | 144 | 50 [1000| 319 | 68.1 [2.84
DEstW | 529 | 85 | 210 | 482 | 151 | 7.2 |100.0| 295 | 70.5 [2.91
SEA 230 | 91 | 152 | 53.0 | 161 | 6.5 |100.0| 243 | 757 |2.96
Sz x| M AL 340 | 85 | 206 | 491 | 126 | 9.1 |100.0| 29.1 | 709 |2.93
S 359 | 81 | 267 | 443 | 164 | 45 [100.0| 348 | 652 |2.82
SEA 303 | 83 | 248 | 495 | 139 | 36 |100.0| 33.0 | 67.0 |2.80
=8y ¥ED 74Y [1,068| 85 | 208 | 486 | 158 | 63 |100.0| 29.3 | 70.7 [2.91
7| Et 164 | 79 | 329 | 482 | 73 | 3.7 |100.0| 409 | 59.1 |2.66
chest spy | CHESE 7PE | 23 | 13.0 | 174 | 478 | 174 | 43 |1000| 304 | 69.6 |2.83
o HICHESH 741,209 | 84 | 225 | 486 | 146 | 6.0 |100.0| 309 | 69.1 |2.87
SOt # 334 | 99 | 260 | 494 | 96 | 51 |100.0| 359 | 64.1 |2.74
St 94X HE 493 | 79 | 221 | 509 | 142 | 49 [100.0| 30.0 | 70.0 |2.86
SHQIH | 405 | 79 | 198 | 449 | 195 | 7.9 |100.0| 27.7 | 72.3 |3.00
A K| E AR} ULCE 862 | 70 | 189 | 513 | 153 | 7.5 [100.0| 259 | 74.1 (2.98
25 338 77 ALk 370 | 119 | 305 | 422 | 132 | 22 |100.0| 424 | 57.6 |2.63
Ml xoj7|7 AL 423 | 54 | 13.0 | 492 | 194 | 13.0 |1000| 184 | 816 |3.22
25 82 77| gt 809 | 100 | 273 | 482 | 122 | 22 [1000] 373 | 627 |269
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=18. &t U T2 HH 2o d€ 75
st Ly 3 2 d= -
SPNIE " A
ACH UCH
A 1,232 16.9 83.1 100.0
g =P} 571 212 78.8 100.0
o At 661 13.2 86.8 100.0
sa3 =St 703 11.5 88.5 100.0
nSstn 529 24.0 76.0 100.0
SEA 230 222 77.8 100.0
x| MEALE 340 12.4 87.6 100.0
S 359 17.8 82.2 100.0
A 303 16.8 83.2 100.0
S— YED 7 1,068 16.8 83.2 100.0
7| Et 164 17.7 82.3 100.0
crest 7py | HHER 7HE 23 8.7 91.3 100.0
o= H|CHR S} 7 1,209 17.0 83.0 100.0
=5t 334 19.8 80.2 100.0
st gH HE 493 17.2 82.8 100.0
S 405 14.1 85.9 100.0
HAEX| EAFQ} ULt 862 14.4 85.6 100.0
23 3% 77 Qict 370 227 773 100.0
XA AHoj7| T UL 423 9.0 91.0 100.0
25 3% /7 gl 809 210 79.0 100.0
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stu W 2 N g5 - B0 2
SEHA = . " . of 53] A

A 1% | A 23 | A 33| A 47 0| AF
A 1,024 | 204 | 207 | 215 | 106 | 268 100.0
A =PN; 450 238 | 227 | 211 9.1 233 100.0
Of X} 574 178 | 192 | 218 | 118 | 294 100.0
sa3 =St 622 153 | 186 | 201 | 125 | 334 100.0
nE=ssigm| 402 284 | 239 | 236 | 77 | 164 100.0
SELA 179 223 | 207 | 235 7.8 25.7 100.0
Sz x| ME A 298 215 | 201 | 215 | 107 | 262 100.0
S 295 217 | 234 | 200 | 98 | 251 100.0
A 252 163 | 183 | 218 | 135 | 302 100.0
S— YED IHY 889 207 | 206 | 213 | 105 | 270 100.0
7| Et 135 185 | 215 | 230 | 119 | 252 100.0
crest spy | CHhER 7H8 21 143 | 143 | 238 | 95 | 38.1 100.0
o= HCt23t 78| 1,003 205 | 208 | 214 | 107 | 265 100.0
SotelH 268 209 | 243 | 257 8.2 20.9 100.0
st g5 BE 408 216 | 208 | 213 | 115 | 2438 100.0
A 348 187 | 178 | 184 | 115 | 336 100.0
XA EX| EARR} ALt 738 194 | 202 | 238 | 106 | 260 100.0
23 3% 77 Qict 286 | 231 | 220 | 154 | 108 | 287 100.0
Hau &oj7|3 ACH 385 | 213 | 179 | 252 | 106 | 249 100.0
2s 88 77 Qict 639 | 199 | 224 | 192 | 106 | 279 100.0
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HE1. SAE
218 . gu | ME MY &5 - /44
g W TE HEH &5 -
O Ol AM
SEXH x5 ] S aa @ 53
258]38 ug|ag|n2| ¥ [FEH =5 uia L
R RGE I = B =
ACH ™
A 1,024 | 3.4 | 5.1 |44.2]299|17.4|100.0 85 | 442 | 473 |3.53
s At 450 | 3.3 | 3.8 |45.6(28.9|184|100.0, 7.1 456 | 473 |3.55
Of X} 574 | 35 | 6.1 [43.2(30.7(16.6(1000] 9.6 | 432 | 472 |3.51
o St 622 | 3.2 | 42 |43.2(314[18.0|100.0| 7.4 | 432 | 494 |3.57
NSsW | 402 | 37 | 65 |458(27.6|16.4|100.0| 102 | 458 | 440 |3.47
S8 179 | 6.1 | 3.4 |43.0(/30.7/16.8|100.0, 95 | 430 | 47.5 [3.49
x| o MEAE 298 | 23 |47 [389(31.2(22.8(1000, 7.0 | 389 | 540 |3.67
S5 295 | 2.7 | 6.1 |444(29.8[169(1000| 88 | 444 | 468 |3.52
R 252 |36 | 56 [51.2/27.8/11.9/1000, 9.1 | 512 | 397 |3.39
S~ Y2 7Y | 889 | 3.6 | 49 [43.5(30.117.8{1000, 85 | 435 | 479 |3.54
7|Et 135 | 22 | 5.9 |489|28.1|14.8|100.0| 81 | 489 | 43.0 (347
crz2st 7py | CHE2H 7FE | 21 | 0.0 [14.3(33.3/33.3(19.0{100.0| 143 | 333 | 524 |3.57
o HICHESE 7479] 1,003 | 3.5 | 49 |44.5/29.8|17.3{1000, 84 | 445 | 472 |3.53
Sotel# 268 | 45 | 6.3 |48.9(26.9(13.4/100.0| 10.8 | 489 | 403 |3.38
st 94X BE 408 | 34 | 49 |483(282|15.2(1000| 83 | 483 | 434 |3.47
S4AH | 348 | 26 | 43 [359(34.2(23.0(1000] 69 | 359 | 572 |3.71
XA EX| EAFQ} ULk 738 | 3.0 | 45 |45.0(283(19.2{1000| 75 | 450 | 476 |[3.56
23 38 77| gt 286 | 45 | 6.6 |423(339/12.6]1000] 112 | 423 | 465 |343
KAl xH0|7| UL 385 | 2.1 | 44 [41.3]26.0(26.2(1000, 65 | 413 | 522 |3.70
25 828 77| gt 639 | 42 | 55 |460(322/12.1]1000] 97 | 460 | 443 [342
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<
St g 2 d= -
Ehx} % " A
ACH UCH

A 1,232 319 68.1 100.0
e 571 354 64.6 100.0
661 28.9 71.1 100.0
sma 703 276 724 100.0
529 376 62.4 100.0
SEA 230 352 64.8 100.0
x| ME 340 26.2 73.8 100.0
=5 359 343 65.7 100.0
El 303 33.0 67.0 100.0
— =] 1,068 323 67.7 100.0
164 293 70.7 100.0
crost opy | CHESH 7HY 23 304 69.6 100.0
o= H|Ct23t 7 1,209 31.9 68.1 100.0
334 332 66.8 100.0
st gH 493 33.1 66.9 100.0
405 29.4 70.6 100.0
X A K| E AR} 862 26.9 73.1 100.0
B R 370 435 56.5 100.0
XA AHoj7| T 423 16.3 837 100.0
EC 809 40.0 60.0 100.0
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st 5 T2 A g5 - O 2
SEHA = - A
o 18] | 2l ot 33| ot 48] | T 7
A 839 278 | 259 | 224 | 87 | 153 100.0
At 369 295 | 252 | 238 5.7 15.7 100.0
Of X} 470 264 | 264 | 213 | 111 | 149 100.0
=St 509 23.0 | 273 | 228 | 106 | 163 100.0
nk=rlmi 330 352 | 236 | 218 | 58 | 136 100.0
SEA 149 262 | 255 | 268 | 67 | 148 100.0
ME A 251 287 | 239 | 235 | 88 | 15.1 100.0
S 236 326 | 254 | 216 | 76 | 127 100.0
A 203 222 | 291 | 187 | 113 | 187 100.0
¥ED JHY 723 290 | 263 | 217 | 82 | 148 100.0
7| Et 116 198 | 233 | 267 | 121 | 18.1 100.0
Ct=2t 7+d 16 125 | 313 | 125 | 313 | 125 100.0
HICt23t 718 | 823 281 | 258 | 226 | 83 15.3 100.0
SotelH 223 247 | 242 | 291 | 103 | 117 100.0
2E 330 321 | 267 | 206 | 73 | 133 100.0
A 286 252 | 262 | 192 | 91 203 100.0
Abo} ALt 630 268 | 235 | 246 | 8.1 17.0 100.0
T eict 209 306 | 330 | 158 | 105 | 10.0 100.0
7|7 ALH 354 294 | 189 | 25.1 9.3 17.2 100.0
T aict 485 266 | 309 | 204 | 82 13.8 100.0
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=18. st gt TIZ2 MY &5 - 44
st 8 T2 ANY &5 -
94
2EI-X|. " :l-géjxl 2] m SXIZ-I|
SEMNESA| 45 go| A |%e H =5 |75 Slma
T O™ CIEE O™ T4, 1+2H (4+55)| =
x| x| olcH cof == (1+24) (8)
orct ot Ct
HH| 839 | 3.0 | 5.1 [42.1(288/21.0[100.0/ 8.1 421 | 498 |3.60
" = 369 | 24 | 41 |453|25.2/23.0/100.0/ 6.5 453 | 482 |[3.62
= Of X} 470 | 3.4 | 6.0 |39.6(31.7(19.4(100.0| 94 396 | 51.1 |3.58
o el 509 | 24 | 3.9 |41.1/31.6[21.0/100.0| 6.3 411 | 527 |3.65
orul
- nsstn 330 | 3.9 | 7.0 |43.6/245[20.9|100.0| 109 | 436 | 455 |3.52
S84 149 | 2.0 | 4.0 |47.7126.2|20.1|100.0| 6.0 477 | 463 |[3.58
ME A 251 | 2.0 | 4.0 [36.3/32.3(25.5(100.0| 6.0 36.3 | 57.8 [3.75
HEX Y
SHEM 236 | 3.0 | 59 [42.8/26.3|22.0/100.0| 89 | 428 | 483 |3.58
SE 203 | 49 | 6.4 [443|29.6(14.8(100.0| 113 | 443 | 443 |3.43
S~ = P | 723 |32 | 53 (40.7[29.2|21.7]100.0, 84 | 407 | 509 |3.61
e 7| Et 116 | 1.7 | 43 |50.9|26.7|16.4|100.0, 6.0 509 | 43.1 [3.52
crz2st 7py | CHE2h 7H8 | 16 | 63 |125/37.5/25.0(18.8(100.0| 188 | 37.5 | 438 |3.38
o HICI23} 7}&| 823 | 2.9 | 5.0 [42.2]28.9(21.0(100.0| 7.9 422 | 499 [3.60
Sot¢ A 223 | 40 | 6.3 |47.1(24.7|17.9(100.0| 103 | 471 | 42.6 |3.46
[ amesps! HE 330 | 3.0 | 5.2 [46.1|27.3|18.5[100.0| 82 | 461 | 458 |3.53
oA 286 | 2.1 | 4.2 [33.6/33.9(26.2/100.0| 6.3 336 | 60.1 |3.78
XA K| S AFQ} ALt 630 | 3.0 | 3.8 [41.6/28.1(235(1000| 6.8 | 416 | 51.6 |3.65
235 38 /% oict 209 | 29 | 91 |435(31.1/134(1000] 120 | 435 | 445 [343
HMad moy|p| KRG 354 | 17 | 40 [41.0]24.0(29.4|1000| 56 | 410 | 534 |3.75
235 38 7% gict 485 | 39 | 6.0 [42.9/324(148(1000] 99 | 429 | 472 |3.48
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=19. 28 XAt 25 4" /F

oex - Had XzAet 25 48 /% .
ULE eAct

A 1,232 70.0 300 100.0
g At 571 71.1 28.9 100.0
O At 661 69.0 31.0 100.0
saa =St 703 73.4 26.6 100.0
nsstu 529 65.4 34.6 100.0
SR 230 73.9 26.1 100.0
x| ML 340 74.7 25.3 100.0
S 359 63.8 36.2 100.0
SEA 303 69.0 31.0 100.0
e LdER JHY 1,068 69.7 303 100.0
7| Et 164 72.0 28.0 100.0
cr2st 74y | CHER 7HS 23 783 21.7 100.0
o= HICH22 7HE 1,209 69.8 30.2 100.0
Sotel# 334 71.0 29.0 100.0
st 8- HE 493 69.4 30.6 100.0
SoeE 405 69.9 30.1 100.0
X A EX| S AL} ULF 862 100.0 0.0 100.0
23 3% 77 Qict 370 0.0 100.0 100.0
Had &oj7| 3 ACH 423 84.6 154 100.0
g5 3% /7 gict 809 623 377 100.0
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£20. 1) L= 2EX| AR} £2 HAHE |XISHICE

1) Lte HAEX| AR}

2 BAE wXISHALCE
SR ~s 1= g @28
S 521 1 g qy 2 A %tfzx?) 28 | 4e57) Ji]:";
A 862 | 29 | 2.1 |434|27.6/24.0{1000| 50 | 434 | 516 |[3.68
At 406 | 3.0 | 1.5 [43.3|26.6|25.6|100.0| 44 | 433 | 522 |3.70
Of X} 456 | 2.9 | 2.6 |43.4/285|22.6|100.0 55 | 434 | 51.1 |3.65
St 516 | 1.9 | 2.5 |44.4|28.1(23.1/1000| 45 | 444 | 512 |3.68
NSEW | 346 | 43| 14 [419(269|254|1000| 58 | 419 | 523 |3.68
SEL 170 | 47 | 1.2 |49.4(22.9/21.8|100.0| 59 | 494 | 447 |[3.56
MEAE 254 | 24 | 1.6 [37.8]29.1]29.1/1000| 39 | 378 | 583 |3.81
S5 229 | 22 | 26 |47.6|275[20.1|100.0| 48 | 476 | 476 |3.61
S 209 | 29 | 29 [40.7|29.7|23.9/1000, 57 | 407 | 536 |3.69
YED 7Y | 744 | 30 | 2.2 [43.1]28.0(23.8(1000, 51 | 431 | 517 |3.67

7| Et 118 | 25 | 1.7 449|254 125.4|100.0] 4.2 449 | 50.8 |3.69

& |H==t 7P| 18 |11.1) 00 [389|16.7|33.3/100.0| 11.1 389 | 50.0 |3.61

HICF23) 7t| 844 | 2.7 | 2.1 |43.5/27.8|23.8/100.0| 49 435 | 51.7 [3.68

Sot¢ A 237 | 42 | 42 |515|224(17.7(100.0, 84 515 | 40.1 [3.45

2S 342 | 26 | 1.8 |456|27.8|22.2|1000| 44 45.6 50.0 |3.65

So9A 283 | 21|07 |339|31.8|31.4|100.0| 2.8 339 63.3 [3.90

xhof 7| 3 ULt 358 | 28 | 0.8 |40.2|23.5|32.7|100.0| 3.6 40.2 56.1 |3.82
EL ) -

ACH 504 | 3.0 | 3.0 |456(30.6|17.9(100.0] 6.0 456 | 484 |357
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By 862 | 3.0 | 5.3 |449(245|22.3|100.0| 84 | 449 | 468 |3.58
Ao At 406 | 2.7 | 42 |475|20.9|24.6(1000| 69 | 475 | 456 |[3.61
= Of Rt 456 | 33 | 64 |425|27.6/20.2|1000| 9.6 | 425 | 478 |3.55
saa et 516 | 29 | 5.2 |44.8|26.6(20.5(100.0| 8.1 448 | 47.1 |3.57
kil 346 | 3.2 | 55 |45.1]21.4|24.9/1000| 87 | 451 | 462 |3.59
S 170 | 4.1 | 3.5 |46.5/22.4|235(1000| 76 | 465 | 459 [3.58
x| o MELE 254 | 24 | 47 |38.6(27.2|27.2|100.0| 7.1 386 | 543 |3.72
S 229 | 35| 6.1 |459(253(19.2(100.0] 9.6 | 459 | 445 |3.51
SR 209 | 24 | 6.7 |50.2|22.0/18.7|{1000| 9.1 | 502 | 40.7 |3.48
=y YED 74 | 744 | 3.0 | 54 |44.9|245|22.3|1000| 83 | 449 | 468 |3.58
7|Et 118 | 3.4 | 5.1 |449|246|22.0(1000| 85 | 449 | 466 |3.57
ct2st spd | ChESt 2P8 | 18 [11.1] 0.0 |55.6| 0.0 [33.3]100.0| 11.1 | 556 | 333 |3.44
o= HICHHES) 71| 844 | 2.8 | 5.5 |447(25.0(22.0(1000| 83 | 447 | 47.0 |358
St # 237 [ 3.0 | 63 |50.2{24.1{16.5(100.0, 93 | 502 | 405 |3.45
st gH HE 342 | 41| 56 |459(240(20.5|100.0] 96 | 459 | 444 |[351
S4H | 283 [ 18|42 [39.2(254(29.3(1000, 6.0 | 392 | 548 |3.76
Ml &oj7|7 ALt 358 | 2.0 | 20 [41.1]22.9(32.1{1000, 39 | 411 | 550 |3.81
23 3% 77 AL 504 | 3.8 | 7.7 |47.6/256(153(1000| 115 | 476 | 409 |3.41
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=F XL 406 | 3.0 | 2.2 |429/234(286(100.0| 52 | 429 | 520 |3.72
Of Xt 456 | 2.0 | 39 |36.2|31.4|26.5/1000| 59 | 362 | 579 |3.77
=5t 516 | 1.9 | 3.9 |40.5(28.7|25.0[100.0/ 58 | 40.5 | 53.7 |3.71
Insstn 346 | 3.2 | 20 |376(26.0/31.2/1000| 52 | 37.6 | 57.2 |3.80
S84 170 | 41 | 1.8 |459|229|253/100.0/ 5.9 459 | 482 |3.64
ME At 254 | 1.6 | 3.1 [39.8(244/31.1]100.0| 4.7 39.8 | 55.5 [3.80
S5 229 | 26 | 2.2 |36.7]345|24.0/100.0, 438 36.7 | 585 [3.75
SE 209 | 19| 5.3 |36.4(27.8/28.7/1000| 7.2 | 364 | 565 |3.76
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118 | 1.7 | 25 |42.4|28.0(25.4(100.0] 4.2 424 | 534 |3.73

& |ChE2h 7P | 18 |11.1| 56 [444|11.1/27.8|1000| 167 | 444 | 389 |339

HICFHESH 7F8| 844 | 2.3 | 3.1 [39.2|28.0/27.5/100.0| 53 | 39.2 | 555 |3.75

Sot¢ A 237 | 3.0 | 3.8 (149.4|249/19.0/100.0/, 6.8 | 494 | 439 [353
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=3 342 | 2.6 | 3.2 |38.3]29.2|26.6(100.0, 5.8 383 | 558 |3.74

>

S 283 | 1.8 | 25 |322|279|35.7]100.0| 4.2 322 | 63.6 |3.93

o
xho] 7|7 QUEt 358 | 1.7 | 1.1 |36.3/23.7|37.2|100.0| 2.8 | 363 | 609 |3.94
" elCt 504 | 3.0 | 46 |41.5/304/20.6|100.0| 75 | 415 | 51.0 |3.61
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K| 1232 657 343 100.0
571 62.9 37.1 100.0
a4
661 68.1 319 100.0
703 656 344 100.0
sna
529 65.8 342 100.0
22 A 230 639 36.1 100.0
x| ME 340 57.4 426 100.0
R Y 359 66.9 331 100.0
=5 303 749 25.1 100.0
i =l 1,068 6523 347 100.0
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164 6823 317 100.0
Cheet spy | CHES 7K 23 60.9 39.1 100.0
o & H|CHR S 7 1,209 65.8 34.2 100.0
334 66.2 338 100.0
st M 493 66.1 339 100.0
405 647 353 100.0
HAUX S A} 862 585 415 100.0
g5 89 77 370 824 17.6 100.0
A K0j7| 423 0.0 100.0 100.0
23 838 77 809 100.0 0.0 100.0
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saa et 242 | 1.7 | 41 | 512 227|202 |100.0 | 58 [51.2|43.0| 3.56
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SEA 83 | 48 | 36 | 494 133|289 1000 | 84 |49.4[422| 358
x| o ME L 145 | 21 | 34 | 476|186 | 283 | 100.0 | 5.5 |47.6|469| 3.68
S 119 | 0.8 | 2.5 | 513 (286 | 16.8 | 1000 | 3.4 | 513|454 | 358
S 76 | 0.0 | 26 | 487 | 224|263 |100.0 | 2.6 [48.7|487 372
SI= ey YED I | 371 | 22 | 32 | 480|218 | 248 | 100.0 | 54 |48.0|466 | 3.64
7|EL 52 | 0.0 | 1.9 | 57.7 | 154 | 25.0 | 100.0 | 1.9 |57.7 |40.4| 3.63
Clos I ofs CHEst 7 | 9 | 0.0 | 0.0 | 444 | 444 | 11.1100.0 | 0.0 [44.4|556|3.67
|ICHEsH 7| 414 | 1.9 | 3.1 | 493|205 | 25.1|100.0 | 5.1 |49.3|457 | 3.64
SOl 113 | 09 | 3.5 | 56.6 212 |17.7 [ 100.0 | 44 |56.6|389| 3.51
st gH HE 167 | 30 | 24 |533|19.2|222|100.0| 54 |53.3|413]3.55
SAMQE | 143 | 14 | 35 | 3852313361000 | 49 |385|56.6 | 3.84
XA EX| EALR} ALt 358 | 1.7 | 34 | 475|204 |27.1]100.0 | 5.0 [47.5|475| 3.68
23 3¥ 77 Qict 65 | 31 | 15 | 585|246 | 12.3 | 1000 | 46 | 585369 3.42
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M| 1,232 723 27.7 100.0
=F Xt 571 69.4 30.6 100.0
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Of Xt 661 74.9 25.1 100.0
st 703 70.7 29.3 100.0
stug
InE=X-ijm 529 74.5 25.5 100.0
S5 M 230 67.8 322 100.0
SR 340 63.8 36.2 100.0
HFEX S
SHEM 359 76.9 23.1 100.0
SEA 303 79.9 20.1 100.0
— ot JHA 1,068 722 27.8 100.0
e 7| €t 164 732 26.8 100.0
cr2st 74y | CHERE 7HS 23 56.5 435 100.0
of 5 HICHR 3} 7hY 1209 72.6 274 100.0
Sote# 334 70.1 29.9 100.0
stn MA HE 493 72.8 27.2 100.0
S 405 73.6 26.4 100.0
X A EX| S AL} ALt 862 66.0 34.0 100.0
235 38 7% eict 370 87.0 13.0 100.0
Had &oj7| 3 ACH 423 288 712 100.0
25 88 7T eict 809 95.1 49 100.0
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Iy 341 | 29 | 3.8 | 53.1| 158|243 |100.0| 6.7 |53.1|40.2 | 3.55
A At 175 | 40 | 46 | 49.7 | 126 |29.1 [ 100.0 | 8.6 |49.7|41.7| 3.58
Of K} 166 | 1.8 | 3.0 | 56.6 | 19.3 | 19.3 | 100.0 | 4.8 |56.6 |38.6 | 3.51
saa et 206 | 24 | 44 | 573|175 |184 |100.0 | 6.8 |57.3|35.9| 3.45
k=il 135 | 3.7 | 3.0 | 46.7| 133|333 |100.0 | 6.7 |46.7|46.7 | 3.70
SELA 74 | 54 | 54 | 541{122|23.0(100.0|10.8|54.1|35.1]|3.42
x| o ME L 123 | 24 | 57 | 504 | 146 | 26.8 | 100.0 | 8.1 | 50.4 | 41.5| 3.58
S 83 |36 | 12 | 530217205 |100.0 | 48 [53.0|422 | 3.54
A 61 | 00 | 1.6 | 574 | 148|262 | 1000 | 1.6 |57.4|41.0| 3.66
SI= ey YED Jp | 297 | 30 | 44 | 508 | 17.2 | 246 | 100.0 | 7.4 |50.8|41.8 | 3.56
7| Et 44 | 23 | 00 | 682| 68 |227|100.0 | 23 |68.2|29.5| 3.48
Clos I ofs CH23t b8 | 10 | 0.0 | 0.0 | 60.0 | 30.0 | 10.0 | 100.0 | 0.0 | 60.0 [40.0 | 3.50
|ICHEst 71| 331 | 3.0 | 3.9 | 529|154 | 248 | 100.0 | 6.9 |52.9|40.2 | 3.55
Zst# | 100 | 30 | 20 | 650|150 | 150 | 100.0 | 5.0 [65.0|30.0 | 3.37
st gH BE 134 | 37 | 6.0 | 537|127 |239|1000| 9.7 |53.7|36.6 | 3.47
SAQE | 107 | 19 | 28 | 41.1| 206 | 33.6 | 100.0 | 47 [41.1|54.2 | 3.81
XA EX| EALR} ALt 293 | 24 | 38 | 526 | 147 | 26,6 | 100.0 | 6.1 |52.6|41.3| 3.59
23 3¥ 77 eict 48 | 63 | 42 | 563|229 | 104 | 100.0 | 10.4|56.3|33.3 | 3.27
KA &oj7|7 ALt 301 | 27 | 40 | 56.1|13.0|243|100.0 | 6.6 |56.1|37.2|3.52
25 3% 77 ofct 40 | 50 | 25 [ 3003752501000/ 7.5 |300|625 | 3.75
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Hx | 5 HoH g {132 N
orct Lt At ) =)
[
HH| 1232 | 54 | 91 | 448|246 | 16.1 | 100.0 | 14.5|44.8 | 40.7 | 3.37
e =Xt 571 | 72 | 98 | 447|219 | 16,5 | 100.0 | 17.0 | 44.7 | 38.4 | 3.31
= of X} 661 | 39 | 85 | 449|269 1571000 |124|449]427] 342
ot i 703 | 57 | 9.0 | 475|238 | 14.1|100.0 | 147 |47.5|37.8| 3.32
LT
= nsstu 529 | 51 | 93 | 412|257 | 187 | 100.0 | 144|412 444 | 3.44
S84 230 | 6.1 | 6.1 | 526|196 | 157 | 100.0 | 12.2|52.6 [35.2 | 3.33
ME AL 340 | 3.5 | 91 [ 441|253 |17.9 [100.0 | 12.6 | 44.1|43.2| 3.45
HEX Y
SEA 359 | 6.4 [12.3]382(281|150|100.0|18.7|38.2|43.2| 3.33
SEA 303 | 59 | 7.6 | 475|234 | 155|100.0 | 13.5[47.5(389 3.35
— =D I (1,068| 5.4 | 87 | 441|257 | 16.1 | 100.0 | 14.1 441|418 3.38
e 7| 164 | 55 | 116 | 494 | 17.7 | 159 | 1000 [ 17.1|49.4|335| 327
Ct2st 714 | 23 | 43 | 43 | 435|26.1|21.7 1000 | 8.7 | 435|478 | 3.57
Ct22t 7d o §
|CH23} 7F™| 1,209 | 55 | 9.2 | 448 | 246 | 16.0 | 100.0 | 14.6 | 44.8 | 40.5| 3.36
Sot A 334 | 72 | 96 | 539|186 |10.8 |100.0 |16.8|53.9|29.3| 3.16
st MA HE 493 | 63 | 9.5 | 46.0 | 245 |13.6 | 100.0 | 15.8|46.0|38.13.30
oA 405 | 3.0 | 81 | 358|296 | 2335|1000 |11.1[358/(53.1]|3.62
HAEX| S AFQ} ULk 862 | 5.0 | 7.2 | 456 | 235|187 |100.0 [12.2|456|42.2 | 3.44
25 8 77 oiCt 370 | 65 | 135 | 43.0 | 27.0 | 10.0 | 100.0 | 20.0 | 43.0|37.0 | 3.21
HA &0]7|7 ULt 423 | 28 | 43 | 416 |251| 2622|1000 | 7.1 |416|51.3|3.68
EE oiCt 809 | 6.8 | 11.6| 465|244 |10.8 | 100.0 | 18.4|46.5|35.1| 3.21
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